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HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche français ou étrangers, des laboratoires
publics ou privés.
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������ �� ��
% 
��������� η ∈ R �� �(x) ∈]0,+∞[�

qEα↑ (Y |X = x) = qα,η,�(x) (Y ) .
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'� ��
��	
��� ���� �e(x) ��
 �������� �
 ��� ����

	
� 	����
�
����� ���
 ������� ��
�� �����
 �� ��
��	
��� �� eEα↑ 	����
�
�������
 ����	
 ���� ���
	���� �����
����� ��
��
 �(	
����
 �� �)������ 
� 
��� ��34 �
	�
� ��
�� 
�� ��	�
�
�� �
 �����
�
�� ��
�2����
��� ���� �����
 �� ��5��� ��	�
��� ��
��	
���� ���� ��� �����
�
�� �����
�����
�� -�
(���� �� �������
�)�� ���� /	��

�� �� ������� �� ������ ���
 ������� �� �����
�� �
 ���
��
��	
���� �����
�����
� ���
 ��
�����
� ���� ��� �������� �� �� �	�	�
 ��� 
��� �������

����	
�
� 	����
�
���� 	)�� 
�� ��	�
�
��� ����� �������
�� 	����
�
����� ���
 �(	
����

�����
���� -�5�� ��� �
��� ��������� �����
 ���

��
��� 
��� ��� ��
��	
����� '�� �	�
��
�� �� ��	��
�� �� 
���)� �	�� � 	����!����	��� �
 	
�� "#$6& �
 �'���(
����	�
�)�� "#$%&�
�� ��	��
�� + ����
������ 	� �	� �1 
	 
	�

� �� 
	 ��)	��	�
� ��
 (�	���� �� ���
�� �	��
�� ������� 
���� ��� �	�� �� 
�
 �	� �� 5(���� 
	 
�� �����
�����

� ���)��(� )��� ���

�� 
���
� 	���7 ����
�� ��� �������
� ���������
 
���
��	
��� ��� �	�	��
��� �� �������
�
 �� ��)	��	���� -� �	�
���
���� �
 /	�
 ��
���� 
	 �	
���� �� ��)	��	��� ��)����� 	���
��
�(	
����
 �	
���� �� ���������� �� (�	��� ���������� �� ��3�
 �
	�
 ��
�2�����
 ��)��

�	�� 
	 
�

��	
���� ���� ��������� ��� ��)�� ��� ��
����� ����
��	
��� ��� �	
����� ��
��)	��	��� �
 ���������� 
�

�� ��� 
�� 	�������� ��	��� �� �� �����8	(�� ���� 	��
������
��� ��
����� �	�� ��
�� ����
��	
����� '� �����
� ��������� ��
 ��	�

���� �������
���� ����
����



������ ���	
��������

�� ������� ��	��
�� ������� 
� 	����
 ��� �

��� �	
���	
��
�� �
� ��
� 	�����


������ 
�

 	
 ���� �� �	 
����� �� ��
 ������ �� 
���� ���
���� ��� �������� ��
	���� �	
��
��� �� ���
�� �� ����
� ��
�� �	��	��� 	��	
����� 	���� �
� ��� �������	��� �������
��
	��������� �	 ������� 
�	�
� ��� �	��	
���� ���
������� �
 ��
� ���	 �	�
��
��������
 

���
�����
��� �	����	 �� ���
�� �� ����
� ��
�����  �!�� �	 �������� ���
��� ���	 ����	����
	
� ���
���

���� �����
��
���

����� ������� 	� �
����

�	 ��
��� �� ���
�� �� ����
� ��
 	���" ������ # 	�����������  � �$�
� �� �� ���������
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� �������� �� �	��	���� 	��	
����� �������� �	 ��!��
��� ��
 ������	
��

��������� � %&��
�� �� ����
�'	 ��� ������ �� �	�
�� ρ ��� ��� �
���	
� �� X ���� R�

��� �	� �� �������	��� �
 �� �	 �	��	��� ���
 ��
� �������� ���� ����
� �� ���
���
�� ����
�� (� ��

 ��	�����
 ���������� ��� �
	�
���� �� ����	
 α ∈]0, 1[�
��������� 
 %)
	�
����'	 �
	� Y ∈ X � �� 
����	�� �� �	���� α ∈]0, 1[ �� Y ��� ����	

�
��� �

qα(Y ) = inf{y : P (Y ≤ y) ≥ α}.
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��� �� ����
�'	 ��� ������ �� �	�
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�	�� �

� �
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���� �	 ρ (λY ) = λρ (Y ) , ∀λ ≥ 0, Y ∈ X �

� �
������	�	�� �	 ρ (Y1 + Y2) ≤ ρ(Y1) + ρ(Y2), ∀Y1, Y2 ∈ X �

� 	����	���� ��� ��������	
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��	���� ������������

�	 �������
� �� ��������� ��
 ���	
������
 	�������� ��
� ����
 �� �
� ��	
��
��  �
�$�
� �	 ��
�0	���
���
� ��
 �	� ������� �� �������� �� ��������� �� �������!�	
��� ���
����
��� �� �	�	1
 �	� ������� �����
� �
� �� ����
� ��
� ���
�2�
���� ��	�
�2� !�	������ ���

����� ����� �
� �	 ����� ��� ����
�� �������
��� ��� 	�
�2�� ������	�
� ���� �
� ����!	�


3



� �������� ��	 
����
 ������������


��� ������	
	� ��
����	�	�
	� ���������� ��� 
������
��� �
 ����
����� ��� ����
���� ��
���
 ��� ��� ������� �� ������ ��
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 ���� ����� ��
 ����� ������	 ��� ������� ��
����
���� ��
	���
��� �����
����
�� ����� 	
��
 ��  ��� !���� �
 "��#�

��������� � $ ��� !���� �
 "��#%	 ���� Y ∈ X � �� ���	 
�	�� �� 
��� �� ������ α ∈]0, 1[
�� Y ��� ������ ����� �

�
�
α(Y ) =
1

1− α

1∫
α

qu(Y )du.

&�  !�"α ��
 ���� �� ��'���� ��� ����
���� �� ���( �� α� )� ��

� �����*�� ��

+��� ��
	���
�� ���� �� �	��,� �� ������
� ��� �� ������	
	 ��	����
�+���
	� -�

� ��
����
��
�����
� ���� �.������ /0���� �� �	,��
 �� �� ����*�� ������
��

��������� 
 $1����
�+���
	%	 ��� ������ �� ������ ρ : X → R ��� ���� �	������	� �� �	

������ ��� �������� �� ���� s : R× R → R+ ��		� ���

E [s (ρ(X), X)] ≤ E [s (x,X)] ,

���� ���� X ∈ X �� x ∈ R�

2� �	����� �� �� �	,��
��� 3 ������ ������ �� ������ X 	����
�+�� ����
������
 ( ���
4���
��� s ���
 5
�� �6����	� ���������
 ����� ��� ����
��� �� ���+�*��

ρ(X) ∈ argmin
x∈R

E [s (x,X)] .
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 �� �8���
���� /0��� ��� �	����� �� ���6 ��
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 �)������� /000�� �
 ��� ���
�� ��� ��� ����
���� �� ������ α ∈]0, 1[
���
 	����
�+���� ���� ��� 4���
��� �� ������� �� �� 4����

s(x, y) =
(
1{x≥y} − α

)
(g(x)− g(y)) ,
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 ��� 4���
��� ��������
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� �����	���$	 ���� Y ��� �	
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	���
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���� �� �������� ��

��
��� F Y (t) = P(Y > t)� Y ��� ���� � �	
�	���� 

�����
� �������� γ > 0� �� �� ����
	

Y ∈ RV(γ)� ��

lim
t→+∞

F Y (tω)

F Y (t)
= ω− 1

γ , ∀ω > 0. �''� $

(� ��� �	�	�� γ → 0+ ��������� 
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0� ���� ��������� �����	�� �� ��%�	�	
� / � �-�	
� 
� �� 
���	�� 
� Y � .� �1��� Y ��� �
���	��	
� �����	��� 
-	�
	�� γ > 0 �	

lim
t→+∞

fY (tω)

fY (t)
= ω− 1

γ
−1, ∀ω > 0.
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� )����	��

� Y 
� �� ���	��� ��	����� 2

lim
t→+∞

F−1
Y

(
1− 1

tω

)
F−1
Y

(
1− 1

t

) = ωγ, ∀ω > 0.

(� ���
���� 
� �����������	
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� �������� ��
	� ��	����� �� ����  !"!#$ ����	�� )�-���
���	���� �����
	�� Y ���	���	���� �/$ ���	%� F Y (t) = t−1/γL(t)� 
3 L : R → R+ ��� ���
�
���	
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��������� γ > 0 �� ρ ≤ 0� �� �� ����
	 Y ∈ 2RV(γ, ρ)� �� �� ������ ��� �������� A �� �����

�����	�� ����� ��� A(t) → 0 ��	�� t → +∞� ��

lim
t→+∞

FY (tω)

FY (t)
− ω−1/γ

A
(

1
FY (t)

) = ω−1/γω
ρ/γ − 1

γρ
, ∀ ω > 0. �''�8$



� �������� ��	 
����
 ������������


������ ��	 
��� �	 
�� ρ = 0� �	 �	��	 (ωρ/γ − 1)/(γρ) 	�� �	����
� ��� ln(ω)/γ2�
�	��	 ������ �	�� ������	� �����
�����	�	�� �����	�����	� ������	�� 
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�� ρ < 0� ��
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 �	��	���� �  !"� �� Y ∈ 2RV(γ, ρ) ��	
 ρ < 0�
�� #��
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	 �����	 �	�� �������	��	 $ �� ���%�	 �� �������&	 
	 +∞� �� 
�����	�
�	��	�� F Y (t) ∼ c1t

−1/γ, c1 ∈ R ����
 t → +∞ �� 
	 ������	 �������	��	 F−1
Y

(
1− 1

t

) ∼
c2t

γ, c2 ∈ R� �� �� ���
��� �� 
��
����� '() ��	
 �� #��
���� �������	 
	 �� ������	 �������	 *

lim
t→+∞

F−1
Y (1− 1

tω )
F−1
Y (1− 1

t )
− ωγ

A (t)
= ωγω

ρ − 1

ρ
, ∀ ω > 0.
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�� ρ = 0� 	� �	����-��� (ωρ − 1)/ρ ���
ln(ω)�
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	 0��	�� 	� 	�� �� ��	��	 '���� 1�,�	 22�3)�
/� 1�,�	 22�3 
���	 ��	���	� 	�	���	� ,�	� 
����� 
	 
�����,������ $ ��	�	 ����
	� ��	

�	�� ��
�
	 
	 ��	��	� ��
�	 γ� ����� ��	 
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���� 22�6�� 7���� ���

�����,������ 0��	��� 8��� 	� ���5	�� 	��	� ���� #�����	� 
��� ��9��	�	 9�

/�� γ ρ

4��
	��� ν > 0 1
ν

− 2
ν

0��	��� a > 0 1
a

×
8���� a > 0, b > 0 1

ab
−1

b

���5	�� ν1, ν2 > 0 2
ν2

− 2
ν2

4���5� a > 0 1
a

×
4���5 &���������	� a > 0,m ∈ N

∗ 1
a

− 1
a
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�	 k > 0 
	 Y 	����	 �� 	� �	��	�	�� �� γ < 1

k
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�� ���� ���� �������� �� !"� ���
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� �
� �� #���������� �� �������
���� #�
�������� ���� �� ������
��� ��� �������
�����
�$������
�� �
% ���������� ��&�������� ����� ��� �%����� ��� �������
����� ���������

�� �
�
� �� �������
���� ��
���� ��� �������
����� ���� ��� �����
�� ����
������ 
��'
������ �� ������� �� ��������� �� �	����� �� �������
���� ( ��
� ��
)��� ����� �����
�%������ �*+�� ��� ,�����)���	� ��-." �
 �/��� ��� 0����1� 2!�3"�
4���� ���� ������
��
������ �������������� ��� ����
���� ��� ���������� ������
����� �
�
��
� ������������ �� ���# �� �	������� �� �����
�� �5����� ���� ��� 
�� �������� ����������'
���
� ����1 ������� 4� �&��� �� ��������� �
�)����� �
� �5�� ��
� ���
)�� ���� ��������� �� ���� ��-�"�
������
�� �� ������ �� �������
���� ��������
� )�� �� �������� �������������
��

��������� � 6�������
���� ��������
�7	 �� ������� X 	� 	
����

� d ∈ N
∗ ��� 	
� ���

�
��
��� �
 �� ��������� �
 
� ��
��� �� ��
��� ������� μ ∈ R
d� ��� ����
�� ���
�	���
�

�
�
�
�� Σ ∈ R
d×d� �� ��� �
���

� φ : R+ → R ����� ��� �� �
���

� ��������
��
��� 	�

X − μ ���

E
[
exp{it�(X − μ)}] = φ

(
t�Σt

)
, t ∈ R

d.

8� ��� )����
� ��������
� ���� ���� ���� 
� ������� ����� X ∼ Ed (μ,Σ, φ)� 9� ���)����
�� �������� �
� Σ �5��� ��� �������������� �� ������� �� ��)������� �� X� 4� �&��� ��
������� �� ��)������� ��
� �5����� �� ��� �%����� 6����� ��
� �� �������
���� �� ��
�	$
��� �%�����7� �� �����
5���� �%����� ��� ��
% �������� ���� ����� ���������������� 6)���
4�
����� 699�.���7 ��
� ����7� :�
� �� �
���� ��
� ��
� ������������� ; ��� �������
�����
����� ��� ��#�������� �5��� ; ���� �
� ��
� �
��������� �
� �� ������� Σ ��� ��)��������
�� �	���
�� �
�)��� ��� ����������� �� �	����� ��� �������
����� ��������
��� :������
���� ��������� �� ���� ��-�"� �� ������ ��� �������
����� ��������
�� ��� 
�� ��������������
����	�����
� ��
� �������


����
�� � 6,������������� ����	�����
�7	 �� ������� X ��� ���
��
���� X ∼ Ed (μ,Σ, φ)�
�
 �� ��������� �


X
L
= μ+RΛU (d) 699�.7


� ΛΛ� = Σ� U (d) ��� �� ������� ��
�
������� 	
���
��� ��� Sd−1 �� ������ ��
�� 	�

	
����

� d� �� R ��� ��� ���
���� �����

�� �
�
�
�� 
�	����	���� 	� U (d)�
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 ������������


���� �����	� 
���� 	�
��� �� �
	���� �����
��	
�� X ∼ Ed (μ,Σ, φ) ��X ∼ Ed (μ,Σ, R)
����	 �� �	 ���	�
 �������
���� �
� �
 ��	�
��	 �
�
�
����
���� �� �
� �
 �
��
��� 
��

����
R� ��� 	��� 
��������	� �
��	� �� ��
 �����	
 ��� �
 �������	


��	 � 	���
 �
� �	�����
�	 ���
� ���� 
��
� �

���� ������
��		����  Σ� �
� �	� !���
!�
�� �� R� �	 ��
��	

�
 �"�� ���
����
��	� #$��
�	� ��
������� ��� �
 �

���� �� ���
��
	�� �� X� ��	
��		��
����������	
� ���
 "
�� �%������ �	 ��	�
��	 �� R �
 Σ �� �
 �
	���� ����
	
� &

V [X] =
E [R2]

d
Σ. '���()

��
�	� �*
����	
 ��� Sd−1 ����	� ���	� 	����� +��	 ��� ,-��

 
	� .�	*� �//01 
�

��	������ ���	������ ��� 	����� Lp� �
 *�
	�� �
$���
� ��� 
�
���� ���	
������ ���	���
��2
��	
 
� �
� p = 2� 3��� �
 ���
�� 	��� �!������	� 
���� �
 	���� ��������		��
4� 
!������ ����
	
� ��� ���	 ���
 
������ �
	� ,5�
!�� 6��(1� ����	�
 �
 ��	��
� ���	
���
��� �����
�����

�������� 	 '7�	��
� �����
����)
 ���� X ∼ Ed (μ,Σ, R) �� ��	���
 �������
�� �� ������

���� d ∈ N� �� ������� ��� ������ ��


fX(x) = |Σ|− 1
2 cdgd

(
(x− μ)�Σ−1(x− μ)

)
,x ∈ R

d, '���8)

�� cdgd(t) =
(
2πd/2

)−1
Γ (d/2) t−(d−1)/2fR

(√
t
)
� �� fR(t) ��� �� ������� �� R�

9	 ���
 ��� �
 ��	��
� �� X ��
 �����
���	
 ����  �
 ��	��
� �� ��	 �
��	 R� 4� ����2
����	
 cd ��
 
���� 
����� ���:���	
 �� 	���
���

��	� 

	��� ��� gd ���	� *�	��
����	

�� 	�� �� *�	��

���� �	�	� �� 
��
�
�
 ��� �
 ��	��
� ����	� ���
���	
 �� �
 ��
	
�
�
(x− μ)�Σ−1(x− μ)� ��� 	��� 
��������	� ���

	�� �� ;
!
�
	���� �� x�
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�������� 
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)
 ���� (Xd)d∈N∗ ��� ������� �� ����

�������
��� �� ��������� d ∈ N
∗ �� �� ���	���� 	�
�	��
����
�� (φd)d∈N∗� �� ��� 
��

(Xd)d∈N∗ ��� �� ���� �� �� ���	���� φd �� ������ ��� �� d�
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�
�
	 ��� �����
 ���� (Xd)d∈N ��� �	
���� �� ���
 ����������


�� ��
��
��� d ∈ N
∗ �� �� �	��� Rd� (Xd)d∈N �
� 	���
 �� ���� 
� �� 
����
��� 
� Rd

	�
�� �	 �����
���	���� 
����	
����� 
���	��� �

Rd
L
= χdξ, ������

�� χd �
� �	 �	���� �	���� ����� ��� �� χ2 � d �����
 �� �� ����! ξ �
� ��� �	��	 �� 	��	�����

��� �� ������ �	
 �� d! �� χd! ξ �� U (d) �� ��� 
��� 
�������
��� ��������	���
�

��� ���
����
�
	� �����
�	�	
 � ��

� ������� �
	
 ��
�� ��
����	��� ��� μ ∈ R
d� ��

��
���� Σ ∈ R
d×d� ��	��  �!�	� "������� ����

��� ξ ∈ R �	����	��	
� �� �� ����	��
	 d�

 �� �!
	 	
����� "������� �!��#����� $	 	

��� X ∼ ECd (μ,Σ, ξ)� %
�� �������� �	 
��

"��
��� ����
 �� �������	
�
�
	 X
L
= μ+χdξΛU (d) L

= μ+ ξN (0,Σ)� �� �!�&�
 '	�����	

�!�	� �
� 	
����� � "����	�� ����

��� ξ2Σ� 
( ξ ��
 �	����	��	
 �� �� ����	��
	 d�
)� ��
�
��
�
	 ���"�	
� �
		� �	� ��
����
� ���
�
�	
� ��� ����� � ��"
�� �� �
�����
�
��� �
��*"��
����� ��	��  �� �� �
�����
� ��� �� �
���� +	� ����"� ���
 ,
�� 
�
�"�� ��	�
-.��
 �	� )�	��/
&� 01102�

����������� � �)
� �� �� �
����
 ���� Z ∼ ECd (μ,Σ, ξ)� "���
 ���� ���� c ∈ R
d! ��

	 c�Z ∼ EC1

(
c�μ, c�Σc, ξ

)
� �� ����� �	 Z = (X,Y ) 
��� X ∈ R

d1� Y ∈ R
d2 
��� ���

d1 + d2 = d� �� ���	


Σ =

(
ΣX ΣXY

ΣY X ΣY

)
,μ =

(
μX

μY

)
.

����� X ∼ ECd1 (μX ,ΣX , ξ) �
 Y ∼ ECd2 (μY ,ΣY , ξ)�

������ ���� ����	
�����
 ���� 
�����
 ���� ��� ����� ��
 �� ���� 
�
����� ���������
ξ� ������ ��� ��  ��� ��� ξ ���� ����������� �� �� ��������� ��� �� ��� �� ����� �
�����	
����� !��� �� ���
� �������� ����� �
��
���� ��� ������������� ���
 ���
��
 �����
��
� ���
������ �������
�� ������������ ��� ���� ���� �
��
�
 ���� "#���$� %&'() ��
 �*������ +�
��������� �� ������� ��
����
��� ��� ������ ������������

��������� �	 ,����� ����������-
 ��	
 (Zt)t∈T �� ��
�� 
��

�	�� 	����� ��� T ⊂ R
d�

�� �	�
 ��� (Zt)t∈T ��
 �� ��
�� ξ−���	�
	��� �	

(Zt)t∈T = μt + ξN (0, σ(., .))

�� N (0, σ(., .)) ��
 �� ��
�� �
���	�� ���
��� �
 �� ����
	�� �� ���
�	
��� σ : T×T → R�

!��� "�����	!�������� �� ���� %&'.�) �� "�����	!�������� �� ���� %&'/)� �� �� �����
0�������� ���� �� ���
� ������� ���
 �� �
�������� �� ����
�� �� 
����� ����������������
��� �� 
����� ��������� 1 �� �
���2�� �����
�
��� �� ��
�� �������������� �� ���� ���	
3���
 �� �
�������� �� �����
���
�� �4 ��� ��
�
������ ��
����� ��� �������� �� ����
��
����� ���� "�� ������ �� ���� %&'5)� ��
 �*������ ����� ����� ����0���� �� �� �
�
����
���� ������
��� �� ��
��2
� �
��������� ��* �
��
����� ��� 
�����
� ����������� ���������	
��� ��
 ��
������ �� ���
� ������������



�� �������� ��	 
����
 ������������


����������� 	 ���� ���	�
��������

 ���� Z = (X,Y ) ∼ Ed (μ,Σ, R) ���� X ∈ R
d1	

Y ∈ R
d2 ��
� �
� d1 + d2 = d� �� �����

Σ =

(
ΣX ΣXY

ΣY X ΣY

)
,μ =

(
μX

μY

)
.

�� �������
���� �����������

� �� Y |(X = x) ��� �

�����
� �� ����������

μY |x = μY +ΣY XΣ−1
X (x− μX),ΣY |X = ΣY −ΣY XΣ−1

X ΣXY �����


�� �� ����� R∗ ����� ����� �
�� �

R∗ L
= R

√
1− β|

{
R
√

βU (d1) = C−1
X (x− μX)

}
�����


�� CX ��� 
� ������ �� ���
���� �� ΣX 	 �� β ��� 
�� 
��  ��� �� ���������� d1/2 �� d2/2�

!���	 �� Z ��� 
� "!#�	 ���� �� R
L
= χdξ	 
� ������� �����������

� �� Y |(X = x) ���

������ ���

fY |X(y|x) = |ΣY |X |−1/2cY |Xgd

(
M(x) + (y − μY |x)

�Σ−1
Y |X(y − μY |x)

)
�����


�� cY |X = cd/ (cd1gd1(M(x))) �� M(x) = (x− μX)�Σ−1
X (x− μX)�

�� �������� ���
�� 	� �� �������
��� �� ���� ��� ����
���� ��
 �
 ��
� ��
 ���� �� ����

��
�� ��� 	��
�� �
���� �����
������ �� ������!�� �� "������ 	� 	����
# ���	�
�������� ��

�� �$�������� ��� ���� ��� %�&'�

����
� � ��� 	#
���� 	� �$� 
��
��� 	�� ����
���� ��
 �
 ��
 ������
 (
�� 
����#� ���)
���
������
 	��� *'�� ���� �
 ���� ����+ �
 *,��!�� �--.+� �� 	����
# ���	�
�������� ��

��
 ����
 / ���� ���#	��
�� �� �0�
� �� � fY |X(y|x) = fX,Y (x,y)/fX(x)� �� �
������
 ��
�������
��� . �
 �� �
� ���
# 	�� ����)���
����� �����

fY |X(y|x) = |Σ|−1/2cdgd
(
((x,y)− μ)�Σ−1((x,y)− μ)

)
|ΣX |−1/2cd1gd1 (M(x))

�� ���������
 ��� ((x,y)−μ)�Σ−1((x,y)−μ) = M(x)+ (y−μY |x)
�Σ−1

Y |X(y−μY |x)
�
 |Σ| = |ΣX ||ΣY |X |� �� � 
���
 �� �#���
�
� �

������� ����	
��

1��� ��

� ���
���� ���� 	������ �������� �2������ 	� %#���3�� 	$��!���� &��������
'�����
��
�� ����� 	����
#� ����� ��� ��� ����� ��� 	$#�!���� ξ ��� ��� �����
#�����
�
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��������� ��� 	�
��
�

�� ��� ��	
��� ��
 �	������
��
 �� ��� �� ���� ������ ��
�

��
 ���	 �� ��
�����
��
�� ���
� ���� �� ���� �� ��	����� ��������� ξ ���
 � �	����� ��	�
��
� ��� ��	�� �� ��
������
d ∈ N� �� �����
� ��
 ������ ��	

1

(2π)d/2
exp

(
−1

2
(x− μ)�Σ−1(x− μ)

)
, x ∈ R

d.

��������� ��� 	�
��
� ����������

�� �	�
��	� ���� ���	 �� ��	����� ��������� ξ ���		��
  
	� ��� ��� ����	�
� ��	 m �
�
��
θ1, . . . , θm� !��	 
��
 i ∈ {1, . . . ,m}� ξ �	���	��
 ���	� �� �����	 θi ���� �	�������
� pi 
��
���

∑
i pi = 1� �� 
����� ���
	���
���� ���
 �������� ��� ���� ��	
���� ���
�
������ �


������
 
	������ ���� "#�$�%� �&'()� ���	 �����
� ��
 ���	� ������ ��	

1

(2π)d/2

m∑
k=1

pkθ
−d
k exp

(
− 1

2θ2k
(x− μ)�Σ−1(x− μ)
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d+ν
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ν
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m = 2 p1 = 0.9 p2 = 0.1 θ1 = 1 θ2 = 0.2
ν = 2 λ = 2 a = 2

ECd+1 (μ,Σ, ξ) X ∈ R
d Y ∈ R

Σ =

(
ΣX ΣXY

ΣYX ΣY

)
,μ =

(
μX

μY

)
,

Y |X = x,x ∈ R
d

R γ > 0

FR∗(t) ∼
t→+∞

c (M(x))

1 + dγ
t−dFR(t).
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 �� �� ��������� ��� ������	� �	������� ���		� X �� 
������� ��
����������� F 
 	� ������	� �� ������ α ∈]0, 1[
 ���� qα(X)
 ��� ����� ����� �����

qα(X) = inf{x : F (x) ≥ α}.

���� 	� ��� �� 	� 
������� F ��� ����������� ����������
 �� ���	��� � �	����� 	� ����!
���� qα(X) = F−1(α)� �� �"������ ������
 ���� �� ������ α
 	� ������	� ��� 	� ��	���
���� 	����		� 100α% ��� ��	���� �"�� ��#����		�� X ���� ��
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������ ������� �� ���������� ���	��������
 ��������� �� ������ %���� ��� �&���	�
'(�����
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���������� 	� ����� �"�� �����
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�������������� ���� 	� ������� �� 	"�������������
 	� ������ �� ������	� ��� � �!
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 ����� ������ ���� 	"������������
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 ���� �� ������� ���	����
��� ����	�� �� 	"�� ��� �����	� �� ��	��	�� ��� ������	�� �����������	�� 6� ��������� ���
	� ����� 	� ����	� �� �� ������� ����� �������� ������#�
 ���� 	����	 ���� ��������� ��
�� ��� ��������
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8�� ���	������� ��������� ��� ���� ��������
 ���� ��������� ��� ����� ��� ��� �������
���		��� 8��  ����� ������ �� �� �#������ ��� ���	�� ���� '9����!����#���� �� �	�
 34):�,
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�� �����		� Z = (X, Y ) ∼ ECd+1 (μ,Σ, ξ) �
�� X ∈ R
d� Y ∈ R 
�	� ���

Σ =

(
ΣX ΣXY

ΣYX ΣY

)
,μ =

(
μX

μY

)
,

�
 �� ��
��� ΦY 	� ����
��� �� �����
�
��� �� 	� 	�� Y ���
��� �����
�� ���� �� (Y −μY )/
√
ΣY �

�� 	� ���� �������� ΦY |x ���� 	� ����
��� �� �����
�
��� �� 	� 	�� ��		��
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��� ������
��
��� �� �����
�����		� ���
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��� α ∈]0, 1[ ��
Y |(X = x)�

qα(Y |X = x) = μY |x +
√
ΣY |XΦ−1

Y |x(α). �'''���
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����
� "� �+�
� �!�� ����

�� 
�� �
�
��
����� 	�� ���& �������� ������
��� ���
��
 �
�� ��
���� ��� 	� ��
$��� ���
�����
� 
���� ��� ��� ,���
���
���� �� -,������� �./01 �� -23	��� �.�/1� "� ��
���$��
	� ����
�	� �����
�����	 �� ���
 �
�� ��
��� �����
����
�
4� *�
 ���� �� �$���
�� ���� ���� �� �������� ��� ��
$���� �!��
���
��� �� Φ−1

Y |x� ����
��	�� �� 
� ���� �� ������� 
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� %���������� �� ������
��� μY |x �
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qα(Y |X = x) = μY |x +
√
ΣY |XΦ−1(α)
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	��	(� ���� Z ∈ R
d �� ��	���
 ������� � ν ��

��

�� ����
�� �� ��
����
�� μ ∈ R
d �� Σ ∈ R

d×d� �������
��� Z = (X,Y )� ���	 X ∈ R
d1�

Y ∈ R
d2� �� d1 + d2 = d� ���
� �� ������� �� ��	���
 �������
� Y |(X = x) ��� ������ ��


fY |X(y|x) = Γ
(
ν+d
2

)
{(ν + d1)π}

d2
2 Γ
(
ν+d1
2

) |ΣY |X | 12

{
1 +

1

ν

M(y|x)
1 + 1

ν
M(x)

}− ν+d
2

×
(

ν+d1
ν

1 + 1
ν
M(x)

) d2
2

,

�555�%(
�� M(y|x) �� M(x) ���� ��� ������	�� �� ����������� ��������� �

M(y|x) = (y − μY |x)
�Σ−1

Y |X(y − μY |x), M(x) = (x− μX)�Σ−1
X (x− μX).
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	�(� ���� Z ∈ R
d+1 �� ��	���
 ������� � ν

��

�� �� ����
�� �� ��
����
�� μ ∈ R
d+1 �� Σ ∈ R

(d+1)×(d+1)� �� 	������
� Z = (X, Y )�

���	 X ∈ R
d �� Y ∈ R� ��  ������� 	����������� �� ������ α �� Y |(X = x) ��� ���
�

����� ��


qα(Y |X = x) = μY |x +
√
ΣY |X

√
ν

ν + d

√
1 +

1

ν
M(x)Φ−1

ν+d(α). �555�8(

�� Φm ��� �� !��	���� �� 
���
������ �� �� ��� �� ������� � m ��

�� �� ����
�� 	���
��
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�� �������� ���	 
�����
�� �����������
�

������ � �� �����	
�� 
� 	������ ���� ���� d1 = d �� d2 = 1� �� � M(y|x) = (y −
μY |x)2/ΣY |X ∈ R� ���� qα 
� ������
� ���	�������
 	� Y |(X = x)� �
 ������

qα∫
−∞

fY |X(y|x) dy = α.

����

Γ
(
ν+d+1

2

) {(ν + d)π}−1/2

Γ
(
ν+d
2

) |ΣY |X |1/2
(

ν+d
ν

1 +M(x)/ν

)1/2 qα∫
−∞

{
1 +

1

ν + d

ν+d
ν
M(y|x)

1 +M(x)/ν

}− ν+d+1
2

dy = α

��� ���� ⎧⎨⎩ t =
√

ν+d
ν
(y − μY |x)

(√
ΣY |X

√
1 +M(x)/ν

)−1

tα =
√

ν+d
ν

(
qα − μY |x

) (√
ΣY |X

√
1 +M(x)/ν

)−1 ,

Γ
(
ν+d+1

2

)
{(ν + d)π}1/2Γ (ν+d

2

) × tα∫
−∞

(
1 +

t2

ν + d

)− ν+d+1
2

dt = α.

���� Φν+d 
� �������� 	� �� �������� ���	��� ! d+ ν 	�"��� 	� 
�#����� �
 ��� ���	��� ���

Φν+d

⎧⎨⎩
√

ν+d
ν
(qα − μY |x)√

ΣY |X
√
1 +M(x)/ν

⎫⎬⎭ = α.

$�� �����������

qα = μY |x +

√
ν

ν + d

√
ΣY |X

√
1 +

1

ν
M(x)Φ−1

ν+d(α).
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�� ��� �������� ��� ��		���� ������ �	� ��� �������
�		�� �������� ���� �	�
��� ��	 
����
��	 ����
�
�����	 �� ��
��
�� ���	
	�� ! �����"
���
�� 
����
�� �� �
#��� α �� Y |(X = x) ��� ��� ���$
��
	�� �%�� �� x 

qRQ
α (Y |X = x) = β∗�x+ β∗

0 . &''' ()

�� 
����
�� qRQ
α (Y |X) �	� ������� ����
����� �� �����		
�� 
����
�� ��	 ���%�
���	 ��

�����		
�� β∗ �� β∗
0 	��� ��	 	����
��	 �� ���$�*�� �� �
�
�
	��
��

(β∗, β∗
0) = argmin

β∈Rd,β0∈R
E
[Sα(Y − β�X − β0)

]
&''' +)

�#�� �� ,����
�� Sα 
�� �-�� ��������� ,����
�� �� 	���� &#�
� �.���� ��� .��
�
��� �/���) 
0
 �� ���� t+ = t1{t>0}� �� � �-�"���		
�� 	�
#���� 1

Sα(t) = (α− 1)t+ t+. &''' 2)
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���
�� &''' � � )� 
� 	��$�� 
�� �� ���*�� 
���	�

�� ��	 ������	 �-����� � �"
	����� �� 
�
 �"�����
� ��	 �
	��
$��
��	 �����	 
�� �� ��
 ��
5����6 7��	 �� ��	 �� 84.5� ����� ����
�
�� �	� �
�
#������ ! E[ξ] < +∞ 
�� ������� �� ����	� ��	 �����*���	 ���
���" 	��� �$����	 �
��������� ��� ��	 ��9
�����	 �����

��	 ����� �-�����
���� 88 &�:����� ��� ������ �///�) �� �� ����
���
	�����	�

�� &�;����� �/���)� 	��	 
�� �-�� �
� �-
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$��
�� �� ����
����� �� �����		
�� 
����
�� 
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��� ��	 ����9
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	��
$��
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�����
qRQ
α (Y |X) 

�������� ��������� ��
� �	 ����	 	��������	 �

�����
�

7��	 ����� 	���
��� ���	 ������	 �� ,���� �"��
�
�� ��	 �����*���	 β∗ �� β∗
0 ���	����	

���	 ���� ���� ��	 84.5 =��� ����� �� � $�	�
�� �� #� �� �-4
���
�� &''' � � )� ��
�-�	������� �� ������	 ����
��	 >� ����� ����	 �� ����� 	�
#���� ��
�� ! �� ��	����
��
�� ���$�*�� 

����� �� ���� (X1, X2) ∼ EC2 (μ,Σ, ξ) �� ��	
 ���
���� 
��� ��� �
�
������ �

μ = (μ1, μ2)
�, Σ =

(
σ2
1 ρσ1σ2

ρσ1σ2 σ2
2

)
.

�����

E
[
X11{X2>0}

]
= μ1ΦX1

(
μ2

σ2

)
+ ρσ1

∞∫
μ2/σ2

c1zg1(z
2) dz. &''' �)
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�� �����������
�

������ � ���� fX1,X2 �� �	
���� �
 �	��	
� ��������	 (X1, X2)� �����

E
[
X11{X2>0}

]
=

∞∫
−∞

∞∫
0

x1fX1,X2(x1, x2) dx1 dx2.

�
 �

∞∫
−∞

xfX1,X2(x1, x2) dx1 = fX2(x2)

∞∫
−∞

x1
fX1,X2(x1, x2)

fX2(x2)
dx1 = fX2(x2)

∞∫
−∞

x1fX1|X2(x1|x2) dx1.

�
 ���
�� �	 ����
����
 ��� �
	

∞∫
−∞

x1fX1,X2(x1, x2) dx = fX2(x2)E [X1|X2 = x2] = fX2(x2)

{
μ1 + ρ

σ1

σ2

(x2 − μ2)

}
.

�
 �
�����
� ��� ������� � x2� �
 ����	
�

E
[
X11{X2>0}

]
=

∞∫
0

fX2(x2)

{
μ1 + ρ

σ1

σ2

(x2 − μ2)

}
dx2.

�
 ����	��	 �
	 fX2(x2) = (c1/σ2) g1{(x2 − μ2)
2/σ2

2}� �	 �
� ��
�
�� �

E
[
X11{X2>0}

]
= μ1

∞∫
0

fX2(x2) dx2 + ρ
σ1

σ2

c1

∞∫
0

x2 − μ2

σ2

g1

{
(x2 − μ2)

2

σ2
2

}
dx2.

�
 �����
� �	 � �
�	!	
� �	 �������	 z = (x2 − μ2)/σ2� �
 ����	
�

E
[
X11{X2>0}

]
= μ1ΦX1

(
μ2

σ2

)
+ ρσ1

∞∫
−μ2/σ2

c1zg1
(
z2
)
dz.
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���!!	
� �, � ��
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�������� 	 ������	
��� �� 
��������� ����
����
 ���� Z = (X, Y )� ∼ ECd+1 (μ,Σ, ξ)
���� E[ξ] < +∞	 
� ������� 
� ���������� �������� (β∗, β∗

0) 
� Y |(X = x)� ��� ���������
���������� ����������� ��� 
���� ���

β∗ = Σ−1
X ΣXY , β∗

0 = μY −ΣYXΣ−1
X μX +

√
ΣY |XΦ−1

Y (α).


� ���
������ 
� ���������� �������� 
� ������ α ∈ [0, 1] ��� 
���� ���

qRQ
α (Y |X = x) = μY |x +

√
ΣY |XΦ−1

Y (α).

�� ����� �� 
����������� 
� qRQ
α (Y |X) ���

qRQ
α (Y |X) ∼ EC1

(
μY +

√
ΣY |XΦ−1

Y (α),ΣYXΣ−1
X ΣXY , ξ

)
.

����
� � ���� �� ������� 
����� ��
��������� �������� ��
�
���� � ���
 ρj �� 	����
 	���
 �� 	������
��� ��
�� Xj �
 �� !����"�� ����
���� Y − β∗�X − β∗

0 � #� �$�
� Xj ∼
EC1

(
μj, σ

2
j , ξ
)
� �� ����� Y−β∗�X−β∗

0 ∼ EC1

(
μY − β∗�μX − β∗

0 , (−β∗, 1)�Σ(−β∗�, 1), ξ
)
�

%� � ������ ���� 
��
 j = 1, . . . , d�
(
Xj, Y − β∗�X − β∗

0

) ∼ EC2 (mj,Ωj, ξ) �& �

Ωj =

⎛⎝ σ2
j ρjσj

√
(−β∗, 1)�Σ(−β∗�, 1)

ρjσj

√
(−β∗, 1)�Σ(−β∗�, 1) (−β∗, 1)�Σ(−β∗�, 1)

⎞⎠ .


����!��� ����
����
 �� ���"�'�� �� ��������
��� ����������� #� �
������
 �� ���	
��� Sα

������ ���� �(#���
��� ����������� �
 �� ����!�� S ′
α(x) = (α − 1) + 1{x>0} �� ���"�'�� ��


����!����
 ) {
(1− α)E[X]− E[X1{Y−β∗�X−β∗

0>0}] = 0,

(1− α)− E

[
1{Y−β∗�X−β∗

0>0}
]

= 0.
�����*�

#
��
 ����� ��� Y − β∗�X − β∗
0 ∼ EC1 (μ, σ

2, ξ) �!�	 μ = μY − β∗�μX − β∗
0 �
 σ2 =

(−β∗, 1)�Σ(−β∗, 1)� ����� E[1{Y−β∗�X−β∗
0>0}] = P(Y − β∗�X − β∗

0 > 0)� ����� �(�&

E[1{Y−β∗�X−β∗
0>0}] = 1− ΦY (−μ/σ) = ΦY (μ/σ) .

#����
�� �� �
������
 �(#���
��� �*� �� +���� *� �� �� ���� 
��
 j ∈ {1, . . . , d}�

E[Xj1{Y−β∗�X−β∗
0>0}] = μjΦY (μ/σ) + ρjσj

∞∫
μ/σ

c1zg1(z
2) dz.
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�	� ���������� ���
 �� �������� ��		� ���
 �⎧⎪⎪⎨⎪⎪⎩
∀j∈{1,...,d} μj {(1− α)− ΦY (μ/σ)} − ρjσj

∞∫
μ/σ

c1zg1(z
2) dz = 0,

(1− α)− ΦY (μ/σ) = 0.

��� ���������
�

∀j∈{1,...,d} ρjσj

∞∫
μ/σ

c1zg1(z
2) dz = 0.

�� � ����� ρ1 = · · · = ρd = 0� �� ����
 ����� ��� �� ���� ���� ������� β∗ = Σ−1
X ΣXY � !�

�"�
�
(
X, Y − β∗�X − β∗

0

) ∼ ECd+1 (m,Ω, ξ) �#��

Ω =

(
ΣX 0Rd

0�
Rd (−β∗, 1)�Σ(−β∗�, 1)

)
.

$�� ��
��	����
 ��
 ���� (−β∗, 1)�Σ(−β∗�, 1)|ΣX |� !� �
������
 ��� 	�	��
� �����
���%
���� �� Y −β∗�X − β∗

0 |X ������ ���� �� �������
��� &� �� ��
���
 �� ����
��� ���#��
� �

ΣY |X = ΣY −ΣYXΣ−1
X ΣXY = (−β∗, 1)�Σ(−β∗�, 1).

!� ��#�������
 (−β∗, 1)�Σ(−β∗�, 1) = ΣY + β∗�ΣXβ∗ − 2β∗�ΣXY � ������
��� �����%
���
� ��#���


2β∗�ΣXY − β∗�ΣXβ∗ −ΣYXΣ−1
X ΣXY = 0.

'� (���
��� ���#�)� 2β∗�ΣXY −β∗�ΣXβ∗ −ΣYXΣ−1
X ΣXY �

���
 ������	��
 ��� 	���%

	�	 �� β∗ = Σ−1
X ΣXY �

*��������
 β∗
0 � �� ��
��(��


β∗
0 = argmin

β0∈R
E
[Sα

(
Y − β∗�X − β0

)]
.

������	��
� β∗
0 ��
 �� ����
��� �� ��#��� α �� �� #������� ����
���� Y − β∗�X� �� ��


�#����
 ��� Y − β∗�X ∼ EC1

(
μY −ΣYXΣ−1

X μX ,ΣY |X = ΣY −ΣYXΣ−1
X ΣXY , ξ

)
� Y −

β∗�X �
��
 ��� 
����(��	�
��� � �� �� (X, Y )� +� ����� �#�� ���)�������� �� β∗�
E
[
Y − β∗�X

]
= μY−ΣYXΣ−1

X μX � *��������
 �� ������ 	�	��
� �� ��
 �,�� - (−β∗, 1)�Σ(−β∗, 1)�
+���

(−β∗, 1)�Σ(−β∗, 1) = σ2
Y−2

n∑
i=1

β∗
i ρixσiσY+

n∑
j=1

β∗
j

n∑
i=1

β∗
i ρijσiσj = σ2

Y−2β∗�ΣXY+β∗�ΣXβ∗.

!� ��	���.��
 β∗ = Σ−1
X ΣXY � �� 	��
�� �� ����
��� ���#��
� �

(−β∗, 1)�Σ(−β∗, 1) = σ2
Y−2ΣYXΣ−1

X ΣXY+ΣYXΣ−1
X ΣXΣ−1

X ΣXY = σ2
Y−ΣYXΣ−1

X ΣXY = ΣY |X .
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β∗
0 = μY −ΣYXΣ−1

X μX +
√
ΣY |XΦ−1

Y (α).

���	 ��	��	��	 �
�����
�� �� ��	 �


���
�	 �����
�� β∗ �� β∗
0 � ���	 ������	 ����

���
���
 ���
� �
�������
 �� 
��
�		��� ��
����� �� Y 	
��
�� X = x� �� 
��
��
��
�����
���� �   ���
�! "

qRQ
α (Y |X = x) = β∗x+ β∗

0 = μY +ΣYXΣ−1
X (x− μX) +

√
ΣY |XΦ−1

Y (α).

#� 
�����
��� 	�
 �� �$�� �
���� �����
�		��� �� μY |X ������ �
�	 �����
���� ��!� %����
&
�
�� 	
 ��	�
��������

qRQ
α (Y |X) = μY +ΣYXΣ−1

X (X − μX) +
√

ΣY |XΦ−1
Y (α),


��� X ∼ ECd (μX ,ΣX , ξ)� %���� ������
�	�� 
'�� �� X� �� �����	
�� �
 (
���	����� )�
�� 
 �
 
��
���� �� ��� qRQ

α (Y |X) ∼ EC1

{
μY +

√
ΣY |XΦ−1

Y (α), (ΣYXΣ−1
X )ΣX(Σ−1

X ΣXY ), ξ
}
�
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����
�
�� ���� 	� �� �
��� β∗

0 = 0 �� ��� �� �
�������
 qRQ
α (Y |X) ���	� .�
������ ������

������
�	�� ����
�
� ��	 ���

�
���	 X� *
�	 �� �
	� �� ���� ��� �� �
�������
 qRQ
α (Y |X) =

β∗X �� ������ �
	 �� ����
� �� ��
����� α� %� ������ �	� ���� ���������� - �����
��
������� �
�	 �� �
	 α = 1/2� ���� ����� �� �
 ����
��� �� �/��� �
 ��
���� �� ��0����
�������������� ������ �
�	 �����
���� ��! ����
� ��� �� �
�������
 �� 
��
�		��� ��
�����
��1����� 
��� �
 ��0���� �������������� �
�	 �� �
	 α = 1/2� �
 ��0���� �� �
 ����
��
��
�� ���������	 �
�	 �� �
	 ��	 ��	�
�������	 ����������	� #� ���� ��
������ 
��

���

��� 	� ΣXY = 0Rd � �� ��� 	����.� ��� X �� Y 	��� ����

���	� �� �
�������
 qRQ

α (Y |X) �	�
���� �� ��� �	� �� �
������� (��
 �����	 ��	 

�	��	� �� ������ ����
�
� �	� - �����
�� �� ��
��
�� 
'�� β∗

0 	����� ����	���	
����
%������
��	 ���	 �
�����
�� 	�
 �� ������ 
'��� �� ����


�� �� �
�������
 qRQ

α (Y |X =
x) 
��� �����
���� �   �2�
�! �� ��
����� ������������ ����
����� �� 	�
��
3��� ��� ��	 ��
&
����	 	��� ��
	����� ��	 �4��	� - �� ���
�� �
�	� ,� Φ−1

Y |x �� qα(Y |X = x) �	� 
����
��

�

 Φ−1
Y �
�	 qRQ

α (Y |X = x)� ���	� - ��
� ��� �� ��
����� ������������ �	� 
����
�� �


����������������� #� 
 �� ��� ����� 	�������� �� ��	
�� �
	 �� �
������ �
�	 �� �
	 �
�	&
	���� �

 ��	 ��	�
�������	 �������������� �� ���������������� 	��� �� �4�� �
��
�� �
�	
�	� ����
�
��� �
�	 ��	 
��
�	 �
	 �� .��
�� �� �/��� �� �
���	� ���
 ����	�
�
 �� �
���	
�� �
���
� ΣXY = 0Rd � ,� �
�������
 qRQ

α (Y |X = x) 
������ �� ��
����� 5��������
��5√
ΣYΦ

−1
Y (α)� ��
	��� �� ��
����� ����
���� �
�� �� ��
����� 5����

���5

√
ΣYΦ

−1
Y |x(α)� %��	�
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	�� ����
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�����	
	 �
� ����
���� Φ−1

Y (α) 

 Φ−1
Y |x(α) ��	 �
�� 
�
���
�� �	
���� ���� �� �	
��
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 λ > 0�  ��� �
 ���� �� ��
�
�
 
� �
������

�� �
���
� �
 �� !���
 ""�� #

Φ−1
Y (α) =

√
λ

2
ln (2α) , α <

1

2


 Φ−1

Y (α) =

√
λ

2
ln

(
1

2(1− α)

)
, α ≥ 1

2
.

�� ����
��� Φ−1
Y |x(α) 
�
 ����
 $ 
��
 ��

��
 ����	���
�
�
� �
 �
���� 
�
���
 �
	� ��


��� �
 %
��
�
 �
 ��	���
	
 ν > 0� &� ���
 �	'�
 $ �()���
��� *+, ��
 �(�� �
�
 ���	��	
�
� �
�� ����
���� �
 �����	
 
������

�{

Φ−1
Y (α) = Φ−1

ν (α)

Φ−1
Y |x(α) =

√
ν+M(x)

ν+d
Φ−1

ν+d(α)
,

�- Φm 
�
 �� ����
��� �
 	���	
�
��� �(��
 ��� �
 %
��
�
 $ m �
�	�� �
 ���
	
�� ��
.���	
 """�/ ����
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�
�
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�
���
� �� � M(x) = 1 � d = 5� ν = 3 


λ = 2�

������ """�/ 1 2����	����� �
� ����
���� Φ−1
Y (α) *
� ���	, 

 Φ−1

Y |x(α) *
� 	���
, ���	
α ∈]1

2
, 1[ ���� �
� ��� %
��
�
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��
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�
�
 ����
� �� ��� α = 1/2 *�� 
�
 �(����
�	� �
�����
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 ���	 �	���	
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 ���	��� ���������� 
� ���	 ����
�	 ������	� �� ������ ����� ��� �� ��
���

� �����		��� 	��� 
� ����	 �� ����	 ����������� �� ������������ ���	 ������	 ��� 
��	 ��
��	 
�	 
�	���������	 � ����� ����
�� ��	 ���	 ���
���������� Y |(X = x) �� �����
����������
Y � ��� ��	 �� �!�� ��
��� 
� ������ �� ��� ���� � ��� �����"������� �"��!������
������	� 
�	 ��������	 ���
��������	 �"��!��	� #��� ����� �� �����	� 
��	 �� 	������
	������� 
� �������� �� ���
������ 
� �����		��� ���������

������ �����	
�� �
������

$ �	�������� 
�	 ��������	 �"��!��	 �	� ���	 �����
�� 
��	 �� ������������ %&��		���� 
'�()
�	� � �� 
�	 �������	 ������	 ���	�
����� 
�	 ������" 
� �������� ���
��� ���	 1� ���	
%*�++��	 ��
 *� ,���� 
'(') 	 �	� ��� �� 	���� ������		� �� ��	 �� ����� ����������� �	�
���������������� ����
�� #��	 ���������� %-��
�	 ��
 -����
� ���.) 	� 	��� ������		�	 ��"
���	 � ����� &������� ���
�	 ��� %�� /����� �� ���� ��
�) ��� �����	� ��� �������� ����

�	 
�	���������	 � ����� ����
� �� ������� $� 
�0������ ���� ����� �������� �	� ��� ���	
���	 ������		��	 � 
�	 ��������	 �"��!��	 ���
��������	� *��	 �� ��
��� %&��� �� ���� ��
�)
��� ������	 
�	 ��	�����	 
��	 �� ��
�� 
� �����		���� ��� ���	 ��������	 ��� � ����������
�� �� 
� �� 	������ �����
�����
*��	 ����� 	������� ���	 �����	��	 
� �������" ���
������	 
� �������� �
����	 ��" ��1
����" �"��!��	� 2��	 �����	 
��	 �� ������� ����	 �����	�� ��� �������� �	3���������
����� ��	 ��������	 Φ−1

Y |x �� Φ−1
Y � #�� �� 	����� ���	 �����	����	 
�	 �	��������	 �
����	

���� ������� �	����� 
� ���	 ��������	 � ������ 
 �� 4�� 
� 
�����	�

�������� �����	
� �
�
����������

$� ��� ��� �	� 
� ������� ��� ����������� ����� Φ−1
Y |x �� Φ−1

Y � *��	 �� ��
�� 
�	 
�	���1
������	 ����������	� ����� 
�����	 ��	 �������	 
� 
��	��� 
�����	 
��	 �� 5������� �� ��
������ �		�6 	����� 
� ������� ��� ����������� �	3��������� ����� ��	 ��������	 
� �������1
���� ΦY |x �� ΦY � 7����
���� �� ��		��� � � �����	� ����		��� �������	 �����	 ����3�����	 ���
� �� ���� ��������� ������� 
��	 %*4��8�9 ��
 5����:��� ���
)� $� 
�;������ 	������� ��
�	� 
 �������	 �		���

��������� �� <ϕ−��������=	 ��� �������� f �	� 
�� ϕ��������� 	� f : [0,∞) → [0,∞)�
f(0) = 0� f �	� ������
�� �
��		���� 	

 [0,∞)� �� f(t) → ∞ ��
	�
� t → ∞� �� ��
	� ��

���� Kc ����	����� ��	 ϕ���������	 f �
� ��
�����

lim
(t,λ)→(∞,1)

f (λt)

f(t)
= 1. <>>>�'=
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� ����� ��� �
���
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�� � �������
� ���
����� �
 ���� �� �� �� ����
� !" �� �#��$ �� ��� ������� 	
�
�� �
����
�
� �������
� ���
����� ��� �� ������ Kc" �� ������%�$ ��������� �
����
�� �
��� �� �
����
�
�� 	
������ ��
������� ��

� �� �
�����
��� �
�� Kc ���� &��� � �������
� ���
�����" '� ���
 ����
� �� ��� ����������(�� �

� ��
���� �� ����� �
�����$ �) � *�+
�,�- ��� .
���/��$ �00�1$
	
� �
��� �� ������
� ����� ���	
�������� �� ��
2 �
����
�� �� ���	
�������� �� ��
�� ���
������"

����� �� ��	
�������� ��� ���������� ��������� ��� f �	 g ��
��	 ���� ϕ
����	
���
�	�
�	����	 ���
����	��� ����� ��
�� ��� ��� ����	
��� f−1� g−1 �����	
���� � �� ������

Kc� �	 ��� f(t) ∼
t→∞

g(t)� ����� f−1(t) ∼
t→∞

g−1(t)�

3�����
�� 	
� �
��� (
� ��� �� �
���� 
�� �	
�������� ����� Φ−1
Y |x �� Φ−1

Y " 4

� ����$
�� ��
��� �������������� ��
�
��� 
�� �	
�������� ����� 1− ΦY |x �� 1− ΦY " 5��������$
��� ��
2 �
����
�� �� �
���� �� �
�� ���������� ��� ��� ϕ−�
����
��$ �� �� �

� ��
���
��
����
�� 6

1− ΦY |x(0) = 1− ΦY (0) = 1/2, lim
t→+∞

1− ΦY |x(t) = lim
t→+∞

1− ΦY (t) = 1.

�� �
�� ��
�� 
����� 
�� ������
�����
� �
� ��� �
����
��$ �

� �

�
�� ���
���$ �� 
���
������ �� '���� �0$ �
���� 
�� �	
�������� �� ��
�� ��������" ���� ����� 
���	
�$ 
�
��
�
�� ��%7�
�%��� �
������"

��	
��
�� �� �� ��
�	� 0 < �(x) < ∞ �	 η ∈ R 	��� ���

lim
t→∞

ΦY |x(t)

ΦY (tη)
= �(x), �888"�0�

�� Φ = 1− Φ ��� �� ���	�
�� �� ��
�
� ����	
�� � Φ� �� ����� �� ����
� Ψ �� Ψx 	����

Ψ(t) =
1

�(x)ΦY (tη)
− 2/�(x), Ψx(t) =

1

ΦY |x(t)
− 2.

���
� Ψ−1 �� Ψ−1
x ����
�
��� � �� 	����� Kc�

�� ��������� �� 	
������
 �� 
������� � �
 �� �������
��� �� �	� �

ΦY (t) =

t∫
−∞

c1g1(t
2)dt �
 ΦY |x(t) =

t∫
−∞

cxgd+1(M(x) + t2)dt ���� cx =
cd+1

cdgd(M(x))

�� cd+1 �
 cd ���
 ��� ��������
� �� ���������
��� �� �� ���
���	
��� �����
��	� ������
��
�
�� �������� ��������� ξ� �� ���������� d+ 1 �
 d�  �� ����� �� ��!�� �� ��"#��
�� ������	��
$ ��%�	�
��� &'( �����
 ���)������ ��� ��������
� η �
 �(x) �� *���
��� ��� �����
���

lim
t→∞

cxgd+1(M(x) + t2)

c1ηtη−1g1(t2η)
= �(x).
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Φ−1
Y |x (α) ∼

α→1

[
Φ−1

Y

(
1− 1

�(x)
1−α

+ 2(1− �(x))

)]1/η
.  ###���"

����
� � $
��	������ Ψx �� Ψ ���� ���% ϕ&��������� ��	�������� �	���������� �� Ψx(t) ∼
t→∞

Ψ(t)� '� �
��� �� Ψ−1 �� Ψ−1
x ����	����� ( 
� �
���� Kc� �
�	� 
� ����� �� ���
����

Ψ−1
x (t) ∼

t→∞
Ψ−1(t)

!� �����	�� ��	����

Φ−1
Y |x

(
1− 1

t+ 2

)
∼

t→∞

[
Φ−1

Y

(
1− 1

�(x)t+ 2

)]1/η
.

)� ���� �*�
����� 	���	�	� ��
�

Φ−1
Y |x (α) ∼

α→1

[
Φ−1

Y

(
1− 1

�(x)
1−α

+ 2(1− �(x))

)]1/η
���� α = 1− 1/(t+ 2)� ���+ 
� 	���
���� �
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� .	��������� ��� �� ��� ���������� ����/
� �� ���	��	 ��� �	�������	� ��
������
� �����������
 ������� ��% ������% �%�	0���� 1��� �� �	������� �
�	� ���%� 	��&
����������� ���	 ��� ������% �	����� �� � �� ��

��������� 	�  .	�������	� �� ������
� �%�	0���"
 �� ������⎧⎪⎪⎪⎨⎪⎪⎪⎩
qEα↑(Y |X = x) = μY |x +

√
ΣY |X

[
Φ−1

Y

(
1− 1

�(x)
1−α

+2(1−�(x))

)]1/η
,

qEα↓(Y |X = x) = μY |x −√ΣY |X

[
Φ−1

Y

(
1− 1

�(x)
α

+2(1−�(x))

)]1/η
.

 ###���"

�� �	��������� �������� ����	� ��� 
�� �	�������	� ���	������ ���� 
� '�2������ ��
���� ��
������������� ������
���� �� ������
� ����	���� qα(Y |X = x)� 	�������������
���	 α → 1 �� α → 0�

�������� 	�  !�����
���� ��� �	�������	�"
 ���� Z = (X, Y )� ∼ ECd+1 (μ,Σ, ξ)� ����
����	���
�� ��

qEα↑(Y |X = x) ∼
α→1

qα(Y |X = x) �� qEα↓(Y |X = x) ∼
α→0

qα(Y |X = x).



�� �������� ���	 
�����
�� �����������
�

������ � �� �����		� 
�� 	�

������ ���������� ����� qα (Y |X = x) = μY |x+
√
ΣY |XΦ−1

Y |x(α)�
��� �
������� ���� �� ����� �� ������ ������������� 	� �������� ������ �� ����	���� �
������

qα(Y |X = x) ∼
α→1

μY |x +
√

ΣY |X

[
Φ−1

Y

(
1− 1

�(x)
1−α

+ 2(1− �(x))

)]1/η
= qEα↑(Y |X = x).

 ��
����	��!� ���� α → 0 ��� �"����� �� 	� �#�� �������� �� ���	����� 	�� ���������� ��
�$������ ��� ������"������ �		����
���� �

%��������� 
�� 	��"&�!��' �� !���� ��!���� ��� �������� � ������ '������ ��� �����!�����
�� 
�����	� !����������	 ������� ��( ������( �(��#���� �	 ����)� ����������� �� ����*��

��		�� ������"������ �		����
��� �����'��� 	�+$���,��� �� �� ����� ���� !�	� 	� �����������
��������� 
� ������� ����� 	�� ������"������ 
�� ���� ����� ����������� ���!���������
���	� 	� ������"����� ��  ��	�!� �� �����'��� ��� !���� ,$���,����

�����	
�
�� 
� �
(���	���� ��� �������	��
�� �
�
���� �
�
��� �
���
����� ��	�����

�� ����� ������
�� �����
����� �� ���� ��� �
�������� η �� �(x) �
���� ���� �� ����� ��� � 

 �� η �(x)
-����	� � �

-����	� !��������� �
max(θ1,...,θm)−d exp

{
− M(x)

2max(θ1,...,θm)2

}
m∑

k=1
πkθ

−d
k exp

(
−M(x)

2θ2
k

)

.������� ν > 0 1 + d
ν

Γ( ν+d+1
2 )Γ( ν

2 )
Γ( ν+d

2 )Γ( ν+1
2 )

(
1 + M(x)

ν

) d+ν
2 ν

d
2+1

ν+d

.	��,� a > 0 1 + d
a

Γ( d+1+a
2 )M(x)

d+a
2 21−

a
2

Γ( d+a
2 )(d+a)χ2

d+a(M(x))Γ( 1+a
2 )

 ��	�!�� λ > 0 × ×

����� ����� / 0��1!����� η �� �(x) ���� !�������� ������"������ �		����
��� !	����
����
���! M(x) = (x− μX)�Σ−1

X (x− μX) ����� 2���������� 3�

������ �  �� �����	� 4 2������������ !�	!�	��� �(x) �� η �� 	�

������ ���� �!� η = 1
���� � 	� 	�����

lim
t→∞

cxgd+1(M(x) + t2)

c1g1(t2)
.

 �� ��	���� c1� gd+1(M(x)+t2)� �� g1(t
2) ������� #��� �������� ����!������ �� 	� 5�"	� �����

.��� cx = cd+1/ {cdgd(M(x))}�

�(x) = lim
t→∞

exp
(
−M(x)+t2

2

)
exp (−M(x)/2) exp (−t2/2)

= 1.



������� ������	
� 
��
��
� ��

�� ����� 	 
���
�� �� �� ������ ���
���� ������ ��� �������� δ = λ+ 1 �� y = 1/t� �

ε�(x) = lim
t→∞
λ→1

Ψ−1(λt)

Ψ−1(t)
= lim

t→∞
λ→1

Φ−1
(
1− 1

λt+2

)
Φ−1

(
1− 1

t+2

) = lim
(δ,y)→(0,0)

Φ−1
(
1− y

2y+δ+1

)
Φ−1

(
1− y

2y+1

) .

������� ���������� �� ����������� ��������� ���� ������� δ = r cos(θ) �� y = r sin(θ)� ��
����������� �� ������ ������� r → 0� �� ����� ������ �� ������ ��� �� θ� ����� �� ������
����� (δ, y) → (0, 0) ������� �����������

lim
r→0

Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

)
Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

) = f(θ).

����������� �� ���������� �� �� ������������ ������� 
��� +∞� �� ������� ����� �� � !��
�� �"#$����� ���� �%�����

f(θ) = lim
r→0

Q(r, θ)

φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

)]
φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

)] ,
�& Q(r, θ) ��� �� ����� ��� ���� ���������� 
��� � ������� r → 0� ��� �� ������� �� ��������
��� φ ��� �� ������� �� �� ��� ������� ������� �������� ����� φ(x) = (2π)−1e−x2/2� '����

ε�(x) = lim
r→0

φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

)]
φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

)] .
(�� ���� ������ �� �� )������� ������� 
��� 0� *� ��������� ��� )��� �� ���� �� � !�� ��
�"#$������ �����

f(θ) = lim
r→0

1

Q(r, θ)

φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

)]
φ

[
Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

)] φ′
[
Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

)]
φ′
[
Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

)] ,
�& Q(r, θ) ��� �� ����� �
���� ������������� ��� ���� 
��� 1� +� ����� φ′(x) = −xφ(x)�
,����������

f(θ) = lim
r→0

Φ−1

(
1− r sin(θ)

2r sin(θ) + 1

)
Φ−1

(
1− r sin(θ)

2r sin(θ) + r cos(θ) + 1

) =
1

f(θ)
= 1.



�� �������� ���	 
�����
�� �����������
�

��� ���	
�� � 
� 	��� ������
� �� �����


lim
t→∞

cxgd+1(M(x) + t2)

c1ηtη−1g1(t2η)
,

�� cd 
� gd ���� 	����� 	��� �� ����
 ����� 
� cx 
� 
�� 	�	���� �� �����
 �����	
��
 	
��
��
�����

lim
t→∞

Γ
(
d+1+ν

2

)
Γ
(
ν
2

)
Γ
(
1+ν
2

)
Γ
(
d+ν
2

) (1 + M(x)

ν

) d+ν
2

(
1 + M(x)+t2

ν

)− d+1+ν
2

ηtη−1
(
1 + t2η

ν

)− 1+ν
2

.

� ������ 	
 �����
����� �� �����	��
 η = (d+ ν)/ν 
� �� �������
��
 �� ����� ��� �� 	����
�
�� �����
 
�� �����
�
�� νd/2�  ����
�
���

�(x) =
Γ
(
d+1+ν

2

)
Γ
(
ν
2

)
Γ
(
1+ν
2

)
Γ
(
d+ν
2

) (1 + M(x)

ν

) d+ν
2 ν

d
2
+1

d+ ν
.

!���
����� �� �
���	
 �����
 	
 ��"#���$��
 %� �� ��
��
 
�� ��������
 & �
��
 	� ���

'�����
�� ���� ���� ����� η �= 1 
� �(x) �= 1 ���� (��� 	
���� ����� ����)
� ��
*���
��
 
�
�� ���
�� 	
 �� �����


lim
t→∞
λ→1

Φ−1
ν

(
1− 1

�(x)λt+2

)1/η
Φ−1

ν

(
1− 1

�(x)t+2

)1/η .

!���
 ���� �
 ��� '�����
�� �� ������
 �
� ����	����
� ������
� ���� ���
��� �
 ���������

�
� 	������ 	� ������� �
 ���� ��� �����)�� ����

��� ������
 ���������
 � 
� ��
�	 η = 1� 
� �����	��


�(x) = lim
t→∞

cxgd+1(M(x) + t2)

c1g1(t2)
,

�� cd 
� gd ���� 	����� 	��� �� ����
 ����� 
� cx 
� 
�� 	�	���� 	��� �� �����


�(x) = lim
t→∞

m∑
k=1

πkθ
−d−1
k exp (−M(x)/(2θ2k)) exp (−t2/(2θ2k))(

m∑
k=1

πkθ
−d
k exp (−M(x)/(2θ2k))

)(
m∑
k=1

πkθ
−1
k exp (−t2/(2θ2k))

) .
���� k∗ �
� +�
 θk∗ = max(θ1, . . ., θm)� ����� ������)�������� �� �
��


�(x) =
θ−d
k∗ exp (−M(x)/(2θ2k∗))

m∑
k=1

πkθ
−d
k exp (−M(x)/(2θ2k))

.



������� ������	
� 
��
��
� ��

���� ����	� �
� ���� �
����� �� �����
�� ��	�����	 �� ��������
�� �� �� ���� ���� ��
������� ��� ���� �� ��� �������	 ��������	� �� ��	������
���  ���� !  ��� η = d/a+1" �� �������	� �� ������ �(x) �� ��#������	 $�%� &��" cd �� gd ��	�
��		
� ��	� �� '�(�� &&�)" �� cx �	 ��� �
����" ���* �� ������

�(x) = lim
t→∞

Γ
(
d+1+a

2

)
M(x)

d+a
2 21−a/2

Γ
(
d+a
2

)
Γ
(
1+a
2

)
χ2
d+a(M(x))

χ2
d+1+a (M(x) + t2)

χ2
1+a (t

2(d/a+1))

t(1+a)(d/a+1)

(M(x) + t2)
d+1+a

2

1

(d+ a)td/a
,

��� ��	���� +

�(x) =
Γ
(
d+1+a

2

)
M(x)

d+a
2 21−

a
2

Γ
(
d+a
2

)
(d+ a)χ2

d+a(M(x))Γ
(
1+a
2

) .
,��� �
����� �� ����	�� ������ �� ��������
�� �" ����� ���� ��� ������ ���" �	 ����
�������� �� ������

lim
t→∞
λ→1

Φ−1
Y

(
1− 1

�(x)λt+ 2

)
Φ−1

Y

(
1− 1

�(x)t+2

) = lim
r→0

φY

[
Φ−1

Y

(
1− r sin(θ)

2r sin(θ) + �(x)

)]
φY

[
Φ−1

Y

(
1− r sin(θ)

2r sin(θ)+�(x)r cos(θ)+�(x)

)] = f(θ).

-	 �(���	� �	� .��� �	���� f(θ) = 1� �
/�	� ����� ������	" 	��� ���	� �	������� ��� ��
�������� (��
� �	������	� ��� �� �
0

��������	 	�	0��	�����		���� ΦY � 1�� ��
�������� ��	� ��	�
� ��
������ �� ��
������� ��
�
�������	 ���� ��� 	������ �� ���	���� ��	�����		�� ��������� /�	� �� ������	 �����	��"
	��� �������	� ��� �
������ ���� ������� ��� ��
�������� + ������ ���	 2�� �� ��		
���

�������� ����	
���� 
�� �
�
	����� �����	
��

�� /
�	����	 �) ��		� ��� ��
�������� �� ���	���� ��
������ qα (Y |X = x) ��� �
0
��	��	� ���(��� ��� ����	�� ��	�����		��� μY |x" ΣY |X " �� ���	���� 	�	0��	�����		��
Φ−1

Y " ���� �� ���� �����
���� η �� �(x) ��� 	��� ���������	� �����
���� ����
�����
&� .��� ��	� ���� ����(�� ��������� ������ ��� ���	���
� ���� �	 �
����� �	� ���������	
��� ��
�������� qEα↑(Y |X = x) �� qEα↓(Y |X = x)" ��	� ���� ����	� ��		����� �� 	�����
�� �� ������(����	� ,��� ����" �	 �� ��	� �	 ������� ����� ����������� �	� ������ ���0
���������	� #	 �3��" ��� ���	���
� μY |x �� ΣY |X �����	� ���� �����
�� ��
� ��������	�"
���� ��� �� �
����� ��� ����	�� $�� ��� ���	���� ������	�%" ���� ��� ��� 40�����������
$���� 54���		�" �6789 �� 5'����" �6:79%� /� ����" �� ������� �� ��	�����	�� �� ��� �
0
������ $�	

√
n% ��� ���� ������ ��� ������ ��� ����������� ��� 	��� ����	� �������� ��� ��

������ 1���� ��������" ��	� �� �����" 	��� ��	���
��	� μY |x �� ΣY |X ��		��" ��	� ��� ����
	� ���	�� ��� �
������� ������������� ��
��	�
�� &� 	��� ����� ��	� + ������� ��� ���	��0
�
� η" �(x) �� Φ−1

Y " + ������ ���(��������	� X1, . . . ,Xn �	�
��	��	��� �� ���	�������	�
������(�
�� �� ��� ���	����� + X ∼ ECd (μX ,ΣX , ξ)� ����	� ��� ��� ���	���
� μY |x ��
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�

ΣY |X ����� ����	
�� �� �
 ����
���
 �	
 �
� �����
�
��� �
 �� �����
���
� �� ����
�	
�
�
	� 
��
���
�� ���
��
�
 �����
� �
� �����
�
��� Z1, . . . ,Zn 
����
�����
� 
� 
�
��
�	
�
�
�� �
���
�	�
� �	 �
��
	� �����
� Z = (X, Y ) ∼ ECd+1 (μ,Σ, ξ)� �� ���
�� ����
�
��
M(x) = (x− μX)�Σ−1

X (x− μX)�
���� �
��
 ���
�	
� ��	� ������ ���� 	� ��
�

� �
��� ��
�
 	�
 � ������
 �	� �� �����
�
�� �	���
�
 Φ−1

Y � !
��
 � ������
� �	
 ��	� ��	���� �	��
"
� �
 ����
�
�� �
 ���
��
�
�� ���	�
��
 �
 �
���� ����
 �	 �
�� �
 �� ��"�
�
�� #� 
�� �����
�	
 ���� �� �
������
�	�
 �
� �	���
�
� 
$��%�
� &��
� ��� 
$
���
 '(
��
�) ��� *�+�
�+� ,--#. �	 ��	� ���
��
�
�� '���	
� 
� ���� /0,#�.1�

��������	 
 &2��
��
�� ���	�
��
 �
 �
���� ����
1� �� ������� ��	
� ��
�
� ��� ����

��
�� �
��� ����
��
 A 
���� ��� A(t) → 0 ����� t → +∞� �


lim
t→+∞

Φ−1
Y (1− 1

ωt)
Φ−1

Y (1− 1
t )

− ωγ

A(t)
= ωγω

ρ − 1

ρ
, ∀ ω > 0

�� γ > 0 �
 ρ < 0�

3�
 ��
�
��
 ������	
��
 �
 ��4 ������
 / 
�� �	
 ΦY 
�� 	�
 �
���
�	�
�� 5 ���
��
��
���	�
��
 ��
��
�
 γ� �	 �
���� �
 �� ��"�
�
�� 6� �
 ��	�� �� � Φ−1

Y (1−1/t) ∼ k1t
γ� �	 �


���
��
 ��	
���
��
 ΦY (t) ∼ k2t
−1/γ �����	
 t → +∞ &��
� '�
 4��� ��� 7
��

��� /006.1�

8�� 
$
���
� �
� �
���
�	�
��� *�	�
�� 
� *���� �������
��
 ���
����� ��4 ������
 /� 9

�
��
 �	
���� ����
 �	
��	
� ��	
���
��
� �	
 ����	�
�� 
����
��
�
�� �
 �
��
 � ���
����
�

�	
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��� �����
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! "� ���
�#�� �	$������ ξ ��

���



F ξ(t) ∼
t→+∞

λt−
1
γ , λ ∈ R.

 

! %��� 
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lim
t→∞

ΦY |x(t)

ΦY (tη)
= lim

t→∞
cd+1gd+1(M(x) + t2)
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ΦY |x(t)
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π
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γ̂kn =
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W[i]

W[kn+1]

)
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 �� '����	(�� ��� �����
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√
knA
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n
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)
=
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N (0, d2γ2
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�� γ� '�	� ����	 �� �� (����	�
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���� γ� 7��
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 ����������� (X − μX)� Σ−1
X (X − μX) � 	��� �
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π
d
2

Γ
(
d
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)t d
2
−1cdgd(t).
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ĝhn(M(x)) =
M(x)1−

d
2Γ
(
d
2

)
π

d
2nhn

n∑
i=1

K

(
M(x)− (X i − μX)� Σ−1

X (X i − μX)
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)
)***���+

�� �
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�
���
� �����
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�����
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 nhn → +∞ )���� n → +∞*
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 01�
���
�� ��%�&���
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	 (i) − (iv) 
� �������� �� 
� ���

��� �� ���	�������� ĝhn(M(x)) ������ ��

�������� �	���������� 	����
�� �

√
nhn (ĝhn(M(x))− cdgd(M(x))) →

n→+∞
N
(
0,

M(x)1−
d
2Γ
(
d
2

)
π

d
2

cdgd(M(x))

∫
K(u)2du

)
.

3� 
��&��4��� γ &�
 γ̂kn �� cdgd(M(x)) &�
 ĝhn(M(x)) 	��� ��3'���
�� 0�52� �� ���
��
������� ��&�.�� 	� &
�&���
 �� ���
�����
 �̂kn,hn(x) &��
 �(x)� 	��� �� 	�*�
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���
�� ��%�&���
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�
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��
�� �̂kn,hn(x) ����� �

�̂kn,hn(x) =

Γ

(
d+γ̂−1

kn
+1

2

)
Γ

(
γ̂−1
kn

+1

2

) γ̂−1
kn

π− d
2(

d+ γ̂−1
kn

)
ĝhn(M(x))
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�
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	 0777���.�2 �� 0�+2#

����������� 	� 01�
���
�� ��%�&���
'�� 	� �̂kn,hn(x)2� �� gd �� K ������		�
� ��	
��

����
	 (i) − (iii) 
� �������� �� 
� ���

��� �� 	��	 ��$������	� %� �� 	� 
� ���	

lim
n→+∞

√
knA

(
n
kn

)
= 0� �
 � ��	 �������
	 �	����������	 	����
��	 �

&�' �� nhn/kn →
n→+∞

+∞� �� √knh
2
n →

n→+∞
0� ����	

√
kn

(
�̂kn,hn(x)− �(x)

)
→

n→+∞
N (0, V1 (γ, cdgd(M(x)))) . 0777�#�2

&��' �� nhn/kn →
n→+∞

0� �� nh5
n →

n→+∞
0� ����	

√
nhn

(
�̂kn,hn(x)− �(x)

)
→

n→+∞
N (0, V2 (γ, cdgd(M(x)))) ,
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V1(γ, cdgd(M(x))) = π−dγ2

c2dgd(M(x))2

Γ

(
d+γ−1+1

2

)2

Γ
(

γ−1+1
2

)2
[

Ψ

(
γ−1+1

2

)
−Ψ

(
d+γ−1+1

2

)
2γ2(dγ+1)

− d
(dγ+1)2

]2

V2(γ, cdgd(M(x))) =
Γ( d

2)
M(x)

d
2−1π

d
2
cdgd(M(x))

∫
K(u)2du

[
Γ

(
d+γ−1+1

2

)
Γ
(

γ−1+1
2

) γ−1π− d
2

(d+γ−1)c2dgd(M(x))2

]2 .

��������

������ � �	 
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���	 �� ���
��	 (ĝhn(M(x))− cdgd(M(x))) = OP(h
2
n) 	� Var [ĝhn(M(x))] =

OP((nhn)
−1)� �� kn = o(nhn) 	�

√
knh

2
n →

n→+∞
0� �� ��	��

√
kn (ĝhn(M(x))− cdgd(M(x)))

L2→
n→+∞

0� �� 
���	�� ��
�� �� �
������� ������
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(
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ĝhn(M(x))− cdgd(M(x))
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n→+∞
N
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0
0

)
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(
γ2 0
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))
.
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��	 �(x) = u(γ)� �� ����
$	 $	��� ����� !	√
kn

(
�̂kn,hn(x)− �(x)

)
→

n→+∞
N (0, u′(γ)2γ2

)
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u′(γ) =
π−d/2

cdgd(M(x))

⎡⎣Γ
(

d+γ−1+1
2

)
Γ
(

γ−1+1
2

)
⎤⎦′ [

1

dγ + 1

]
+

π−d/2

cdgd(M(x))

⎡⎣Γ
(

d+γ−1+1
2

)
Γ
(

γ−1+1
2

)
⎤⎦[ 1

dγ + 1

]′
.
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)
Γ
(
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2

)
⎤⎦′

=
1
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Γ′
(

γ−1+1
2

)
Γ
(

d+γ−1+1
2

)
− Γ′

(
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2

)
Γ
(

γ−1+1
2

)
Γ
(
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2
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)
Γ
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)
⎤⎦′
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1
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Γ
(
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)
Γ
(

γ−1+1
2
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Ψ

(
γ−1 + 1

2

)
−Ψ

(
d+ γ−1 + 1

2

))
.
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N
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0
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⎛⎝0 0

0
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d
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π
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cdgd(M(x))
∫
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��

����������� 	
 "�������
� ��#��
�
���� 
� (η̂kn , �̂kn,hn(x))$� �� gd �� K ������		�
� ��	

��

����
	 (i)−(iii) 
� �������� �� 
� ���

��� �� 	��	 ���������	� �� �� 	�
√
knA

(
n
kn

)
→

0 ���

 n → +∞� ����	 �
 � ��	 �������
	 �	����������	 	����
��	  

!�" �� nhn/kn →
n→+∞

0 �� nh5
n →

n→+∞
0� ����	

√
nhn

(
�̂kn,hn

(x)− �(x)
η̂kn

− η

)
→

n→+∞ N
((

0
0

)
,

(
V2(γ, cdgd(M(x))) 0

0 0

))
, ��������

�# V2(γ, cdgd(M(x))) �	� 
�

� 
�
	 ��$������
 "%&$%

!��" �� nhn/kn →
n→+∞

+∞ ��
√
knh

2
n →

n→+∞
0� ����	

√
kn

(
�̂kn,hn

(x)− �(x)
η̂kn

− η

)
→

n→+∞ N
((

0
0

)
,

(
V1(γ, cdgd(M(x))) −dγ

√
V1(γ, cdgd(M(x)))

−dγ
√

V1(γ, cdgd(M(x))) d2γ2

))
,

��������

�# V1(γ, cdgd(M(x))) �	� 
�

� 
�
	 ��$������
 "%&$%

���
�� � �� ������ 
� ��

� �������
��	 ��
 ������ 
� ����� 
� �� '������
��	 %&�

"�$ (� ��� ��
 ����
��
� �	 �
����� 
��)��
 �� �����
�
 
� ������
��	 ""�$$� *� �����
���#��
���� nhn = o(kn) 
�		� 
����
���	
 �� �����
�
 ""�$$�

"��$ �	 ���	�����	
 
� �� ������ 
� �� '������
��	 %&� �	 �������� �� 	������
� ��#��
�+

���� , √

kn

(
γ̂kn − γ

ĝhn(M(x))− cdgd(M(x))

)
→

n→+∞
N
((

0
0

)
,

(
γ2 0
0 0

))
.

�	 ���
 ����� ������ �� ������ 
���
���
���� ����� -�	�
��	 
� γ̂kn �(
�̂kn,hn (M(x)) , η̂kn

)
= f(γ̂kn) = (f1(γ̂kn), f2(γ̂kn))



������� ������	
� 
��
��
� ��

�� ����	
� 
���� �
��������� 
	��� ��	�� �� �	������� ������	���
�� ���� 
�� ���
����� 
� �	��������

γ2

(
(f ′

1(γ))
2 f ′

1(γ)f
′
2(γ)

f ′
1(γ)f

′
2(γ) (f ′

2(γ))
2

)
.

���� ��� ��������	�� 
� � (M(x)) �� η 
� ����
���	� ����� 	� � f ′
2(γ) = d !� ��
��

��� ����
�� �"���
�� 
��� �� #�	�	����	� �$ 
	����� f ′
1(γ) =

√
V1(γ, cdgd(M(x)))/γ�


�	% �� ���
���� ������ 

�
�� �� &����� �
� ��� ��������
�� ����	

��� 
��� ����� �����	�� �	
� ��	�	�	�� 
��� ��

�����	� �
������ 
�� ��������
�� �	
� ��� �
������� �	�
���	����� ����'��� qα (Y |X = x) 

�������� ����	
���� 
�� ��
������ �����	��

(� �������� �
� ��� �
������� �	�
���	����� ���	���
�� qα (Y |X = x)� 
	���� ��� ����
��
��	� �))) � � �� 
����
��� 
� �� *	����	� �
������ �	�
���	������ Φ−1

Y |x (� � �	
� �	��� ����

*	
��� 
�� ���
����
�� qEα↑(Y |X = x) �� qEα↓(Y |X = x) 
��� �� !�+����	� �,� 
����
���


� �� *	����	� �
������ ���	�
���	������ Φ−1
Y � ����� �
� 
�
� �����-���� η �� �(x) �
� ��	�

���� ������� .�/�� 0 �� �����	� �����
���� ��	&1����* 
� ����� �����	� ��� 
	�� 
� *	
��
��� 
�� ��������
�� q̂Eαn↑(Y |X = x) �� q̂Eαn↓(Y |X = x) �	
� 
�� �
���� αn → 1 �	���
�
n → +∞ (� �	
����� �.������� �	���
���� ��� ��� 	% αn → 0 2����
���� 	� 
���
�

� �� �	������� �
 ��� 	% �� �����
 
� �
������ ���
 ���� �� �� ��� 	��	�� �	
���� '���
*��������� 
�

�� 
�� ��	������� 
� �������� 
�� 
�����&
��	�� ��������
�� #	
� ����� 	�

����� ����

� �� 
�
� ��� 3

4 5
������� �������
������� � � 	� �
��	�� n(1 − αn) → +∞ �
��
 n → +∞ 2���
��.��+� �
� ����������	� 

 �
������ 
� �����
 αn �	�

�� 0 
�� ������	����	� �
�
��� 
	����� 	&������� 

4 6�
�� �
������� � �������� 
� 7
� 6��� ��
 8		�9��� �$$:;� 	� �
��	�� n(1−αn) →
0 �	���
� n → +∞� � � 	� � &��	�� 
�������	��� �	��� ���������	� 

����� 
� ������� ��� 
�
� ��� 
� +.
�� 
������������� 	� ����	

�� 
��� �� ����.�����
�
����� ��������� �	�
���	�� �
� �	
� ������	�� 
��� ����� �����	� 

���������� ���	
�
���

�� �������� 	
	 ���
���� 
���	�	��� ��� 
�� ��	��� kn� hn �� αn� �� �����

� ��� kn →
+∞� kn = o(n)� hn → 0� nhn → +∞ ����� n → +∞� �� ����	� 
�� 
���	�	��� C� Cint ��
Chigh 
���� ��	� �

� (C) � kn = o(nhn)� hn → 0� nhn → +∞�
√
knh

2
n → 0 ��

√
knA

(
n
kn

)
→ 0 �����

n → +∞� �� ������ ���
����� ��� gd �� K ���	����� 
�� 
���	�	��� �	���			� ��
��������  ! �� 
"#���$� %�



�� �������� ���	 
�����
�� �����������
�

� (Cint) � αn → 1� ln(1−αn) = o(
√
kn) ��

√
kn

ln(1−αn)
= o
(√

n(1− αn)
)
�	
�� n → +∞


� (Chigh) � n(1 − αn) → 0� ln (n(1− αn)) = o(
√
kn) �� ln(1−αn)

ln( n
kn

(1−αn))
→ θ ∈ [0,+∞[

�	
�� n → +∞


�
 ��������� (C) ��� ����	�� 
	� ��	� 
��������� �� ��� ������
��� ��	� �	� �������
��	�
�� ���� ���� 
���������	����� ������
���� ������������  ��!�	
���� "###
$
�
%
 &� ��	��
kn = o(nhn) ��

√
knh

2
n ������	��� �	� γ̂kn "��������'����� η̂kn% ���'��(� '��� γ "���������

'����� η% ��	� '��� �	� �̂kn,hn(x) '��� �(x)
 !� ��
���	�� ����� ��������� ������ 
����������
�
� kn �� ���� �
� )��� ���� (�
�� ��	� �	� �������
��	� �� ���� ���� 
���������	�����
������
���� �� nhn ���� )��� �	*�
����� (�
�� ��	� ��	���� 	�� ����� �����
���� ��
�(x)
 !�+�� ��� ���������� �	� �
 ������� �� �� ���
	 K ���� ������
����  �
 ����
����

���������	� �� �������
��	� ",�%

��� ���������� (Cint) �� (Chigh) '��� )��� ��������'����� 	�������� ��	� ��� �	
������ ������
����
���� �� �
	��� �� ��������� 	���	����� ��� �	���� kn �� αn
 &
�� �� �	� �� ������
��� ���������� ��	� ���	���'��� �� ������� 	� ������� ������ � �� ������� ��� �	���� ��	�
��� ������ ��������
��� kn = nb� 0 < b < 1 �� αn = 1 − n−a, a > 0
 #� ��� �
���� ��
'��� �	� ln(1 − αn) = o(

√
kn) �� ln(n(1 − αn)) = o(

√
kn) , ∀a > 0, 0 < b < 1
 -�����

�
���
√
kn

ln(1−αn)
= o

(√
n(1− αn)

)
�� �� ��	������ �� a < 1 − b� �
�
 n(1 − αn) → +∞

�	
�� n → +∞
 .	�������� �� a > 1 "�	 �� �
��/�� ��	�'
����� n(1 − αn) → 0 �	
��
n → +∞%� 
���� (Chigh) ��� ������� 
'�� 	� θ �
����	���� �	� ��	� ������� ��	� �
��

0�	� 
1�	���� �(
������ ��� ���������� ��	� ������

(
CHG

int

)
��
(
CHG

high

)
	�������� ��	� �
��

��	� ��� ���	��
�� �� ����
���� 
���������	� �

�
(
CHG

int

)
� (Cint) ��� �������
 &� ��	��

√
kn(1− αn) = o (ln(1− αn)) ��

lim
n→+∞

√
kn

ln (1− αn)
(1− αn)

min(−ρ,2γ)
γd+1 = 0.

�
(
CHG

high

)
� (Chigh) ��� �������
 &� ��	��

lim
n→+∞

√
kn

ln
(

kn
n(1−αn)

) (1− αn)
min(−ρ,2γ)

γd+1 = 0.

-�� ����������� ������
�� ��� �	���� kn� αn �� ��� ������� �� '
��	�� ����)��� γ �� ρ
������	��� �
�� ��������/�� �� �� ���� �
� ������
���� ��	� ��� ���	��
�� �� �����������

!� ��'
����� ����� �� ���� ��	� ��� ���	��
�� �� ����
���� 
���������	�


���������� ���	
��
� �	

��������
�

2� ������/�� �� �
� �3 αn → 1 �� n(1−αn) → +∞ �	
�� n → +∞
 !� �� �
�
�� �	�
�� 4����/�� �
�
, �� 5�� �

� 
�� 6������
� �7789� �� ��+��� �������
��	� q̂Eαn↑(Y |X = x)

��	� qEαn↑(Y |X = x)
 :
������� ��	� ����� ��+������ �
 ���
���� ΛXΛ�
X = ΣX 




������� ������	
� 
��
��
� ��

��������� �	 ������	�
�� 

 ��	����
� ���
���
�	��
��
 �� ������
(
q̂Eαn↑(Y |X = x)

)
n∈N

�	

� �

q̂Eαn↑(Y |X = x) = μY |x +
√
ΣY |X

(
W[nṽn+1]

) 1
η̂kn ��������

	
 ṽn =
(
2 + �̂kn,hn(x)

(
1

1−αn
− 2
))−1

�� W ��� �� ���
���� �	� ��������

��� ���
�	���

��������� �	
�	����� �� ������� Λ−1
X (X − μX)�

�� 
����
 
��� 
	�� �� ��
��
� �
��� �� ��	����
 

 ���
	� 1 − vn� �� vn =(
2 + �(x)

(
1

1−αn
− 2
))−1

� ���� ��
���
� ���
������� �� 
�� �������
 
 ���
��� �	 ����	!

���� 	�"��������
 

 q̂Eαn↑(Y |X = x) �	� �	����� 	� ���
���
�� qEαn↑(Y |X = x)� 
� �	�
�������
�� �	 ����
�#
��
 �
�� �
 ��	����
 �$������
 qαn(Y |X = x)�

����
��� �� �%������	��
 

 q̂Eαn↑(Y |X = x)�
 �	�� �����	�����  ! �� ��� �	�����	��
(C), (Cint) �

√
kn

ln (1− αn)

(
q̂Eαn↑(Y |X = x)

qEαn↑(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

d2γ4

(γd+ 1)4

)
. ������&�

"�� �	�������� �
q̂Eαn↑(Y |X = x)

qαn(Y |X = x)

P→ 1 �	����� n → +∞. ������'�

�
���� � (	�� �� ��
��
� �
���� �� �
�	���
 ��
 ṽn 
��
�
 

 �̂kn,hn(x)� �
��� �	
)���������� *+� ��� �������
 ��
 � �� �
�� �
���	�
� ṽn �	� vn 
	�� � ���	���� ��*�� (

����� �� 
�������
 ,

√
kn

ln (1− αn)

(
q̂Eαn↑(Y |X = x)

qEαn↑(Y |X = x)
− 1

)
∼

n→+∞

√
kn

ln (1− αn)

((
W[nṽn+1]

)1/η̂kn
Φ−1

Y (1− vn)
1/η

− 1

)
=

√
kn

ln (1− αn)

⎛⎝ (
W[nvn+1]

) 1
η̂kn

Φ−1
Y (1− vn)

1
η̂kn

− 1

⎞⎠Φ−1
Y (1− vn)

1
η̂kn

− 1
η+

√
kn

ln (1− αn)

(
Φ−1

Y (1− vn)
1

η̂kn
− 1

η − 1
)

���� � -"���$.�
 �� 
� �
��� �	 )���������� *& 
� �
 /$���.�
 ����* 
	�� 0

 -		� 	�
 1
��
��	� �22&3
�	�
� (C)�� �� 	 , ⎧⎪⎨⎪⎩

√
kn

(
1

η̂kn
− 1

η

)
→

n→+∞
N
(
0, d2γ2

(γd+1)4

)
√
nvn

(
(W[nvn+1])
Φ−1

Y (1−vn)
− 1

)
→

n→+∞
N (0, γ2)

,



�� �������� ���	 
�����
�� �����������
�

�� ������ ��	 vn 	
� ����
��	�� � �(x)−1(1 − αn) ����� n → +∞� 	� ����	 � (Cint)� ��

�	�� √

kn
ln (1− αn)

⎛⎝ (
W[nvn+1]

) 1
η̂kn

Φ−1
Y (1− vn)

1
η̂kn

− 1

⎞⎠→ 0 ���
��	 n → +∞.

�	 ���
� 
��
 ���������
	 �� ln
(
Φ−1

Y (1− vn)
)
	
� �����	�	�� ����
��	�� � −γ ln(vn)� ��

−γ ln(1 − αn)�  ���
 (Cint) �������	 Φ−1
Y (1− vn)

1
η̂kn

− 1
η → 1 ����� n → +∞� 	� ���

���
���	�� �	 ��	��	� �	��	 �	 �� �������
����� �	�� 
	�
 !� "� �	
�	 	����	 � ������	� ��
�����	 �� 
	���� �	��	� "� ��	
� ��
 ��������� �	 �	�����	� ��	

√
kn

ln
(
Φ−1

Y (1− vn)
) (Φ−1

Y (1− vn)
1

η̂kn
− 1

η − 1
)

→
n→+∞

N
(
0,

d2γ2

(γd+ 1)4

)
�� �����
��� ������
��	��	 ln

(
Φ−1

Y (1− vn)
) ∼ −γ ln(vn) ∼ −γ ln(1 − αn)� �� �#��	�� �	

��
����� $�%&�  
	� �� �	������ $%%&� �� ���
�
����	 $�%& 	
� �
��	��	� �
'� �(�	 ��������� �
���������	 ��	 $�%& �	�� (��	 �#�	��	 	� �	����)��� qEαn↑(Y |X =

x) ��� �	 �������	 ��������	 qαn(Y |X = x) 
��
 �� ���������

lim
n→+∞

√
kn

ln (1− αn)
ln

(
Φ−1

Y (1− vn)
1
η

Φ−1
Y |x(αn)

)
= 0.

*	��	 ��������� 	
� ��+���	 � 
���,	� ���
 �	 ��
 �������� -��
 �
��
 	� 	.	� #	
���
����	 	/���
��� �	 
	���� ����	 �	 ���������� $%%&� 0��
 �	
 ���������
 �	 
	���� ����	
�� �������	 ������������	� Φ−1

Y $�����	
 ���
 ���������
	 �& �	 
��� ��
 ���	

���	�	��
�	
 �(�	
 ��	 �	��	
 �� �������	 ����������	� Φ−1

Y |x� �	 ��� �	�� ������	 ���������	� *	1
�	������ ���
 �	�����
 ��
 
����	
� �� 	
� ����#�	 �	 
������	� �	��	 ��+������ *�	
�
�������� �� ���
	��	 ��	 ���
	��	 �������
	� ���
 2���	 ��	 ���������
	 �� ���
 �� 
���	�
�� 
	 ��2��	�� � �	��	 �������
	 ���� �	�����
 ��
�����
 �	 ��������� �
���������	�

��������	 
� ∀d ∈ N
∗� �� ������ λ1, λ2 ∈ R ���� �	� 


cdgd(t) = λ1t
− d+γ−1

2

[
1 + λ2t

ρ
2γ + o

(
t

ρ
2γ

)]
. $"""��3&

"� 	
� �
��	�� ��	 ���������
	 4 �������	 ���������
	 �� �� 	.	�� ���2�����	�� �
5��� ��� 6�	� �!%%7� ���������� $4& 
����,	 ��	 c1g1(t

2) 	
� � 
�������� ��������	 �	 
	1
���� ����	 �������	
 −1 − 1/γ� ρ/γ 	� ��	 2������� ��/������	 �����������	��	 � tρ/γ� '�
8����
����� 9 �	 5��� ��� 6�	� �!%%7 �������	 ����
 ��	 ΦY 	
� � 
�������� ��������	 �	

	���� ����	 �������	
 −1/γ� ρ/γ 	� �	 �(�	 ���	 �	 2������� ��/������	� :����	�	��� ��	
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 �� ;	����� """����



������� ������	
� 
��
��
� ��

����������� 		 ������	
�� �
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��� �� q̂Eαn↑(Y |X = x)�
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����


����� � �� 	�� ���������� (C),
(
CHG

int

)
������ ������������ �	��� �

√
kn

ln (1− αn)

(
q̂Eαn↑(Y |X = x)

qαn(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

d2γ4

(γd+ 1)4

)
��������

����
� � �� �����		� ��� 	� ���

�� �� ΦY |x �
� �������
����		� � cd+1gd+1 (M(x) + t2)�
��� ��� 	������� 
� !� 
	 �"

�� λ1, λ2 ∈ R ��	
 ��� #

cd+1gd+1

(
M(x) + t2

)
= λ1

(
M(x) + t2

)− d+1+γ−1

2

[
1 + λ2

(
M(x) + t2

) ρ
2γ + o

(
t
ρ
γ

)]
$��"���


�� ���%������ ���� &��� ���%�
�� %���� 
�
�� �' λ1, λ2, λ3 ∈ R #

cd+1gd+1

(
M(x) + t2

)
= λ1t

−(d+1+γ−1)
[
1 + λ2

(
M(x) + t2

) ρ
2γ + λ3t

−2 + o
(
t
ρ
γ

)]
(��
 	� )�� ������� 	� ����*�� �� �� ����
		� ��
 	�
 *�	���
 ��
 %��
�����
 λi� �		�
 �� 
���
�� �+�� ��
 
��

���
�)	�
� (��
 	� %�
 ρ/γ ≤ −2� �� �)�
���

cd+1gd+1

(
M(x) + t2

)
= λ1t

−(d+1+γ−1)
[
1 + λ2t

−2 + o
(
t−2
)]

, λ1, λ2 ∈ R

,� �������
 �����
� cd+1gd+1 (M(x) + t2) �
� � *��
��
�� ��-�	
 �� �� 
�%��� ����� ��
��
%�

(d+ 1 + γ−1)

−1
� −2� �� ��� .��%�
�� ��"
	
�
�� �������
����		� � t−2� /�	�� 	� 0����

�
��

1 �� 2��� ��� 3��� �4556� 	� .��%�
�� �� 
��*
� ΦY |x(t) =
∫ +∞
t

cd+1gd+1 (M(x) + u2) du ∈
2RV

(
(d+ γ−1)

−1
,−2
)

�*�% ��� .��%�
�� ��"
	
�
�� �������
����		� � t−2� (� ���
 ��

���
*�	����� 
	 �"

�� λ1, λ2 ∈ R ��	
 ���

Φ−1
Y |x

(
1− 1

t

)
= λ1t

γ
γd+1

[
1 + λ2t

− 2γ
γd+1 + o

(
t−

2γ
γd+1

)]
$�
 ������ 
�
 � �� ! ������� Φ−1

Y (1− 1/t) = λ3t
γ [1 + λ4t

ρ + o (tρ)]� 
	 *
���

Φ−1
Y (1− vn)

1
η

Φ−1
Y |x(αn)

= �(x)−
γ

γd+1

(
1− αn

vn

) γ
γd+1 1 + λ1v

−ρ
n + o (v−ρ

n )

1 + λ2(1− αn)
2γ

γd+1 + o
(
(1− αn)

2γ
γd+1

)
���� %����
��
 %��
�����
 λ1, λ2 ∈ R� (��
 %� %�
� �� � %��

���� ρ ≤ −2γ� ���' −ρ >
2γ/(γd+ 1)� �� �� ����
� ���% 	��"���

�� 
�
*���� #

Φ−1
Y (1− vn)

1
η

Φ−1
Y |x(αn)

= �(x)−
γ

γd+1

(
1− αn

vn

) γ
γd+1 [

1 + λ(1− αn)
2γ

γd+1 + o
(
(1− αn)

2γ
γd+1

)]



�� �������� ���	 
�����
�� �����������
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���� ��� 	��
���� 	��

��
� λ ∈ R� �� ���
 ��������� ��� (1−αn)/vn = 2(1− �(x))(1−
αn) + �(x)� �
 ��
���

��
 ���
 ��
�����
 � �� ����
� �

lim
n→+∞

√
kn

ln (1− αn)
ln

(
Φ−1

Y (1− vn)
1
η

Φ−1
Y |x(αn)

)
=

γ

γd+ 1
lim

n→+∞

√
kn

ln (1− αn)
ln

(
2
1− �(x)

�(x)
(1− αn) + 1

)
+ lim

n→+∞

√
kn

ln (1− αn)
ln
(
1 + λ(1− αn)

2γ
γd+1 + o

(
(1− αn)

2γ
γd+1

))
�� ������� 
���� �

 
����� � 	��	����� �� ���
� �
��
 ����� ���

√
kn(1−αn)/ ln (1− αn) →

0 ����� n → +∞� �� �����


lim
n→+∞

√
kn

ln (1− αn)
ln

(
2
1− �(x)

�(x)
(1− αn) + 1

)
= 2

1− �(x)

�(x)
lim

n→+∞

√
kn

ln (1− αn)
(1− αn) = 0

��� �� 	��	�� 
��������� �� 
�	��� 
���� 
��� ��������
 ���
 �� �� 
����
��

(
CHG

int

)
� ��

�� �����
 ����
� �� �
���
��
 �� � ���!�� "# �

√
kn

ln (1− αn)

(
q̂Eαn↑(Y |X = x)

qαn(Y |X = x)
− 1

)
∼

n→+∞

√
kn

ln (1− αn)

((
W[nṽn+1]

)1/η̂kn
Φ−1

Y |x (αn)
1/η

− 1

)
=

√
kn

ln (1− αn)

((
W[nṽn+1]

)1/η̂kn
Φ−1

Y (1− vn)
1
η

− 1

)
Φ−1

Y (1− vn)
1
η

Φ−1
Y |x(αn)

+

√
kn

ln (1− αn)

(
Φ−1

Y (1− vn)
1
η

Φ−1
Y |x(αn)

− 1

)

→
n→+∞

N
(
0,

d2γ4

(γd+ 1)4

)
$��	��
���
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 ����
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�� �� 	�
 ρ/γ > −2� �� ������ �

 �%�	
����
 �� �&���
���	

cd+1gd+1

(
M(x) + t2

)
= λ1t

−(d+1+γ−1)
[
1 + λ2t

ρ
γ + o

(
t
ρ
γ

)]
, λ1, λ2 ∈ R

��
 �&��
 	��	��
 �
 �� 	����
��� ��
(
CHG

int

)
lim

n→+∞

√
kn

ln(1−αn)
(1− αn)

− ρ
γd+1 = 0 	�����
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q̂Eαn↑(Y |X = x) ���
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 ��� ���
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 ������ ���
 Φ−1

Y |x(αn)/Φ
−1
Y (1−

vn) )���� ����
��� )##** 
��� ���
 # ���
����
�

���������� ����	 
�����
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�� 	��
��!�� ����
����
 n(1− αn) → 0 ����� n → +∞� .��
 �� ��-��
��� ��� 
��
�
�� ��
�����
 �� ������ �

���
��� ˆ̂qEαn↑(Y |X = x) ���� qEαn↑(Y |X = x)� �
 ���	 ����
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qαn(Y |X = x)� ������	
��
 �������� ��� ��� ���� ��� ��������
 ����� 	� ���������
 �����


	���� � ! ������� ��� ��� � �� ���������� kn
 � ��� �"���� "�� ��	���� �� �� #���� �	� ��$
%�"�&���

��������� �	 '(� ��� ��� �� ��� )��� �"�*
 �� ������
(
ˆ̂qEαn↑(Y |X = x)

)
n∈N

�	

� �

ˆ̂qEαn↑(Y |X = x) = μY |x +
√
ΣY |X

[
W[kn+1]

(
kn
n

(
2 + �̂kn,hn(x)

(
1

1− αn

− 2

)))γ̂kn
] 1

η̂kn

.

'+++�,�*

�� -� �� ���� ���� ��� ����� "�� ��	���� �� ��.�� 	 �)��� �� ˆ̂qEαn↑(Y |X = x)�
/	��� �	�� "�� )��� �"�� �� �����������
 	� ��	�	�� �� ����" � �� �	���"� � ��.�� 	$
 �)��
 )�� "�	� �0���� ��� "� ��� � �	�� "��.�	 �&�� ,�

����
��� �� '/	���� ��
� �� ˆ̂qEαn↑(Y |X = x)*
 �� �	�� vn = (2 + �(x) ((1− αn)
−1 − 2))

−1

�� ṽn =
(
2 + �̂kn,hn(x) ((1− αn)

−1 − 2)
)−1


 �	�� �����	����� �� �� ��� �	�����	�� (C), (Chigh) �

√
kn

ln
(

kn
n(1−αn)

) ( ˆ̂qEαn↑(Y |X = x)

qEαn↑(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

(
γ

γd+ 1
− θ

dγ2

(γd+ 1)2

)2
)
. '+++�,�*

��� �	�������� �
ˆ̂qEαn↑(Y |X = x)

qαn(Y |X = x)

P→ 1 ����� n → +∞.
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���� � 1����&����� 
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√
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ln
(
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n(1−αn)

) ( ˆ̂qEαn↑(Y |X = x)

qEαn↑(Y |X = x)
− 1

)
∼

n→+∞

√
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ln
(
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n(1−αn)

)
⎛⎜⎜⎜⎝
[
W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn

Φ−1
Y (1− vn)

1
η

− 1

⎞⎟⎟⎟⎠
2� �"��
[

W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn

Φ−1
Y (1− vn)

1
η

− 1 =

⎛⎜⎜⎜⎝
[
W[kn+1]

(
kn
nvn

)γ̂kn] 1
η̂kn

Φ−1
Y (1− vn)

1
η

− 1

⎞⎟⎟⎟⎠
(
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ṽn

) γ̂kn
η̂kn

+

(
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ṽn

) γ̂kn
η̂kn − 1.
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√
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(
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)
⎛⎜⎜⎜⎝
[
W[kn+1]

(
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nṽn

)γ̂kn] 1
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Φ−1
Y (1− vn)

1
η

− 1

⎞⎟⎟⎟⎠ ∼
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√
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ln
(
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nvn

)
⎛⎜⎜⎜⎝
[
W[kn+1]

(
kn
nvn
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Φ−1
Y (1− vn)

1
η

− 1

⎞⎟⎟⎟⎠ .
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����� ����� 	� �	� ���� ��	 ��������� ��� !� (C) �
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√
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(
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nvn

)
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(
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nvn
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Φ−1
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√
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(
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nvn
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− 1
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���� �� �� ��
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√
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− 1
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1

η̂kn
− 1

η − 1
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N
((

0
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1
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⎛⎜⎝
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����� � 
��
����� �� ���	� 
���� n(1−αn) → 0 �	 kn = o(n) �����

n → +∞� �� �����	

lim
n→+∞

√
kn

ln
(

kn
n(1−αn)

) ln

(
2
1− �(x)

�(x)
(1− αn) + 1

)
= 2

1− �(x)

�(x)
lim

n→+∞

√
kn

ln
(

kn
n(1−αn)

)(1−αn) = 0

��� �� 
��
�� 
��������� �� 
�
��� 	���� 	��� ��

� ���
 �� �� 
����
��	
√
kn

ln( kn
n(1−αn))

(1− αn)
2γ

γd+1 →
0 ����� n → +∞� �� �����	 ����
� � ������ �� �� �����
�	��� �� �

√
kn

ln
(

kn
n(1−αn)

) ( ˆ̂qEαn↑(Y |X = x)

qαn(Y |X = x)
− 1

)
∼

n→+∞

√
kn

ln
(

kn
n(1−αn)

)
⎛⎜⎜⎜⎝
[
W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn

Φ−1
Y |x (αn)

− 1

⎞⎟⎟⎟⎠

=

√
kn

ln
(

kn
n(1−αn)

)
⎛⎜⎜⎜⎝
[
W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn

Φ−1
Y (1− vn)

1
η

− 1

⎞⎟⎟⎟⎠ Φ−1
Y (1− vn)

1
η

Φ−1
Y |x(αn)

+

√
kn

ln
(

kn
n(1−αn)

) (Φ−1
Y (1− vn)

1
η

Φ−1
Y |x(αn)

− 1

)

→
n→+∞

N
(
0,

γ2

(γd+ 1)2
− 2θ

dγ3

(γd+ 1)3
+ θ2

d2γ4

(γd+ 1)4

)
.

 �	���

��
 ���
 ����	����	 �� 
�
 ρ/γ > −2� �� ������ �
	 �!�
	����	 �� �"��� ���


Φ−1
Y (1− vn)

1
η

Φ−1
Y |x(αn)

= �(x)−
γ

γd+1 (2(1− �(x))(1− αn) + �(x))
γ

γd+1

[
1 + λ(1− αn)

−ρ
γd+1 + o

(
(1− αn)

−ρ
γd+1

)]
, λ ∈ R

�� �
��	 ��
 �"��
 
��
��
� �	 
����
��	 lim
n→+∞

√
kn

ln( kn
n(1−αn))

(1− αn)
− ρ

γd+1 = 0� �� ������

�� ��
��	�	� �
�� ���	 #���� �!�
	����	 �� �"�� �������� ��� 
���� �� �� �����
�	��� �� 
��
�����	

�� 
�����	����	 �� �� ������
� �
$��	�	���� ���
��� �� ���%�� �� 
������%��
 d ������	

&�����

�� '�
	���    �(� �����
� ��� �����
�	��� ��������� ���
 ��� ��
	��%�	��� ���� ��������
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�
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	�� ��
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 ���
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������ ��
 ����	�	���
 �� ��� �� '	����	� 
�� �� 
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������� ����� ��	
����� ��

���� �� ��� 	
 ��
���� 	� ����
	� �������
� ��� �
����	�� �����������	� ���� �� �	
�� �	
��� ��������� ���� ��� ���� ��� ��������� �  !" �
� 	�� �� #�
���� 
 ν ��$��� �� 	�%����
��������� 	&�'����(�� � �)�� ��� ������� γ = 1/ν� ρ = −2/ν �� 
�� �������� �
*�	����� A(t)
������������		� 
 t−2/ν � +�,�� 	� ������%
���� �� #�
���� ��������� 	&�'����(�� -� �� �
�
�� ���� 
� ������� �*���	� 
 ��
����� .� ��
��� �	��� �)��� 
�� ���� ������� �� 	&�/������
�� ��� ��������
���

�������� �����	
�� 	���
���	�	
��

.� ���
	� ���� �    �������		��� Z1 = (X1, Y1), . . . ,Zn = (Xn, Yn) �� n ���
	������
�&
�� 	�� �� #�
���� 
 ν = 1.5 ��$��� �� 	�%����� �� ��������� d+ 1 = 4� 0�
� ����	�,���
�� ������� μ = 0R4 �� Σ = I4� .� �
����� �$�	����� �
� 	� )�	�
� �� 	� ��)����%	�
�%���)�� ��� ��		� �
� M(x) = 1� ���� �� ������ 	&+�
����� ��� �����

qαn(Y |X = x) =

√
5

9
Φ−1

4.5(αn).

.� ������� �	��� �� �������� 	�� ������������� ��'�������
�� �� ��� ��������
�� η̂kn �
�̂kn,hn(x) �� q̂Eαn↑ (Y |X = x)� .� ����(�� ���� 
� ������� ����� �
 ����* �� ��� �
����

kn� hn �� αn� 0�
� ��	�� �� �� ����������� �
� 	�� �
���� �� 	� ����� kn = nb, b < 1�
hn = n−c, c < 1 �� αn = 1− n−a, a < 1� .� ���� ������� 1
�����
������ ��� �����(���� a�
b �� c �� ����(�� 
 �� �
&�	� ������������ (C)� (Cint) ��

(
CHG

int

)
� 2	 )���� �
� 	� ���������

(C) ������ b < 1 − c� b < 4c �� b < 4
ν+4

� �� �	
�� (Cint) �1�
�� b ≤ 1 − a� +�,�� (CHG
int )

�1�
�� b ≤ 2a �� b ≤ 4a
d+ν

�
3� ����* kn = n0.45� αn = 1− n−0.55 �� hn = n−0.15 ���%	� 4��� 
� %�� ���������� �� ���
,�(	� 
 ��
��� 	�� �'����(���� .� ������� �$�	����� 	� ������� $�
������� ����� ��'�

K ���� 	&��������
� �� �̂kn,hn(x)� .� ���
�� �	��� �������
������ ���� 	� 5�%	� 222���
	�� )�������� ��'�������
�� �� ��� ��������
��� ���� 	� �����(�� 	�$�� ���� ������� 	��
)�������� ��'�������
�� �������
�� ��	�
	��� ���� 	�� +�
������ ������ �� ����� 6����	���
�
� ����� �����*������� qEαn↑ )�
� ���� �� ��� �� ,$
�� 7

qEαn↑ (Y |X = x) = Φ−1
1.5

(
1− 1/

(
�(x)(1− αn)

−1 + 2(1− �(x))
))1/3

.

3� �����(�� ��	���� �� 	� 5�%	� 222�� ����� �	��� 	� ������������ ��'�������
� ��
q̂Eαn↑ (Y |X = x) ��� ������� 
 qEαn↑ (Y |X = x)� 0�
� ����	�,��� �� ������
�� 	�� ���������
�
�)����� 7 ⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩

v̂�(x),η = V̂ar

[√
kn

(
�̂kn,hn(x)− �(x), η̂kn − η

)�]
,

v̂qE = V̂ar
[ √

kn
ln(1−αn)

(
q̂Eαn↑(Y |X=x)

qEαn↑(Y |X=x)
− 1
)]

,

v̂q = V̂ar
[ √

kn
ln(1−αn)

(
q̂Eαn↑(Y |X=x)

qαn (Y |X=x)
− 1
)]

.



�� �������� ���	 
�����
�� �����������
�

������ �	
 ��
����	�
 V̂ar �
��
�
��
 �� �������
 �
�	�

 �	� ��
���������� �
 �����
 � ����

n αn v̂�(x),η v̂qE v̂q

� ��� ���������

(
39.89251 −11.30352
−11.30352 3.877192

)
���������� ����������

�� ��� ���������

(
34.93154 −11.45070
−11.45070 4.010496

)
���������� ����������

��� ��� ���������

(
29.65537 −10.69910
−10.69910 3.947848

)
���������� ����������

� ��� ��� ���������

(
30.94410 −11.35545
−11.35545 4.206882

)
���������� ����������

� ��� ��� ���������

(
28.75429 −10.54041
−10.54041 3.889293

)
���������� ����������

+∞ �

(
28.98503 −10.76755
−10.76755 4

)
���������� ����������

�����    �� ! "������
� ��#�������	
� �
�	�

� 
� ��
����	
 $��	� n = +∞% �
 ���

������
	��

&���
������ ��	� �����
���� �	� �
 ��� n = 2 000 000� '� (�)	�
    ����� �
��
�
��

�
� *�+����� �
� � ��� �
�
������� �
 η̂kn , �̂kn,hn(x) 
� q̂Eαn↑ (Y |X = x) �
��
����
�
���

���	
�    �� ! -�+����� �
 � ��� �
�
������� �
 η̂kn , �̂kn,hn(x) 
� q̂Eαn↑ (Y |X = x) �
��
�.
���
�
��� '
� ���
	�� �
 η, �(x) 
� qEαn↑ (Y |X = x) ���������
�� 
� ��	)
� qαn (Y |X = x)

�� 
� �
���

/� �
����	
 �	
 �
� 
������
	�� η̂kn , �̂kn,hn(x) ��
�
��
�� 	�
 *���
 
0�����
� 1�
�
�����
, �� q̂Eαn↑ (Y |X = x) ����2� 3�	���� 	�
 *���
 
��������� �
 qEαn↑ (Y |X = x) =



������� ����� ��	
����� ��

6.345426� �� ���	
 ��	 
�������
 ��� �	
���
��� ��
����� �� ����
��� �����
������ 
����
����� qαn (Y |X = x) = 6.177874� �� ���
� �� ������ �� �� ����
��� �	���
�
���� �����
�� 
��
 �� ���	������ ��� 	��
� 
�����
  ��	 � �		�! ���
����
 ������
 " ��� ��� �������
�		�! ���
� �� ��
�� ������
���� #�	 ��	��
�
	 	��
 ����	 ��������	 �� ������
 ��� 	��
� αn

���	 ������� ���� �� ��		��
 �� ��	 ��	 ���
	 ����
���	�

�������� ����	 
�����
�	

$��%��	 ���	 ���	 ��	 �����
���	 	��������	� ���	
 " ���� ��� ���� ���	��&�� ��� ��	�

��'�
��� (
����
 � �� d = 3� ν = 1.5 �
 M(x) = 1� )�
�� �	
���
���� ��
�����
 ���	 ��
*�+��
��� �,� 	��� ���� �� �� 
���� -

ˆ̂qEαn↑(Y |X = x) = μY |x +
√
ΣY |X

[
W[kn+1]

(
kn
n

(
2 + �̂kn,hn(x)

(
1

1− αn

− 2

)))γ̂kn
] 1

η̂kn

.

.���� ���� ��	 ����
���	 ��
����������	� ������	 ��	 	��
�	 kn = nb, b < 1� hn = n−c, c <
1 �
 αn = 1 − n−a, a > 1� �
 ��������	 ��	 �����
���	 	�� ��	 �����&
��	 a� b �
 c ����
��� (C)� (Chigh) �


(
CHG

high

)
	����
 �������	� .������ �� ��	 ��	 ����
���	 ��
����������	�

(C) ����	� b < 1− c� b < 4c �
 b < 4
ν+4

� (Chigh) �	
 	�
�	
��
� � �� θ = a
a+b−1

� �

(
CHG

high

)
�������� b ≤ 2a �
 b ≤ 4a

d+ν
� �� ��������
 ����	 �� ���	 ��&	 ��	 �������
�	 �	���
�
����	

�/�� �
 �/0�� �� 	�����%��
 ��� �� ����1 a = (1 − b) (γd+ 1) �&�� " ���  ������� ����� 2
*��	 �� ��	� �� ������� ���� b = 0.6 ���	� ��� a = 0.4× (2+1) = 1.2� �� ���
����� �� 
��

'��� 	3� �	
���� γ� 4� ���
 ����	 +1�� b ���	 ������� a = (1 − b) (γ̂knd+ 1)� 4� ����	�

��������
 hn = n−0.20� ���	� ��� �� ���	�
� ���		����� ����� ����� K� 5�������	 ����	
���	 �� 6�'�� 777�� �� ������
����
 �� ��	 �	
���
���	 ���� ���	����	  �����	 �� n�

n αn v̂�(x),η ˆ̂vqE ˆ̂vq

� 888 8�999,0::
(

30.18146 −10.19442
−10.19442 4.24693

)
8�88/,8/8� 8�88/:�8,�0

�8 888 8�9999:0/
(

33.48424 −11.26003
−11.26003 4.22301

)
8�88�/:8�89 8�88�/9,;,;

�88 888 8�999999
(

29.47296 −10.42533
−10.42533 3.97305

)
8�888,�;�/�� 8�888,�9�0��

� 888 888 8�9999999
(

29.60700 −10.42303
−10.42303 3.837567

)
8�888�8�8�8; 8�888�8�;89;

�8 888 888 8�99999999;
(

29.73965 −10.72249
−10.72249 3.982351

)
8�888�,;�8/� 8�888�,;//::

+∞ �
(

28.98503 −10.76755
−10.76755 4

)
8 8

����� 777�� < =�������	 �	���
�
����	 ��	����	 �
 
�������� ����� n = +∞� �� ��	
�	
���
���	



�� �������� ���	 
�����
�� �����������
�

��� ���	
�
�� ˆ̂vqE �
 ˆ̂vq �
	
 ���	��� �
��� ���
 �⎧⎪⎪⎨⎪⎪⎩
ˆ̂vqE = V̂ar

[ √
kn

ln( kn
n(1−αn))

(
ˆ̂qEαn↑(Y |X=x)

qEαn↑(Y |X=x)
− 1

)]
,

ˆ̂vq = V̂ar

[ √
kn

ln( kn
n(1−αn))

(
ˆ̂qEαn↑(Y |X=x)

qαn (Y |X=x)
− 1

)]
.

���	
	� ���� ���
����������	
 �� ��� n = 10 000 000� ��� �
���

� ��� � ��� ��
���
�
	�

�� η̂kn � �̂kn,hn(x) �
 ˆ̂qEαn↑ (Y |X = x) �
	
 �����
��� ��	� �� ������    ������

������    �! " #
���

� �� � ��� ����
�
�
	� �� η̂kn � �̂kn,hn(x) �
 ˆ̂qEαn↑ (Y |X = x) ������$


�%���	
� ��� %������ �� η� �(x) �
 qEαn↑ (Y |X = x) ����������	
 �	 �
���� qαn (Y |X = x)
��
 �	 %��
�

&� 
	 �
����� ��� ���	
���� �	
������������ 
	 %
�
 ��� 	

�� ����
����
�
	 qEαn↑ (Y |X = x) =
79.25944 ��
 
��� ��
�'� �� �� %����� 
'�
����� qαn (Y |X = x) = 79.2461� ��� �
	�����	
�

	

�� ��
���
��� ˆ̂qEαn↑ (Y |X = x) ��
 �����
�� ���� �(�����

�������� �� ���	
�� �� �
����� �������

)	 ����� �*�������
�
	� 
	 ��
�
�� �*�
������ ��� ��	����	
� +
��	������ �*��
�,� �$

	�	����� �� -��. / -��.� ����
	����� / �����������	
��
�����������������
��	
��



�����  	
�����
	� 	
�� ��� ������� ��� � �������� ��
�,�� / ��%
�� �&'���� 0
�� 1�&� 2����$

��
� #
	� )3�� �
4��&'���� 5# 0
��
��
6  	��� 3���7�	� ��	�� 8���
�3��� )��
��

&����0�� 5�%���	� ��	� �
 &�59 5
4 :
	��  	���
���� 2%����� )3�� �� ������    ��

�������	
� ��� ��	����	
� ��

����	� �� ��� � ��
�,��



X x = (−0.0185%,−0.4464%, 0.9614%, 0.1405%)
Y

X = x

μ Σ
M(x) = 1.072952 η̂kn �̂kn,hn(x)

kn = n0.6 (b = 0.6)
hn = n−0.2(c = 0.2) K

�(x) 5.27907
7.60761 0.95 η 2.315297

2.920395
a = (1 − b)(γ̂kn + 1) =

1.047146 0.9997256
3.744985% Y X = x

0.9997256
3.744985% 0.7141%
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���������
�����
��� ���
� ��
����
�� ��� �������� ������� � �� 
 
��	
��� ��
�

��� ��� �� �����
��
! "��� ��� ������ �� �
�
�� ������� 	� ���� �� ����� �����
�� �� ������
�	# $����
��
�������� ����� �%��&��� �� �	#� '(((�� 	�
 ������)��� �� �� ��� "��� ��� ������ �� �
�
��
��)������� �� ���� �� 	� *���
�
�� +� ��� 
	 �� ���
�� ��� 	� �����
��� �� ����,���
�
�
��#
$���� ����
��� ������ 
�� 	� �
�
�� �� 	� ����� �� ���- �����.��
		�� �� ��
� ��� �����,
��� 	� ����� ��� �
�
��� ��� �����.��
		��# /
� ���� 	� ��� ��� �
���
 ��
��� �		
��

����
�0�1�
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�� ����� ��� .����	
���
�� ���)����

�� �� 	3�-����
	�
���� 	� ��� 4�����	� ��
� �	�� ����
��	
������� �		
��

��# 1��� ������� ����
�� 	� ����	�
�� ��4����
�� ���� �����-
��� ��� �-����
	�� ����
�
����	�� ��
� ����� ���
� �������� 	��
	
�
��� �� �� ����	�� �� ������� ��� ������)� ���)���	�4

�� ���� 	�� �����-
��� ��
�
	�� ���
���# @�� ����� �����

�� ��� �������� ���� ����	���# @�� ����
� �� �� �)��
���
��� �� 	
�� ���� �0����,*���)���� �� �	#� ��'7�#

����� �����	
�����

A� ����� �3� ��� 	� ����
�
�� �3�� �-����
	�� �� 
��	
��� �����
���� ���� 	� ��� ���
	�
� �		
��

���# ��
�� 	3�-����
	� �� �
������� ��� �� .����	� .������ �� ������� ����
��

��	
��� ���)���� �����

��� ���� �����-
��� ��� �-����
	�� �		
��

���# B���� ! 	3�
��
�� ��� �	4��
�)���� �� ����� 
��	
��� �-����
	�� �		
��

��� ����
�
����	�#

������� �� ��	
�� ��
��
�	
�


��� �-����
	��� 
������
�� ���� �1�5�6 ��� ��5�		� '(78�� ������� "��� ��� ����� ���
4�����	
���
�� ��� 
����
	��# *��� ����� ����
�� �3
��������
��� �� ����
� ��� 
����
���

28



Z
α ∈]0, 1[ qα(Z) Z

qα(Z) = argmin
q∈R

E [S1,α (Z − q)]

S1,α(t) = (1−α)|t−|+α|t+|
P (Z ≤ q) = α

α ∈]0, 1[
Z

α ∈]0, 1[ Z

eα(Z) = argmin
e∈R

E [S2,α (Z − e)]

S2,α

S2,α(t) = (1− α)|t−|2 + α|t+|2.

αE
[
(Z − eα(Z))

+] = (1− α)E
[
(eα(Z)− Z)+

]
.

S1,α S2,α

S1,α S2,α α
0.05 0.5 0.95
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���	�
� � 
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!�	�
 �	���
�
�� 
�� ��	�� �	��� � 
�� !
 
�
 ���� 
���	
����
�
 "�	�
 ���� �� ��
�	
� �
���� ���� ����
 !���
��
 �
 �	���	���	��� 
��	��	
�
�� #���
!
��� �� 
$
!��
 
�
�
�
� ����
�� �
� �
!�	��� ���!��
��
�� %� !���	���
 ����
 �
!�
��
Z = (X, Y ) ∼ ECd+1 (μ,Σ, ξ) ��
! X ∈ R

d 
� Y ∈ R� %� ����
��
 �
� �����	��� ��	����
� &⎧⎪⎨⎪⎩
ΦY (t) = P

(
Y−μY√

ΣY
≤ t
)

ΦY |x(t) = P

(
Y |(X=x)−μY |x√

ΣY |X
≤ t

)
.

'
� 
����	�
� �
 Y 
� Y |(X = x) ������� "�!	�
�
�� (��
 
���	��� ) ����	� �
 !
�
"��!�	���� �� �� ����� 	������	�
 ��
 ����
��
 "��!�	�� Ψ ���� "�	�
 �
 �(�
 ��
! �
�

��
!�	�
��

��������� �	
 ���� ΨY : R∗ →]−∞, 0[∪]1,+∞[ ����� ��� 	

ΨY (t) = ΦY (t) +
1

t

+∞∫
t

uc1g1(u
2)du . ����*�

+
 �� �(�
 ���	��
� �� �
�� ��,�	� �� "��!�	�� ΨY |x �
���	�
 ) �� �	���	���	�� Y |(X =
x)� - � 	����� �
 �� "��!�	�� �
 ������	�	�� Φ� �� "��!�	�� Ψ ������
 
�
�
�
� �����	����
��	�
��
� 
�
 � �� ����!
 !	.�
������

��

� �� �#����	���� �
 ΨY �
 ΨY 
���
���� ��
 
��
�����
 
�������
 	

� ΨY (−t) = 1−ΨY (t), ∀t ∈ R
∗�

� ΨY : R∗ →]−∞, 0[∪]1,+∞[ �
� ��������� �� ������

�����

� Ψ−1
Y (1− α) = −Ψ−1

Y (α), ∀α ∈ R
∗�

'� ��
��
 �� '
��
 /� ����� ��0����
�� ��	�
��
� 
��
 � 
�� ��� "����	
� %� ��
�����	�� ) � �	�
 �
� ��,�	�	��� 
� �����	���� ���!��
��
�� ����
� ��
 "���
 1������
 �
�

��
!�	�
� ���� �
 !�� �
� �	���	���	��� 
��	��	
�
�� #��� !
��� �� � �
��	� �
 � 
���
��	��
� �� ���
�� ����
���

��

� ��
 �� Y ∼ EC1(μY ,ΣY , ξ)� �� � �� �������� 
������� 	

E[Y +] = μYΦY

(
μY√
ΣY

)
+
√

ΣY

+∞∫
− μY√

ΣY

uc1g1(u
2)du. ������



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


������ � �� �����		� 
�� 	� ���
��� �� Y �
� ������ ��� �

fY (t) =
c1√
ΣY

g1

(
(t−μY )2

ΣY

)
�

�	��
 �

E[Y +] =

+∞∫
0

u
c1√
ΣY

g1

(
(u− μY )

2

ΣY

)
du = μY

+∞∫
− μY√

ΣY

c1g1
(
u2
)
du+

√
ΣY

+∞∫
− μY√

ΣY

uc1g1
(
u2
)
du.

����� ΦY (t) =

t∫
−∞

c1g1
(
u2
)
du �� 1 − ΦY (x) = ΦY (−x) ���	 
�� �	��	�
�
� �� ���
�	��

��� ����	�������� �

���������� �� ������� 
��������� ����� �
������� ���������� ��� ���	������ �
�
	�
� ���	 
��������
� �� ������ α ∈]0, 1[ �����


�� �

������� �����	�
�� ����� ���	������ 	����

� ��������� 
����	�� � �� !"����� #$$%&�
�' 
�� �������
�� ���� ��� ����� 
�� ������
�� ����� ���	� ����	��������

����������� 	
 ��������
� �

��������� ���� Y ∼ EC1(μY ,ΣY , ξ) ���� E [ξ] < +∞	 
���


������� �� ������ α ∈]0, 1[ ���� eα �� Y ��� ����� ��� �

eα(Y ) =

{
μY +

√
ΣYΨ

−1
Y

(
α

2α−1

)
, α �= 1

2

μY , α = 1
2

. �()���

���
�� � *� ���� 	
����	� 
� �	��
+�� �� ������������ ������� ,

eα(Y ) = argmin
e∈R

E[Sα(Y − e)].

�� ����+	� - 	���	� 
� �	���� �
�� ��	
��
�� �� ����	� ��	 
� ����� eα �� 
��� �� eα(Y )�
�� �
	����� 
� .������� �� ���	���� �� ������� ,

(1− α)E[Y − eα] + (2α− 1)E
[
(Y − eα)

+
]
= 0.

�� ���
����� 
� /���� ��� �� � 
� 	�
����� ,

E[(Y − eα)
+] = (μY − eα)ΦY

(
μY − eα√

ΣY

)
+
√

ΣY

+∞∫
−μY −eα√

ΣY

uc1g1(u
2)du.



������ �����	
����� ��

�� �����	
�	
��
 ���� �������
� �
������
�� 	� 	�
���
 �

(1− α)(μY − eα) + (2α− 1)

⎡⎢⎢⎢⎣(μY − eα)ΦY

(
μY − eα√

ΣY

)
+
√
ΣY

+∞∫
−μY −eα√

ΣY

uc1g1(u
2)du

⎤⎥⎥⎥⎦ = 0.

�� ������ α = 1
2
���� � �� �	��
�	� ������
� eα = μY � �� �	�����
� ����
����
 α �= 1

2

���	� eα �= μY  � ���!��
�	� ���
 ��	
� "

� 
���
�
� �

ΦY

(
eα − μY√

ΣY

)
+

√
ΣY

eα − μY

+∞∫
eα−μY√

ΣY

uc1g1(u
2)du =

α

2α− 1
.

#�	� ΨY

(
eα−μY√

ΣY

)
= α

2α−1
� �
 eα = μY +

√
ΣYΨ

−1
Y

(
α

2α−1

)
� �

�� ����
 �� ��$��
 ��� �%�
����	� ����
��� �	�
 ��� �%���
���� �� ���

���
�	�� �����&

�!���� '	��� �	�
 �� !���
���� 	� ����
�
���� ��% �%���
���� �	���
�	����� �� Y �	�����&
���
 �� �	��
����� X = x� (���
 ����� 	� �
	�	�� !���!��� ��
)	��� ����
�!��� �	�

	�
���
 ��� �%���
���� �����
�!����

������� ���	
��
���

*� +	
�� �� �� +	��
�	� Ψ� ��

	���
� ���� �� #�$��
�	� �,� ������ � �����
 !���� ����

��� �������
 ��	�
���
 ��� +	
����� �%�����
�� �	�
 ��� �%���
����� -	�
 ����� 	� �
	�	��
��� ���% ���	
�
)��� �	�
 �� ������ �� 
�
�� Ψ−1

(
α

2α−1

)
�	��� ���� �� +	
���� ��� �%���&
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&
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�
)����
#��� ��
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�!��� ��
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�����
 

	���
 ���� 17
	�
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�

(
e(k)
)
k∈N �
 ��� ��&

���
 e∗ ∈ R� �� ��
� !�� �� ���
�
(
e(k)
)
k∈N �	���
�� ��
� e∗ ��	
�
� p ∈ [1,∞[ �� �	�
 
	�


k� |e(k) − e∗| ≤ εk 	� (εk)k∈N ��
 ��� ���
� �	��
��� !�� ��
��+��


∃c > 0 : lim
k→+∞

εk+1

εpk
= c. �:;�/ 

*� �	�<����
 c ��
 ������ +��
��
 ��6��
	
�!��� �� ��

������
� 	� ��
� !�� �� �	���
�����
��
 ������
� �� p = 1� �
 !���
�
�!�� �� p = 2�
'	�����
	�� ����
����
 �����	
�
)�� �� �	��
 $%� e(k+1) = f(e(k))� 	� e(k+1), e(k) ∈ R� �

f : R → R ��
 ��� +	��
�	� ��
������� *� �	���
����� �� �����	
�
)�� ��
 ��	
� ����
��
��
 |f ′(e)| < 1, ∀e ∈ R� 8� �� ���� f ��
 p +	�� ��
������ ����� ∀m < p� f (m)(e∗) = 0
�
 f (p)(e∗) �= 0� ��	
� �� �	���
����� ��
 ��	
�
� p ���� �� +��
��
 ��6��
	
�!�� c =
f (p)(e∗)/p!�
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��������� ���	
��
�� ��

�� ����	�
	 ���� 
� ��	��	� 
	��� 
�	 �������	 �
 ����
� �	 Ψ−1
(

α
2α−1

)
����	

�
� �������
��	 ��� ��	 �������	 ��������	 � �
� �������	 ���� ����� 	
 ���� ���� � 	

!
	�!
	� ���
�
�
� "	���
 ��"��	��	 # �	 ����	��

����� �� $����� 	
 ���� ���� %� �� �������� S ′
2,α 	
� ���
����
�	��	 �

|S ′
2,α(a)− S ′

2,α(b)| ≤ 2max{1− α, α}|a− b|, ∀a, b ∈ R.

���� �� ����	 
������	 �

S2,α(a) ≤ S2,α(b) + S ′
2,α(b)(a− b) + max{1− α, α}(a− b)2, ∀a, b ∈ R.

&� 

������
 �	 '	��	 ��� �� ������	 ��
�	 ������
��	� ��
����� ��(�	���
��

�
	�	����	� �� $)�����
��	 ��%� ���� Y ∼ EC1(μY ,ΣY , ξ) ��	� E [ξ] < +∞� �� 
���	

������	

(
e(k)
)
k∈N ����	��	 �	�
 Ψ

−1
Y

(
α

2α−1

)
�⎧⎨⎩

e(0) = 0

e(k+1) = e(k) − e(k)

max{1−α,α}
[
α− (2α− 1)ΦY

(
e(k)
)]

+ 2α−1
max{1−α,α}

+∞∫
e(k)

uc1g1(u
2)du

.

$*+��%
�	 ���
� �� ����	��	��	 	
� �������	 �� 
	�
 �	 ���������� $*+�����% ��	� �� ����	�� �
� �!
������	

c = 1− 1

max{1− α, α}
[
α− (2α− 1)ΦY

(
Ψ−1

Y

(
α

2α− 1

))]
. $*+�,%

�
���� � -��
 Y0 = (Y − μY )/
√
ΣY ∼ EC1(0, 1, ξ)� ) �� ke �
���
���� �� ����	 R(k) =

Y0 − e(k)� *� .�	�
 !
	 ��
� 
�

 e ∈ R /

Y0 − e = R(k) − (e− e(k))�

0�1�	 �
 '	��	 ��� �� � ���������
� �
�.��
	 /

E
[S2,α

(
R(k) − (e− e(k))

)] ≤ E
[S2,α(R

(k))
]− (e− e(k))E

[S ′
2,α(R

(k))
]
+max{1− α, α} (e− e(k)

)2
�

�� ��
	 Q
(
e, e(k)

)
= E

[S2,α(R
(k))
]−(e−e(k))E

[S ′
2,α(R

(k))
]
+max{1−α, α} (e− e(k)

)2
�

)2� �	 �������	� E
[S2,α

(
R(k) − (e− e(k))

)]
� �	 �������	 �	 ��������
��	 �� 	�
 �	 ��(

�����	� �� ����	 �
����	
�	� 	
 �	 ������� e(k+1) = argmin
e∈R

Q
(
e, e(k)

)
� �� ��
�	�
 �����

"����	�	�
 /



������ �����	
����� ��

e(k+1) = e(k) + 1
2max{1−α,α}E

[S ′
2,α

(
Y0 − e(k)

)]
�

�� ���	� 
 ����
��� E
[S ′

2,α

(
Y0 − e(k)

)]
�

E
[S ′

2,α

(
Y0 − e(k)

)]
= 2(1− α)E

[
Y0 − e(k)

]
+ 2(2α− 1)E

[(
Y0 − e(k)

)+]
.

�� ����� �� ���� 
 ����
�	��� ����� ���
���� ����	����	 �� ����������� �� �������
��	 ��� !���� ���	����" #�"�"������	$ �� ��	 �
%���	 ������� |f ′(t)| < 1, ∀t$ ����
e(k+1) = f(e(k))�

f ′(t) = 1− α− (2α− 1)ΦY (t)

max{1− α, α} .

!��������	$ ����� 0 < ΦY (t) < 1, ∀t ∈ R$ 0 < f ′(t) < 1� &��' �� ������������ &�
#�
�$ ����� f ′(t) �= 0, ∀t ∈ R$ �� ����������� ��	 ���"����$ ���� (��	�
� ��)�#	�	��
�
f ′ (Ψ−1

Y

(
α

2α−1

))
$ ���' ����
�	��� ����� �

�����
����	$ c → 1 �
��� α → 1� �� �*�	$ �����
� α ��	 #��� � �� +$ ���,#��	���
�������$ �	 ��� ����
� ���
���	 #�
� ���	"��	����� &�
� �
	�� �-	"$ 
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 α = 1/2 �����
c = 0$ ��� �� �
�	� �� ��������	 �� ��	 ����	��	�$ ���� e(k) = 0 #�
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	 k�

��������� ��	
��
��� �� �
��
 ���

.� #�
	 ���	��� ���"���	 �
� eα(Y ) ��	��(��	 
�� ����	��� �� #���	 /,� ���� �� ���
��� ���	��0
	���� ����#	��
��� &��� �� #������# �$ ��
� �,#����	��� ��		� ����	��� �	 �������
��	 �� �� #���	 /,� ������#�����	�
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�
��
�
� �� �1�����	 �� �� #���	 /,��� ���� Y ∼ EC1(μY ,ΣY , ξ) ���� E [ξ] < +∞	


� ����� �����
��
(
e(k)
)
k∈N ��
����� ���� Ψ−1

Y

(
α

2α−1

)
�

⎧⎪⎪⎨⎪⎪⎩
e(0) = 0

e(k+1) =

(1− 2α)
+∞∫
e(k)

uc1g1(u
2)dy

(2α− 1)ΦY (e(k))− α

. ��2�+3�

�� ����� �� ��
�����
�� ��� ����������� �� ��
� �� ���������
 ��2�+�0�� ���� �
 �������

������������

c =
(2α− 1)c1g1

(
Ψ−1

Y

(
α

2α−1

)2)
2
[
(2α− 1)ΦY

(
Ψ−1

Y

(
α

2α−1

))− α
] . ��2�++�
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������ � ���� Y0 = (Y − μY )/
√
ΣY ∼ EC1(0, 1, ξ)� �	 
 
���
 �

Ψ−1
Y

(
α

2α− 1

)
= argmin

e∈R
E [S2,α(Y0 − e)] .

�� ���� �
 
���� �� �
 ������ �	 	��� eα = Ψ−1
Y

(
α

2α−1

)
� 
���
 eα �
� ��� ��� E

[S ′
2,α (Y0 − eα)

]
=

0� ���� �

2(1− α)E [(Y0 − eα)] + 2(2α− 1)E
[
(Y0 − eα)

+] = 0.

���� �����
���	 �������	��� �� �
 ������� �� ����� ��� �	 �����	� �
 ���
���	 �� ���	�
� � 
���
	�� �

eα =

(1− 2α)
+∞∫
eα

uc1g1(u
2)du

(2α− 1)ΦY (eα)− α
.
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 �	 
�"����#�� �����
��
e(k+1) = f

(
e(k)
)
)� �
 ��	���"�	�� �
� 
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���� �
� |f ′ (eα)| < 1� �
 ��	���"�	��

��
��
����� �
� ��	���� 
� f ′ (eα) = 0 �� f ′′ (eα) �= 0� �	 


f ′(t) = (2α− 1)c1g1(t
2)

t(2α− 1)ΦY (t)− αt+ (2α− 1)
+∞∫
t

uc1g1(u
2)du

[(2α− 1)ΦY (t)− α]2
.

��%��
���	 &'() �������� f ′ (eα) = 0� ���� �� ��
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�� �	 ��	��� 	�	 
������	� ���
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����
 
�����
� �	 �����	� �

f ′′ (eα) =
(2α− 1)c1g1 (e

2
α)

[(2α− 1)ΦY (eα)− α]
.

�� α �= 1
2
� f ′′ (eα) �= 0 �� �
 ��	���"�	�� �
� ��
��
������ +� ���
� �� �
����� 

,���������

c �
� �
������	� ������� - ��
��� �� �
 ���
���	 c = f ′′(eα)
2

� ���. ��%��
���	 &/0)� �
�� �	 
� �

� 
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2
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�� ��� ����� �����
�� 	� ��������
�� 	� �
��
� α ∈]0, 1[ 	� �
 �
�

���

��
��
�� Y |(X = x)�

eα(Y |X = x) = μY |x +
√
ΣY |XΨ−1

Y |x

(
α

2α− 1

)
�������

�� �� �
������ ��� �� ��
��
�� μY |x,ΣY |X  ��� 	����� 	
� ��!��
�
�� ���" �� �
 �����
��
Ψ 	
� ��!��
�
�� ��#�� $� �����%�� � � 
���  �� 
������� �� �&�� ��� ����
 	� �'
�
���
�����	���" ��� � ( 	
�� ��� ����
�
 
�
�� 	� Ψ−1

Y |x
(

α
2α−1

)
����  
�� �
 ����
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���
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�
������� Y |(X = x)� )� ����� � 	
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�
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�'� ������� �� ���
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�
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�

*� �
 � � �����  ������ �� ���  
����� !� �+��"  
 �� ������� Z = (X, Y ) 
���
X ∈ R

d �� Y ∈ R � � �
�  
��" �
 	
 ��
���
�� ���	
�
������� Y |(X = x) �� �� �
�  
�����
$
 ,���� 
�
�� -. 
  ��� 
��� ��� ��
����
�'��  �
�
�� �������� ��� Ψ−1

Y |x
(

α
2α−1

)
�

⎧⎨⎩ e(0) = 0

e(k+1) =
(1−2α)ϕ(e(k))

(2α−1)Φ(e(k))−α

,

�� Φ �� ϕ  ��� �� ����
������ �
 �����
�� 	� ���
��
�
�� �� �
 	�� 
�� 	� ����
�
�
�� 	� �

��
 ����
�� ������� ��	�
���

��������� ��� �������

$� �
 /��	��� ( ν > 0 	���� 	� �
����� 	��
�	� ��� 	� �
���� " �

 " ����� ����
�� ��
��
�� " 
����
� ( ��� ������� ��� �� ��
� ����
�
��� $�
����
�'�� 	� ��
�� 0��
���� Ψ−1

Y |x
(

α
2α−1

)
� � 
��� 

⎧⎪⎪⎪⎨⎪⎪⎪⎩
e(0) = 0

e(k+1) =

(2α−1)
Γ( ν+d+1

2 )
Γ( ν+d

2 )√π

√
ν+M(x)

1−ν−d

⎛
⎝1+ 1

ν

(e(k))
2

(1+ 1
ν M(x))

⎞
⎠

1−ν−d
2

(2α−1)Φν+d

(
e(k)

√
ν+d

ν+M(x)

)
−α

, �����-�

�� Φm � � �
 �����
�� 	� ���
��
�
�� 	���� ��
 	� /��	��� ( m 	���� 	� �
�����" �� M(x) =
(x− μX)�Σ−1

X (x− μX)�
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	�� �� ���
�	 ����	�	�� � ��	 	���	��
�
�� �	���	 �	 ����	 �����
���	� Ψ−1

Y |x
(

α
2α−1

)
	�� ����� ���	�� � ���
�	 �	� 
�����
��� �⎧⎪⎪⎨⎪⎪⎩

e(0) = 0

e(k+1) =
(1−2α)

m∑
i=1

πiθ
1−d
i exp

(
−M(x)

2θ2
i

)
ϕ(θ−1

i e(k))

(2α−1)
m∑
i=1

πiθ
−d
i exp

(
−M(x)

2θ2
i

)
Φ(θ−1

i e(k))−α
m∑
i=1

πiθ
−d
i exp

(
−M(x)

2θ2
i

) , � !�"#$

�% Φ 	� ϕ ���� �	��	
�
�	�	�� �� ���
�
�� �	 ������
�
�� 	� �� �	��
�� �	 ������
�
�� �	 ��
��
 ������	 
	����	 ����
�	� 	� M(x) = (x− μX)�Σ−1

X (x− μX)�
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�	� ���� 	��
�	� Ψ−1
Y |x
(

α
2α−1

)
�

' ��
����� �� (����
�	� �� ������	�� ���� �� ��	�
	� �	��� �	 ���)�	 �	 ����	��
��� (�

������	�� 
�	*
�
	 ����

��
)�	�	�� ���� �	 
�� �	� �
�	��� 	���+�	�� 
	 (�
 ���� �����	��
� ������	� ������	� ������	��

����� �� ��	
�� 	� �
��������

,� 
���
�)�	 


 �� ���)�	 �������	 � �� ����	��
�� (����
�	� ������ ��� 	��	
�
�	��
-	 ���)�	� �
���	�	�� ���	�� ����	��
�� 	��	
�
�	� ����	��	 �	 �����	��	� �
�
�
���	��
���� �� �
�	�� �	 �� ��.�
�
�� (�	 �	� ����������

������� ���	
����
�� �� �����


 ���
��	 ��� �� ����	��
�� (����
�	 ���
� /	
�
��    �0�$� �� ����	��
�� 	��	
�
�	 �
�����
��
�	 ���� 12	3	4 ��� 5�3	��� "6789$ ��
�
�	 �� �+�	 �����
�	� � ����
� ��������
���
��
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�	�� α ∈]0, 1[ �	 Y |(X = x) ��� ��	 
���
��
��� �*�	 �	 �� 
����
���	
���	���	 x�

eRE
α (Y |X = x) = β∗�x+ β∗

0 .

&� (����
�� eRE
α (Y |X = x) �	�� ���	��	 ����

�	�� �	 ����	��
�� 	��	
�
�	� &	� 
�	*

	���

β∗ 	� β∗
0 ���� 
��
�
� �	 �� �+�	 ���
)�	 (�	 ���� ���(���
�� �   �0���$� 	� ��
�
���� ��

���
�
�� �	 �
��
�� �	���
�	 � ��	��	
�
�	� 	� 
������
�	 ���� ���(���
�� �"7$�

(β∗, β∗
0) = argmin

β∈Rd,β0∈R
E
[S2,α(Y − β�X − β0)

]
. � !�":$

;��� 
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�� �� ��		� β∗ =
(
E
[
XX�]− E[X]E[X]�

)−1
(E [XY ]− E[X]E[Y ])

�� β∗
0 = E[Y ] − β�

E[X]� ��� 
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����
 ��	�
��� ���
����� �� �
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 ( +��� �� �
�+�'�� �� ��	��������	�
1�	� ����� �������� �� ����� �����	� ��� �	 

������ �	��
�
����
��

����� ��� ���� (X1, X2) ∼ EC2 (μ,Σ, ξ) �� ��	
 ���
��� 
��� ��� �
�
������ �

μ = (μ1, μ2)
�, Σ =

(
σ2
1 ρσ1σ2

ρσ1σ2 σ2
2

)
.

�����

E[X1X
+
2 ] =

(
μ1μ2 − ρ

σ1

σ2

μ2
2

)
ΦX1

(
μ2

σ2

)
+(μ1σ2+ρσ1μ2)

+∞∫
−μ2

σ2

uc1g1(u
2)du+ρσ1σ2

+∞∫
−μ2

σ2

u2c1g1(u
2)du.

�/0�$�&

���	
� � 2	 
�
�� 3

E
[
X1X

+
2

]
=

+∞∫
0

x2fX2(x2)

⎛⎝ +∞∫
−∞

x1
fX1,X2(x1, x2)

fX2(x2)
dx1

⎞⎠ dx2.

2	 �

+∞∫
−∞

x1
fX1,X2(x1, x2)

fX2(x2)
dx1 = E [X1|X2]� .	 �������	� ��.������	 �4&� �	 �+���	� 3

E
[
X1X

+
2

]
=

+∞∫
0

x2fX2(x2)
(
μ1 + ρσ1

σ2
(x2 − μ2)

)
dx2�

2	 
������� ��� �� ��	���
 �� X2 ��� fX2(x2) = c1
σ2
g1

(
(x2−μ2)2

σ2
2

)
� ��.������	 �5$& ���

�+��	�� �	 �������	� �� ����� "�� �
2	 ��� ���	��	�	� ����+�� �� 6��
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 �	� ���
�����	 ��������� �� ������
 (β∗, β∗

0)� ��
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7��� ��� β∗ ��� ��������	� �� �8�� ��� ����� ������
 ���
 �� ���	�����
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�������� 	
 ������	
��� �� ��
������� ����	
����� ���� Z = (X, Y )� ∼ ECd+1 (μ,Σ, ξ)
���� E [ξ2] < +∞	 
� ������� 
� ���������� ��������� (β∗, β∗

0) 
� (Y |X = x)� ��� ���������
���������� ���������� ��� 
���� ��� �{

β∗ = Σ−1
X ΣXY

β∗
0 = μY −ΣYXΣ−1

X μX +
√
ΣY |XΨ−1

Y

(
α

2α−1

) .


� ���
������ 
� ���������� ��������� 
� ������ α ∈ [0, 1] ��� 
���� ��� �

eRE
α (Y |X = x) = μY |x +

√
ΣY |XΨ−1

Y

(
α

2α− 1

)
.

�� �����

eRE
α (Y |X) ∼ EC1

(
μY +

√
ΣY |XΨ−1

Y

(
α

2α− 1

)
,ΣYXΣ−1

X ΣXY , ξ

)
.
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�� � ���� �� ������� 
����� ��
��������� �������� ��
�
���� � ���
 ρj �� 	��� 
!	���
 �� 	������
��� ��
�� Xj �
 �� "����#�� ����
���� Y − β∗�X − β∗

0 � $� �%�
� Xj ∼
EC1

(
μj, σ

2
j , ξ
)
� �� ����� Y−β∗�X−β∗

0 ∼ EC1

(
μY − β∗�μX − β∗

0 , (−β∗, 1)�Σ(−β∗�, 1), ξ
)
�

&� � ������ ���� 
��
 j = 1, . . . , d�
(
Xj, Y − β∗�X − β∗

0

) ∼ EC2 (mj,Ωj, ξ) �' �

Ωj =

⎛⎝ σ2
j ρjσj

√
(−β∗, 1)�Σ(−β∗�, 1)

ρjσj

√
(−β∗, 1)�Σ(−β∗�, 1) (−β∗, 1)�Σ(−β∗�, 1)

⎞⎠ .

&� �������� �� ���#�(�� �� ��������
��� ��� "���!� (β∗, β∗
0) �

argmin
β∈Rd,β0∈R

(1− α)E
[
(Y − β�X − β0)

2
]− (1− 2α)E

[
(Y − β�X − β0)

+2
]
.

)� 	��	�� �� 
������
 �(�� �� �*�
(�� �+����
���� ���"��
 �{
(1− α)E

[
X(Y − β∗�X − β∗

0)
]
+ (1− 2α)E

[
X(Y − β∗�X − β∗

0)
+
]

= 0

(1− α)E
[
Y − β∗�X − β∗

0

]
+ (1− 2α)E

[
(Y − β∗�X − β∗

0)
+
]

= 0
.

&� ���
 ��� Y − β∗�X − β∗
0 ∼ EC1 (μ, σ

2, ξ) �"�	 μ = μY − β∗�μX − β∗
0 �
 σ2 =

(−β∗, 1)�Σ(−β∗, 1) = ΣY − 2β∗�ΣXY +β∗�ΣXβ∗� $� �
������
 ��� )����� �� �
 ,-� ��
�#
���
 �� �*�
(�� ���"��
� ∀j ∈ {1, ..., d}⎧⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎩

(1− α)μ+ (1− 2α)μΦY

(
μ
σ

)
+ (1/2− α)σ

+∞∫
μ/σ

uc1g1(u
2)du = 0

(1− 2α)
(
μjμ− ρj

σj

σ
μ2
)
ΦY

(
μ
σ

)
+ (1/2− α) (μjσ − ρjσjσ)

+∞∫
μ/σ

uc1g1(u
2)du

+(1− 2α)ρj
σj

σ

+∞∫
0

u2fY (u)du = 0

.



������ �� ��	
�� 	� ��
������� ��

�� ����	�
�� ��
 ���� ���
�	��
� 	� ��
��

− (1− 2α)ρj
σj

σ
μ2ΦY

(
μ

σ

)
− (1/2− α)ρjσjσ

+∞∫
μ/σ

uc1g1(u
2)du

+ (1− 2α)ρj
σj

σ

+∞∫
0

u2fY (u)du+ (1− α)ρjσjσ = 0.

�� �
�
�� ��	���� ��� ρj = 0� �� 
 ���� ��� �
�
 �
 ������ �� ����� �� �� ��� ρj = 0, ∀j
��
	� ���	�
���� � β∗ = Σ−1

X ΣXY �
β∗
0 

�	
!
	� "

β∗
0 = argmin

β0∈R
E
[S2,α(Y − β∗�X − β0)

]
.

#	�
������� β∗
0 �
� �$������	�� �� �	��
� α �� �
 �
�	
��� 
��
��	�� Y −β∗�X� �������
 �
�


�
 ������ �� ����� �� �� �� 
 �� ��� Y − β∗�X ∼ EC1

(
μY −ΣYXΣ−1

X μX ,ΣY |X , ξ
)
�

% 
 ���
� �� ��	�	

�� �
 !������ �� �$������	�� �� �$���
�	�� &'()� �� ���	��� "

β∗
0 = μY −ΣYXΣ−1

X μX +
√
ΣY |XΨ−1

Y

(
α

2α− 1

)
.

�� ���� �
	����
�� ����	��� ����� ����	����� �� ��*��

	�� ������	�� �� Y 

��
�� X =
x "

eRE
α (Y |X = x) = β∗�x+ β∗

0 = μY +ΣYXΣ−1
X (x− μX) +

√
ΣY |XΨ−1

Y

(
α

2α− 1

)
.

�� ������
	� 
�� �
 *
���� �$�����

	�� �� μY |x ������ �
�
 �$���
�	�� &+)�

,���� eRE
α (Y |X) = μY+ΣYXΣ−1

X (X−μX)+
√
ΣY |XΨ−1

Y

(
α

2α−1

)
� 
���X ∼ Ed (μX ,ΣX , ξ)�

�� ���	���� � �$
	�� �� �
 -����
	�	�� .�

eRE
α (Y |X) ∼ EC1

(
μY +

√
ΣY |XΨ−1

Y

(
α

2α−1

)
, (ΣYXΣ−1

X )ΣX(Σ−1
X ΣXY ), ξ

)
.

%$�/ �� ��
���
�� �

������� ����	
��
�	�

0�
 ������
	��
 � �	��� �� ��� �� �� ��*��

	�� �
�
 �� �

 �� �$������	�� 
��� 


�1

	�	�
	��
 � �����
 �� ��
��	��� ,��
	�����
 
���
 ����	 ������ �� ��� �� �	��
	�� 
���
β∗
0 = 0� �� ��	� 
���
 ��
	������ ��� eRE

α (Y |X) = β∗�X �
� 	�������
�� �� α� �� ��2
���
 �� �

 α = 1/2� �� ��� �� �$�
� ���� �

 ������
���� %� ���
� 
	 ΣXY = 0Rd � ��



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


������	
�� eRE
α (Y |X) �
�	 �� �� 
���	
 ���� �
 	
��
 β∗

0 
	 �
��
 
� �����
 
��
�
����
 ���� �
 ��
�	��
� �� ��
�
����	 ��
 ��
��
�	��
 �����	����
� 	�������
 eα(Y |X = x)
�
 �����
	���  !"�#���$ 
	 �
 ������	
�� eRE

α (Y |X = x) ��	 ��
 
���
����� �����
��
 ��� �

��%��
 ��
 �
� ��
��
�	��
 �����	����
� Ψ−1

Y |x �
���
�� �
� ���������	����
� Ψ−1
Y � &
 �����


�
 ��'�
����� 
�	 ���� 	������� 	��	 ( )
�	 
�
�	� �
�� �
 �
� '
����
�� �
�� �
�	 �
�
�
( �
 �
��
�� �����	
	� �
�� �
� 
�	�
� �
�� &������	�
	��� )
�	
 ���� �
 ��
�	��
 
�	 
����
�
��
�	
 �
�� �
 �
� * ��
���� ΣXY = 0Rd � &
 ������	
�� eRE

α (Y |X = x) �
����
 ��
��
�+
	��
 ,�����
��
�	,

√
ΣYΨ

−1
Y (α)� ������
 ��
��
�	��
 	�������
 �
�	 ��
��
�	��
 ,���������,√

ΣYΨ
−1
Y |x(α)� &
 ��%��
��
 
�	�
 �����
��
��
 
	 ���+������
	��� ��
 )��� ���		� �
 �
��


'
����
� ���
 ���� �'
�
�
�	 ���-���
 ���� ��
��
�	��
�
����
 ���� ��
����� )
�	 �
�� �
 .
�	��� !!!�/��� ���� �
 ��
�	��
� ����
���� ��������
+
�
�	 ��� )���	���� Ψ−1

Y 
	 Ψ−1
Y |x� 0��� �
�
� ��	��
����� ���� 
�� ���	��-�	���� 1���
�


���	
����
 
	 .	��
�	� &
� 
�'���	��
�  !"�#���2�$ 
	  !"�#���/�$ ���� �
��
		
�	 �
 �
�+
���
� �
� )���	���� Ψ−1

Y |x� 	
���� ��
 ��
�'���	��
  2�$ ����
 Ψ−1
Y ���� ��
��
 
�
���
� ��

��������
�	 ����
 �
�
��	�
� M(x) = 1� d = 5� ν = 3� m = 2� θ1 = 4� θ2 = 1� p1 = 0.5

	 p2 = 0.5� �� �-	�
�	 �
� '�
�����
� �
 �
 3�'��
 !"�/� �� ���	 ��
��
�
�	 ��
 �� �
��
�
 �
� �
 �
 ��� 1���
�
 ���	
����
� �
� �
�� )���	���� ��	 ��
�� 
��
4 �����
�� �
 ��
�	
�
� �
 �
� �
 �
 ��� �
 .	��
�	� 5
��
���� ��
 �
 ��
�
 �
 ���	��-�	��� 
�	 ��'��
 ���� �

��
��
� 
�
���
� 
	 �����
 ���� �
 �
�����

������ !"�/ 6 ����
�
���� �
� )���	���� Ψ−1
Y (α)  
� ����$ 
	 Ψ−1

Y |x(α)  
� ���'
$ ����

α ∈]1
2
, 1[ �
�� �
� �
� 1���
�
 ���	
����
 
	 .	��
�	�

7 �����	
� �
 �
 ��'�
����� ��
�	��
� �
 ��'�
����� 
��
�	��
 ����
�	
 ���� �
 ���-�
��
�
����	
�� .� �
 �
� α = 1/2� �����
�
�	 
���� ( �
 ��'�
����� ��
�	��
  �
�� �
 �
� 
����	���
$�

�	 �
�)���
�	 
	 ��
���
��� �	����� �
�� �
� ���-���
	���
� �
 8��'

'
� �
� 
�	�
� �
�
�
���
�	 ( �����
�� �
�	�������
�
�	 ������
 α �
��
�	 �����
 �
 � �� �
 #� �� ������


���� �
�� �
 �
�	��� ����
�	
 �
� ������	
��� 
�
�	�� 
�� ���

�� 
�	�9�
�� 
� �����+



������ �����	�
�� ��	�
��� ��

����� ����		��� 
� ��
������ �������� �� ����� �� ������������ ��� 
��� �����������

� ��
�������������

� ���� �� ����� �� ��������� ����
�����

����� ����	
���
 ��
����


����� ������� ��� �������� �� 
� ������� ������� �� ��	�
����� 
� ������
� ��� 
�� �����
��
!� ��������� ��� ���� 
� 	"	�� # ������ ��� ������$� 	��$���
������ ���� ����������� ���
� �����
�� � ��"	���

������� ����	
�� 
���	�	�	�����

%� ������� ���� ����� ������� ��� ��
����� ��&	�������� ����� 
�� '�������� Ψ−1
Y

(
α

2α−1

)
�� Ψ−1

Y |x
(

α
2α−1

)
� !�������$� ���
���� ��� �
��� 
� 	"	� ��� ���� 
�� '�������� Φ−1

Y (α) ��

Φ−1
Y |x(α) �� �$������ ��� 
�� ������
��� �
 '��� �
��� ������ ���� �� ���	��� ��	�� ���

������
���� ����� 1 − ΨY �� 1 − ΨY |x� !# ������� ��� ��� '�������� �� ���� ��� ���
ϕ−'�������� �� ���� �� 
� (�)������ ��� %� '��� �
��� 
�$&���$��� �������� ��� ��� �����*
'��	����� �� ��� '���������

��������	 
� �� ������ 0 < �e(x) < +∞ �� ηe ∈ R ���� �	� 


lim
t→+∞

ΨY |x(t)

ΨY (tη
e)

= �e(x) , +�,���-

�� Ψ = 1−Ψ
 �� ��	�� �� ������ Ω �� Ωx �����{
Ω(t) = − 1

�e(x)ΨY (tηe )

Ωx(t) = − 1
ΨY |x(t)

.

����� Ω−1 �	 Ω−1
x ���������� � �� ������ Kc


%� �����

�

⎧⎪⎪⎨⎪⎪⎩
ΨY (t) = ΦY (x) +

1
t

+∞∫
t

uc1g1(u
2)du,

ΨY |x(t) = ΦY |x(t) + 1
t

+∞∫
t

ucxgd+1(M(x) + u2)du,



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


���� cx = cd+1

cdgd(M(x))
���	
 ��
����	�� ����� ���
� ��� �����	���� ηe �� �e(x) ���	����� �

lim
t→+∞

tη
e−1

+∞∫
t

ucxgd+1(M(x) + u2)du

γ

+∞∫
tη

e

uc1g1(u
2)du

= �e(x). �������

���� ��
����	�� ���� �� �� ���� �� !"��#$�� �� ��%��	������� ��	����� �

ΨY |x(t) ∼
t→+∞

�e(x)ΨY (t
ηe). �����&�


� ��	�	���� ���
� �� '%(�	�	�� ��� �� �� !"��#$�� �� �� ��� ��"�)�� *�	���
��
 ��%��	��+
����� ����,����� *��- �� "
�"��	�	�� ��	������

����������� 		 �
��	������� *�� �."���	��� ���*	�	����� �� 	����*	�	������ 
 ���� ����	


���
�� �� �� � �

Ψ−1
Y |x

(
α

2α− 1

)
∼

α→1

[
Ψ−1

Y

(
1− α− 1

(2α− 1)�e(x)

)] 1
ηe

. �����/�

����
� � '�� ������� 
�"	*�� *������ Ω−1(t) =
[
Ψ−1

Y

(
1 + 1

�e(x)t

)] 1
ηe

�� Ω−1
x (t) = Ψ−1

Y |x
(
1 + 1

t

)
�

0
1�� 2 �� !"��#$�� �� �� ���"�
3�	� ��� Ω(t) ∼
t→∞

Ωx(t)� ���� Ω �� Ωx %���� *�� ϕ−�����	����
'� "���� Ω−1 �� Ω−1

x �""�
�	��� 2 �� ������ Kc� 4� "��� ���
� �""�	���
 �� 5�66� �/� '��-
��%��	������� Ω−1(t) ∼

t→∞
Ω−1

x (t)� 
� *����
�� ��
6���

Ψ−1
Y |x

(
1 +

1

t

)
∼

t→∞

[
Ψ−1

Y

(
1 +

1

�e(x)t

)] 1
ηe

.


� �7������� �� �#��8�6��� *� ��
	�)�� 1 + 1
t
= α

2α−1
� �� �)�	��� �� 
%������ �,,�� �

9����� ��� �	 Ψ−1
(

α
2α−1

)
��

��"��* 2 �� �."���	�� *� �	���� α� Ψ−1

(
1− α−1

(2α−1)�e(x)

)
��� �� �."���	�� *� �	���� (2α−1)�e(x)+1−α

(2α−1)�e(x)+2(1−α)
� 
�	*�66���� �	 �e(x) = 1� �� �	���� ��� α�

4� *%(�	� ���
� *��. "
%*	����
� eEα↑ (Y |X = x) �� eEα↓ (Y |X = x)� 4� 6���
� "�
 ��
��	�� ���	�� ���� %��	������� 2 ���."���	�� �#%�
	��� eα (Y |X = x) ��
���� α → 1 �� α → 0�

��"���	��6����



������ �����	�
�� ��	�
��� ��

��������� �	 ������	
���
 ������	
���
 ��
����
�
 �� ������ �

⎧⎪⎨⎪⎩ eEα↑ (Y |X = x) = μY |x +
√
ΣY |X

[
Ψ−1

Y

(
1− α−1

(2α−1)�e(x)

)] 1
ηe

eEα↓ (Y |X = x) = μY |x −√ΣY |X
[
Ψ−1

Y

(
1− α

(2α−1)�e(x)

)] 1
ηe

.

����
��� �� ����������	� ��
 �����	
���
�
 	
�� Z = (X, Y )� ∼ ECd+1 (μ,Σ, ξ)� 	
�

�����
���
� �� {

eEα↑ (Y |X = x) ∼
α→1

eα(Y |X = x)

eEα↓ (Y |X = x) ∼
α→0

eα(Y |X = x)
.

�
���� � �� �������� �� ����
��� eα(Y |X = x) = μY |x +
√
ΣY |XΨ−1

Y |x
(

α
2α−1

)
� ���	

������
��� ����� �� �������� ���������	� �

 �������
��  ��	�����
 �� 
�	����� ���� �����
α → 0� �� �
���
� ��
 �������
�
 �� 
!��
��� ��
 ��

��"�
���
 �����
����
 # �� 
��
 ���
eα(Y |X = x) = μY |x −√ΣY |XΨ−1

Y |x
(

1−α
1−2α

)
� ��� 
� α′ = 1 − α� �� � eα(Y |X = x) =

μY |x −√ΣY |XΨ−1
Y |x
(

α′
2α′−1

)
� ���	 α′ → 1� ���	 ������
��� ����� �� �"
���


eα(Y |X = x) ∼
α′→1

μY |x −√ΣY |X

[
Ψ−1

Y

(
1− α′ − 1

(2α′ − 1)�e(x)

)] 1
ηe

.

$�����%��
 α′ ��� 1− α ���� �� 
�	���� ���������	�� �
 ���� ���� �� ����
���� �� � &����� ��
 �����	
���
 ����
�
 ��� ������� ��
����
�

�� ����'� ����
����
 ������
 ��

��"�
���
 
�
�
&��
 ��(!��
)�
� * ����� 	����
 ��� ���

����
 ��
�����
�
 ���
 ��  )���
�� ++� ,�� &��
 ��	���� �� ��

��"�
��� �� -����	� �

 ��

���� ��� �� �� ����'� ��
� �� ����� �� �����	)� ��
 	��.	���

 �

�	��
 ���� ��
 ��
��
�

�
��������� �� ��������
�
 ��
 ��
�������
�
 �
������ �
����� �
��������� 	�������

�� 	��
� 
���
�
�� �����
���
� � � �� ��
 �
�!�����
 ηe �� �e(x) �
���
 ���
 �� "���� #$�%�



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


�������	��
� ηe �e(x)
�
�
��� 1 1

�
�
��� �
���
���� 1
max(θ1,...,θm)−d exp

(
− M(x)

2max(θ1,...,θm)2

)
m∑

k=1
πkθ

−d
k exp

(
−M(x)

2θ2
k

)

��	����� ν > 0 d
ν
+ 1

Γ( ν+d+1
2 )Γ( ν

2 )
Γ( ν+d

2 )Γ( ν+1
2 )

(
1 + M(x)

ν

) d+ν
2 ν

d
2+1

ν+d
ν−1

ν+d−1

������ a > 0 d
a
+ 1

21−
a
2 (a−1)Γ( d+1+a

2 )M(x)
d+a
2

a( d
a
+1)(d+a−1)Γ( d+a

2 )Γ( 1+a
2 )χ2

d+a(M(x))

�������� λ > 0 × ×

����� ���� � �
�������� ηe �� �e(x) �
	�  	�� 	�� �!�
���� �� �������	��
�� ������� 	���

" M(x) = (x− μX)�Σ−1

X (x− μX)�

������ � �
� �
�
��� # $��
�%��
���� 
� �
�� ����	��� �� ��
��� �� �&' 	���
� (���)���*�

�+�� gn(t) = exp
(− t

2

)
, ∀n ∈ N� c1 =

1√
2π

�� cx = 1√
2π

exp
(

M(x)
2

)
� ,� �
����%�� ��
��

lim
t→+∞

tη
e−1

∫ +∞

t

u exp

(
−u2

2

)
du

γ

∫ +∞

tη
e

u exp

(
−u2

2

)
du

.

�� 
� ����� ηe = 1� 
� 
������ �������
��� �� ��
��� �e(x) �-��� . 1�
/���������� 
� �
�� 

�����  	� Ω−1 ���������� . �� ������ Kc� $
	� ����� 
� �&���������
. �� ��
���

lim
t→+∞
λ→1

Ω−1(λt)

Ω−1(t)
.

,� � +	 �������

���  	� Ω−1(t) =
[
Ψ−1

Y

(
1 + 1

�e(x)t

)] 1
ηe

� ,� �
�� ��
�� �
�������� ��

��
��� ��
Ψ−1

Y (1+ 1
�e(x)λt)

Ψ−1
Y (1+ 1

�e(x)t)
� 0+�� δ = λ− 1 �� y = 1

t
� ����� ��
��� ��+����

lim
(y,δ)→(0,0)

Ψ−1
Y

(
1 + y

�e(x)(δ+1)

)
Ψ−1

Y

(
1 + y

�e(x)

) .

���� �� �	� �� ����	��� ����� ��
���� 
� ����� �� �

��
����� �
������� ���� 
� �����
δ = r cos(θ)� y = r sin(θ)� �� +���1� �� �� ��
���  	��� r → 0 �!���� �� �� ������ ��� �� θ�
�&
"

f(θ) = lim
r→0

Ψ−1
Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

) .
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�
� �� �� �������� ���
� �� 
���� �� ������	��� �	

f(θ) = lim
r→0

sin(θ)(r cos(θ)+1)−r sin(θ) cos(θ)
(r cos(θ)+1)2

sin(θ)

Ψ′
Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
Ψ′

Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .

�� 
�	�� ��
 �� �
��	� 	��� 
�
� �� �� ����� �� 
����� ������ ����� Ψ′
Y (t) = − 1

2t2

+∞∫
t

ufY (|u|)du�

���� �� ��� ��������� ��		� 
����
 
��	 − 1

t2
ϕ(t)� �	 �e(x) = 1� �� � 	���	 ���
�

f(θ) = lim
r→0

[
Ψ−1

Y

(
1 + r sin(θ)

r cos(θ)+1

)]2
[
Ψ−1

Y (1 + r sin(θ))
]2 ϕ

(
Ψ−1

Y (1 + r sin(θ))
)

ϕ
(
Ψ−1

Y

(
1 + r sin(θ)

r cos(θ)+1

)) .
�� 
�	�� ��
 �� ����!� 	��� ����
����	 
�
� f(θ)2� "����
���	 ����� ��
 �� �
��	�� ��
�������� ��� #��� ����
� �� 
���� �� ������	��� "���� ϕ′(t) = −tϕ(t)� ���� ������	 $

f(θ) = f(θ)2 lim
r→0

[
Ψ−1

Y (1 + r sin(θ))
]3[

Ψ−1
Y

(
1 + r sin(θ)

r cos(θ)+1

)]3 =
1

f(θ)
= 1.

��� %	����	 & ���� �� �
����
 	����� �� ������� �� ����	� �� ��'���	��� ()*�+���, �
��

gn(t) =
(
1 + t

ν

)−n+ν
2 , ∀n ∈ N� c1 =

Γ( 1+ν
2 )

Γ( ν
2 )

1√
νπ

�	 cx =
Γ( d+1+ν

2 )
Γ( d+ν

2 )
1√
νπ

(
1 + M(x)

ν

) d+ν
2
� )� 
��	�

lim
t→+∞

tη
e−1

+∞∫
t

ucx

(
1 + M(x)+u2

ν

)− d+1+ν
2

du

ηe
+∞∫
tηe

uc1
(
1 + u2

ν

)− 1+ν
2 du

= �e(x).

��� ���� #���	���� ���� ��� ��	-�
���� ���	 ���.��������� �	 ���� ������� $ ��	-�
�
� ���/

lim
t→+∞

tη
e−1cx

ν
ν+d−1

(
1 + M(x)+t2

ν

) 1−d−ν
2

ηec1
ν

ν−1

(
1 + t2ηe

ν

) 1−ν
2

= �e(x).

%� �� �
��� ���
� ηe = d+ν
ν
� �	 
������� c1 �	 cx ��
 ���
� 
����
�� �� � 	���	

Γ
(
ν+d+1

2

)
Γ
(
ν
2

)
Γ
(
ν+d
2

)
Γ
(
ν+1
2

) (1 + M(x)

ν

) d+ν
2 ν

d
2
+1

ν + d

ν − 1

ν + d− 1
= �e(x).
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�� �
����� �
 ������� �
���� �� ����������� �� ���� �� �
 �������� Ω−1


��
������ � �
 ��
��� Kc� �
������� �
 ��	���

lim
t→+∞
λ→1

Ω−1(λt)

Ω−1(t)
.

 � ��
�
�� �� 	!	� ��
�"�	��� �� �
��
#�� $�� �
�� �� �
� "
������� �� ���������

f(θ) = lim
r→0

Ψ′
Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
Ψ′

Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
%
�� �� �
� &������� ΨY (t)

′ = − 1
t2

Γ( 1+ν
2 )

Γ( ν
2 )

1√
νπ

ν
ν−1

(
1 + t2

ν

) 1−ν
2
� '� ����� 
���� ���$��	���

f(θ) = lim
r→0

Ψ−1
Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)2
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

)2
⎛⎜⎝ 1 +

Ψ−1
Y (1+ r sin(θ)

�e(x) )
2

ν

1 +
Ψ−1

Y (1+ r sin(θ)
�e(x)(r cos(θ)+1))

2

ν

⎞⎟⎠
1−ν
2

.

&�� �
 "
����� �� �
��� ���� ���� f(θ)2� (� ���	� ��� �
 ������ �
�� 
��	�����$��	���

lim
r→0

(
Ψ−1

Y (1+ r sin(θ)
�e(x) )

2

Ψ−1
Y (1+ r sin(θ)

�e(x)(r cos(θ)+1))
2

) 1−ν
2

= f(θ)ν−1� )��
��	���� �� 
 �
 ���
����

f(θ) = f(θ)ν+1, ν > 0.

%��* f(θ) = 1�
(�� +��	
�� ����
	��
� , �
������� �
 ��	��� �� �� $�
���� -'.�/�
�0� %
�� �� �
�� gd(t) =
m∑
k=1

πkθ
−d
k exp

(
− t

2θ2k

)
� c1 =

1√
2π
�� cx = 1

√
2π

m∑
k=1

πkθ
−d
k exp

(
−M(x)

2θ2
k

) � (� �
���� �� �
 ��	��� �����

lim
t→+∞

tη
e−1

m∑
k=1

θ1−d
k cx exp

(
−M(x)

2θ2k

)
exp
(
− t2

2θ2k

)
ηe

m∑
k=1

πkθkc1 exp
(
− t2ηe

2θ2k

) .

1 �
���� �� 	
�����
��� ������
���� $�� ηe = 1� 1��	�����$��	���� �� �����
����� ���2

$��	��� 
�3 ���	�� exp
(
− t2

2θ2k

)

��� �� ���� "�
�� ���4����� − 1

2θ2k
� ���� �� ���� "�
�� θk�

&��� k∗ ��� $�� θk∗ = max{θ1, ..., θm}� �� 


�e(x) = lim
t→+∞

cxπk∗θ
1−d
k∗ exp

(
−M(x)

2θk∗

)
exp
(
− t2

2θk∗

)
c1πk∗θk∗ exp

(
− t2

2θk∗

) .
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 c1 �
 cx ��� 	���� ��	����� �� ��
���


�e(x) =
θ−d
k∗ exp

(
−M(x)

2θk∗

)
m∑
k=1

πkθ
−d
k exp

(
−M(x)

2θ2k

) .
�� ����
 �� ����
�� 	� �������� ���
�� �� 	�����
���� �� ����
��� 	� ������� �� ����������

������ ���  ��� 	� 	���
�

f(θ) = lim
r→0

Ψ′
Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
Ψ′

Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
!��� �� ���� �� � 	� ��	�
��� Ψ′

Y (t) = −t−2
m∑
k=1

πkθkϕ (x/θk)� "� ����	����
 Ψ′
Y ���� 	�

	���
� ��������
�� �� ��
���


f(θ) = lim
r→0

Ψ−1
Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)2
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

)2
m∑
k=1

πkθkϕ
(
θ−1
k Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
m∑
k=1

πkθkϕ
(
θ−1
k Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
#� 
���� ��� 	� $����� 
��� ���� f(θ)2� %��� ��	��	�� 	� 	���
� �� ������ ��
��� �� ����
�&
����� ���'�����
 ��( 
����� �������
�� ���� 	�� 
����� ���� 	�� �	�� $����� − 1

2θ2k
� ���
 	��

�	�� $����� θk� )��
 k∗ 
�	 '�� θk∗ = max{θ1, ..., θm}� *	 ���
�

f(θ) = f(θ)2 lim
r→0

ϕ
(
θ−1
k∗ Ψ

−1
Y

(
1 + r sin(θ)

�e(x)

))
ϕ
(
θ−1
k∗ Ψ

−1
Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
!��� 	� ��� $�������� �� � ���
�� �� ������� ����	���� '�� f(θ) �
��
 �$�	 + ,�

#�� )	��� - �� ��������� 	� 	���
� �� 	�"'��
��� .*��/���0� ���� gn(t) =
χ2
n+a(t)

t
n+a
2

, ∀n ∈ N
∗�

cx = 1√
π

Γ( d+1+a
2 )

Γ( d+a
2 )

M(x)
d+a
2

χ2
d+a(M(x))

�
 c1 =
2
a
2−1aΓ( 1+a

2 )√
π

� %�� ��
�$��
��� ��� ���
��� �� ��
���


�e(x) = lim
t→+∞

tη
e−1 cx

d+a−1

[
(M(x) + t2)

1−d−a
2 χ2

d+1+a (M(x) + t2) +
2
1−d−a

2 exp

(
−M(x)+t2

2

)
Γ( d+1+a

2 )

]

ηe c1
a−1

[
tηe(1−a)χ2

1+a(t
2ηe) +

2
1−a
2 exp

(
− t2

2

)
Γ( 1+a

2 )

] .

�����
�
�'�����
� �	 ���
�

�e(x) = lim
t→+∞

(a− 1)tη
e−1cxt

1−d−a

ηec1(d+ a− 1)tηe(1−a)
.
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���� ηe = d/a + 1� �� 	�
 ��	��

 �� cx �� c1� �� ������� ��
�������� 	� ��	��
 �� �e(x)
������ ���
 	� ���	� ����� �����
���� 	�����
������� � 	� �	�

� Kc� �� ��
�

f(θ) = lim
r→0

Ψ′
Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
Ψ′

Y

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
���
 	� ��
 �	�
 � Ψ′

Y (t) = − 1
t2
2

a
2
−1 a

a−1

Γ( 1+a
2 )√
π

(
χ2
1+a(t

2)

|t|a−1 + 2
1−a
2

Γ( 1+a
2 )

√
2πϕ(t)

)
� ���� �� ��	�
�

f(θ) = lim
r→0

Ψ−1
Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)2
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

)2
χ2
1+a

(
Ψ−1

Y (1+ r sin(θ)
�e(x) )

2
)

|Ψ−1
Y (1+ r sin(θ)

�e(x) )|a−1 + 2
1−a
2

Γ( 1+a
2 )

√
2πϕ

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
χ2
1+a

(
Ψ−1

Y (1+ r sin(θ)
�e(x)(r cos(θ)+1) )

2
)

|Ψ−1
Y (1+ r sin(θ)

�e(x)(r cos(θ)+1) )|a−1 + 2
1−a
2

Γ( 1+a
2 )

√
2πϕ

(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

)) .
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 ����� ��
 �� �
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�
χ2
1+a(t)

t


��� ��
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 ���
� �
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f(θ) = f(θ)2 lim
r→0

ϕ
(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)

))
ϕ
(
Ψ−1

Y

(
1 + r sin(θ)

�e(x)(r cos(θ)+1)

))
�� � ��� ������� ��

� ��	�
� ���� �� ��� ��������! �
 �� �� 
���
��� f(θ) = 1

f(θ)
= 1! ����
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�
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�� � ���
� ��"�� ��� �
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� ���#���
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 ��
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� ��
 ������  ����
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�	��#�

������� ���	
��	�
 ��� ����
����� �����
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�� ���
��� ���  ��
�	�
 ��� ��
�	(

�� ηe �
 �e(x) �� �� ��"��
��� )�� �� ���
 ��� ���

�
����
��
� ��� �� ��������
 ��������
 �����	��
 ��� ����
�
�� μY |x! ΣY |X �
 Ψ−1
Y � ��

�� ���
� �������
! ���
 ��� 	�	�� 
������ ��� ������ �#�������� ���� �� *��
��� +++�,���!

��� μY |x �
 ΣY |X ���
 ������� +� �� ���� 
��
� ���� ���� ��� ��
�	�
 ηe �
 �e(x) ����

��
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���� ���


�� ����
����

/
����� ���
� Z = (X, Y ) ∼ ECd+1 (μ,Σ, ξ)! �
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�� ������� X1, . . . ,Xn ����������
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 ���
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X ∼ ECd (μX ,ΣX , ξ)� �� 
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�
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 ������ �� 
���
�
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� ηe 

 �e(x) 
���

�
� 

 ���
 
�	����� ����
 ���
 �⎧⎪⎨⎪⎩

ηe = 1 + γd

�e(x) =
Γ

(
d+γ−1+1

2

)
Γ
(

γ−1+1
2

) π− d
2

(γd+1)cdgd(M(x))
1−γ

1+γd−γ

.
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�� �	��	
��� ��������� �� �	 ��

����
��� Y |(X = x)� �� ����� 	���
 �� ����� 
���	�
� %��
���
�� %�� Y |(X = x) �

 & �	��	
��� ���������� ���
 �����
�� �	 �����
�
��� '(�

�
��
 	� ")����� �� �	��	
��� ��������� �� Y |(X = x)$� ���� ����	�
���
 �� �� ���
���

��
��� Y |(X = x) 
�
 � �����
��� ��������
 �������
 (γ−1 + d)−1� ��
�
 � ���
 �

lim
t→+∞

ΦY |x(tω)

ΦY |x(t)
= ω− 1

γ
−d, ∀ω > 0.

��
��
 �� �
��
� *	 ���
�
� �� Y |(X = x) �

 ������ �	�

cd+1gd+1

(
M(x) + (t− μY |x)2Σ−1

Y |X
)
(cdgd (M(x)))−1 ,

�+ M(x) = (x − μX)�Σ−1
X (x − μX)� ���� 
�����,��� �� ���
����� �� �	
 ���
�� �����
�

���� μY |x = 0 �
 ΣY |X = 1� -� �	���� �	���� �����

lim
t→+∞

ΦY |x(ωt)

ΦY |x(t)
= ω lim

t→+∞
gd+1(M(x) + ω2t2)

gd+1(M(x) + t2)
= ω lim

t→+∞
(M(x) + ω2t2)−

d
2

(M(x) + t2)−
d
2

fRd+1

(√
M(x) + ω2t2

)
fRd+1

(√
M(x) + t2

) .

*�#%�	
��� ""��$$ ���� &

lim
t→+∞

ΦY |x(ωt)

ΦY |x(t)
= ωω−dω− 1

γ
−1 = ω− 1

γ
−d.

�



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


������ �� �� ��	
	��
�	�� �� �����		�

�e(x) = lim
t→+∞

ΨY |x(t)

ΨY (tηe)
.


	 ����
 ��� 
��� ����	���� �� ���
���� �� �
�	����
 	�����
��� ���� ���� 	� 
������ ��
������
� ��� 	�� ��
����	�� ��  ���
��� ! "����
��� ����	����� �� #��� �����
����
 	� ����	$

�
 �� %&�		��� �
 �	'� (��)*� ��� ΨY (t) ∼ (1 − γ−1)−1ΦY (t) ����� t → +∞' +� 	� �,��
�������� �� � ΨY |x(t) ∼ (1− γ−1 − d)−1ΦY |x(t) ! 	����� �� -���� ./' -� ��	��	 �� �e(x)
�� �����
 �	��� !

�e(x) = lim
t→+∞

(1− γ−1 − d)
−1

(1− γ−1)−1

ΦY |x(t)

ΦY (tηe)
,

���
� ! �� ���0����
 ����� �� ��	��	 �� �(x) ���� 	� ��� �� ����
�	�� ����� ���� 	�����$

��� ��1�' +�� 	���� �	 ��0
 �� ������� ηe = η� �
 �� �#
���
 �e(x) = �(x)(1−γ)/(1+γd−γ)'
�

�� "��
 �	�������
 ��� ηe = η �
 �e(x) = �(x)(1− γ)/(1 + γd− γ)� �2 η �
 �(x) ���

������ ���� 	�����
��� ��1�' 3�� �������
�� �� ��
��� �	��� η �� 	��� �� ηe ��� 	� ���
�'
-��
��� ����	���� �4��
��� ���� 	� 5��
��� 


'.'#' ���� �����
 �� ������� ����6  ���	����

��� ��
���
���� ���� ��� ������
���� ����� ��� 	���� ���
��#�
���� ��7��
�
�����' -���
�$
��
��� ���� η �
��
 ��8! ��
�����
 ���� 	� +�9��
��� �.� �� ������� �	��� �� ��
���
���
���� �e(x) ������ �� ��	�� �� 	� +�9��
��� �1 ��	�
� ! �(x)'

�����
�	� �� ���
���
��� �� �e(x)�� �� ������ �̂ekn,hn(x) �	

� �

�̂ekn,hn(x) =

Γ

(
d+γ̂−1

kn
+1

2

)
Γ

(
γ̂−1
kn

+1

2

) π− d
2

(dγ̂kn + 1) ĝhn(M(x))

1− γ̂kn
1 + dγ̂kn − γ̂kn

,

	
 γ̂kn �� ĝhn(M(x)) �	�� ����������
��� �	���� ���� ��� ������	�� �


'.'#'� �� ��)��

-� 	�� ��7��
�
���� 8���
� �� ����	� (η̂kn , �̂
e
kn,hn(x)) �� �����
 ���	����
 �������


��� ����	
�
� �� 	� 5��
��� 


'.'#''

��	
	��
�	� �� �:����	�
� ��7��
�
���� �� (η̂kn , �̂
e
kn,hn(x))�� �� gd �� K ������	�� ���

�	�����	�� (i)− (iii) �� ���	��
� �� �� �� ���!� "# �	�� ��$%�	����� & ���� γ < 1# �� ��√
knA

(
n
kn

)
→ 0 ����� n → +∞# ��	�� 	� � ��� ������	�� ��%
��	������ ��������� �

'�( �� nhn/kn →
n→+∞

0 �� nh5
n →

n→+∞
0# ��	��

√
nhn

(
�̂ekn,hn(x)− �e(x)

η̂kn − η

)
→

n→+∞ N
((

0
0

)
,

(
V e
2 (γ, cdgd(M(x))) 0

0 0

))
.



������ �����	�
�� ��	�
��� ��

���� �� nhn/kn →
n→+∞

+∞ ��
√
knh

2
n →

n→+∞
0� ���	


√
kn

(
�̂ekn,hn

(x)− �e(x)
η̂kn

− η

)
→

n→+∞ N
((

0
0

)
,

(
V e
1 (γ, cdgd(M(x))) −dγ

√
V e
1 (γ, cdgd(M(x)))

−dγ
√

V e
1 (γ, cdgd(M(x))) d2γ2

))
,

�� Ψ �
� �� ��
����
 ������� ����	 ����� �� ���	������� �� ���� ��  !"� �� #⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩
V e
1 (γ, cdgd(M(x))) = π−dγ2

c2dgd(M(x))2

Γ

(
d+γ−1+1

2

)2

Γ
(

γ−1+1
2

)2
[

1−γ
2γ2

Ψ

(
γ−1+1

2

)
−Ψ

(
d+γ−1+1

2

)
γ2d(d−1)+γ(2d−1)+1

+ γ2d(d−1)−2γd(d−1)−2d
(γ2d(d−1)+γ(2d−1)+1)2

]2

V e
2 (γ, cdgd(M(x))) =

Γ( d
2)

M(x)
d
2−1π

d
2
cdgd(M(x))

∫
K(u)2du

[
Γ

(
d+γ−1+1

2

)
Γ
(

γ−1+1
2

) π− d
2

(γd+1)c2dgd(M(x))2
1−γ

1+γd−γ

]2 .

������ �

��� �� � 	
���
 ���� �� ������ �� �� ��
�
����
� �� ���

√
nhn

(
γ̂kn − γ

ĝhn(M(x))− cdgd(M(x))

)
→

n→+∞
N
⎛⎝(0

0

)
,

⎛⎝0 0

0
M(x)1−

d
2 Γ( d

2)
π

d
2

cdgd(M(x))
∫
K(u)2du

⎞⎠⎞⎠ .

�� 	
��
�� ����� 	��������
� �
��� ��
�� �� �
�������

���� ��	� ����
���	��� ����

√
kn

(
γ̂kn − γ

ĝhn(M(x))− cdgd(M(x))

)
→

n→+∞
N
((

0
0

)
,

(
γ2 0
0 0

))
.

�
�� ��  ����� ��� ��� �
������� �� ����� �����
�! 
� ��
�
�� ���� �� �����
� �������� ���

����	������ �
�� ��� �"�������� �
�����
����� �"���	�� eα (Y |X = x)�

������� ���	
��	�
 ��� ������	��� �����
��

��� ����	������ ������#� ��" ����	$���� η �� �e(x) �� �� �����
� ��
�
����� �
�� 	���%
������ �
�� ���� ������ �
�� ����	�� ��� �"�������� �� ������ αn ���� αn → 1 �����
n → +∞� &
		� ���� �� '����
� (((�)���! 
� �� ������� �*
���� ��" ��� n(1−αn) → +∞
�� n(1− αn) → 0� �� #��� �*�������� �
#
����� ��" �
�����
�� (C)! (Cint)! (Chigh)!

(
CHG

int

)
��
(
CHG

high

)
�
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��������� ��	
���

� ���
��������
�

������	
��� ���
� n(1−αn) → +∞
 �� �� ���� �� ��
����
� ������
����
 ���
� 	�����
������ ���� �� ��� ��� ���������� ����	� ��� �� ���� ���� ����� ��� ����������
 �� �� ����
���
���
� �� �����
� ����� ��� �� ��� ! ������ �� ��"������� #�$%� �� ��������� �� ���
���� un� ��� ��
� �� �������� ���� �
� ���� �� ������������ �����
��� ���� �� &������� ��
���
��' #(�% #���
 )*����� �� ��
� �+(,�-%� ���� ��	����
 ! �� ��������� 1/η


��������� �� #"��������
 ������������ ����
�	����
��%� ���� ����	�
���
 � ��
� γ < 1
2
�

�� �����

(
êEαn↑(Y |X = x)

)
n∈N ����
 �

êEαn↑(Y |X = x) = μY |x +
√
ΣY |Xe

1
η̂kn
ũn

, #./
�(%

��

∀α ∈]0, 1[, eα = argmin
e∈R

1

n

n∑
i=1

S2,α (Wi − e) ,

ũn = 1 − (1 − αn)
(
(2αn − 1)�̂ekn,hn

(x) + 2(1− αn)
)−1



 W 
�
 �� 	�
����
 ��� �������

�
��
�
 ����	��

 ����
��
 ���	����

 �� �
�

�� Λ−1
X (X − μX)!

�� 
���
��� ��� ��� �� ��������� γ < 1/2 ��� �	������
�
 "� �0��� ������������ ��
����������� �� ������ un = 1− (1−αn) ((2αn − 1)�e(x) + 2(1− αn))

−1 ��
 �� �
� ���� ��
������������ 
�����
� ����������� �� ������� ���
�
� �
 "� ��������� �� ���� 
�����������
��� ����� ������	 ���
 �� �
���� �� 1�	�
��� �(� �� ��� ����� ����������� �� �
���� ��

	������ �� ��
�����	 ��2��������� �������
�� �� � &�
���
� �� �����������


�������
 �� #3
��
�	�	� �� êEαn↑(Y |X = x)%� ���� ����	�
���
 � ��
� γ < 1
2
� 

 �
�

�����
���� (C), (Cint) �

√
kn

ln (1− αn)

(
êEαn↑(Y |X = x)

eEαn↑(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

d2γ4

(γd+ 1)4

)
. #./
��%

"�� �������
�
 �
êEαn↑(Y |X = x)

eαn(Y |X = x)

P→ 1 ������
 n → +∞. #./
�$%

#���� 
� �
�	��$��
 ����	�
���
 � 	�� ����	�
���
 %� 

 
� �&��
��
 �� �����
���
(
CHG

int

)
�

�� �'
�
�
 �

√
kn

ln (1− αn)

(
êEαn↑(Y |X = x)

eαn(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

d2γ4

(γd+ 1)4

)
. #./
�4%



������ �����	�
�� ��	�
��� ��

������ � �� ����	� �
� �

�� 

�
��
�� � ����� �� �������� ��� �� � �������

√
kn

ln (1− αn)

(
êEαn↑(Y |X = x)

eEαn↑(Y |X = x)
− 1

)
∼

n→+∞

√
kn

ln (1− αn)

⎛⎜⎝ e
1/η̂kn
un

Ψ−1
Y

(
un

2un−1

)1/η − 1

⎞⎟⎠ .

�
 �� 
�
�����

� � �� ����
�� ����� �� �� �������
� �� �� ���
��� 
�
	����

√
kn

ln (1− αn)

⎛⎜⎝ e
1/η̂kn
un

Ψ−1
Y

(
un

2un−1

)1/η̂kn
− 1

⎞⎟⎠Ψ−1
Y

(
un

2un − 1

)1/η̂kn−1/η

+

√
kn

ln (1− αn)

(
Ψ−1

Y

(
un

2un − 1

)1/η̂kn−1/η

− 1

)

!���������
 ���
 
�� �� ����
�� ������ �� � ���
�
������ η̂kn "�
 ���	��#� ��
√
kn "����

eun ���	��#� ��
√

n(1− un) $	�
� %&���
� �� ��� �'�(�)*� �� � ����� ���� ���

���
��
�	
�����

√
kn/ ln(1 − αn) = o

(√
kn
)
� &� ������� �� ����
�
�� (Cint) �

���

√
kn/ ln(1 −

αn) = o
(√

n(1− αn)
)

� �� �� �
√
n(1− un) ∼ �e(x)−1/2

√
n(1− αn) ���+ �� ����
��

����� ���� 	��
 ' "���� n → +∞� ,�����
 ����
 �� 
����� ������ �� 
�����-�
� �����
���� �� �������� �� "��

√
kn

ln
(
Ψ−1

Y

(
un

2un−1

)) (Ψ−1
Y

(
un

2un − 1

)1/η̂kn−1/η

− 1

)
→

n→+∞
N
(
0,

d2γ2

(dγ + 1)4

)
.

.�/� 
� �
� ������ ���
 %0���
�
 �� ��� �'�1) �� %&���
� �� ��� �'�(�) "�� ��
 "����
��



��� �
2�����
"������ �������
�����
 ��3 �3����
��
� &��+ ���"�
	������ ln
(
Ψ−1

Y

(
un

2un−1

))
∼

−γ ln(1− αn) "���� n → +∞ �� �� ��
����� $�4*�
.�/� ���� ������� �� ����
��� ������
�� �
2�����
"�� 
� 5��� ����	�� "��

lim
n→+∞

√
kn

ln(1− αn)
ln

⎛⎜⎝Ψ−1
Y

(
un

2un−1

) 1
η

Ψ−1
Y |x
(

αn

2αn−1

)
⎞⎟⎠ = 0.

�� ��
�

� ������ �� ���6���
 �� �������
�����
�� �
2�����
"�� ����� "����
�� �� �3����
�� 
���+ �� �����
�� 
�
	���� 
��
 ��72�����
� � 8

ln

⎛⎜⎝Ψ−1
Y

(
un

2un−1

) 1
η

Ψ−1
Y |x
(

αn

2αn−1

)
⎞⎟⎠ = ln

(
Φ−1

Y (un)
1
η

Φ−1
Y |x (αn)

λ1
1 + λ2(1− un)

−ρ

1 + λ3(1− αn)
min{−ρ,2γ}

γd+1

)
, λi ∈ R.

.� �������
��� �� ��� 
���� �� ���3 ��#��
����
 �� � 	� ���
 �� ����	� �� ����9
���� �� "�� �� ����
�� �����
� 	��
 ' 
��


(
CHG

int

)
� &��
 ����� �:�� ����	� �� ������

�� ����
���
�� "�� √
kn

ln(1− αn)
ln

(
1 + λ2(1− un)

−ρ

1 + λ3(1− αn)
min{−ρ,2γ}

γd+1

)
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���� ���	 
� ��
� �� ��	����� ����� �
�
��� �
�� ���	�������� �� �������� q̂Eαn↑(Y |X = x)� ����
�� �� �����
� !	� � ������

��
"����� �� �
������� �	����
����� ���� ���# eEαn
(Y |X = x) �� ���� �� eEαn↑(Y |X = x)�

��������� ��	
� �
���
����

$���
�	 n(1 − αn) → +∞� %� 	���� αn ������� ���	 & ��
� ���������� �
�� ��'
������� ����#������ ������
# � ���#������� 
� �� ��
�	 # 
�	�� ��� 	���� ���� �������'
������ �
�� �������� 
� �� �	����� �� �(��#���� ���# ���	�������� e� ���	 �����	�� ��	 ��
'
������	 �� �������
� ��)���!�� �
�� #
�	������ �� �	�������� �� �
��� �(��#���� �(��*���
����� ����� ��� ��
� � ���+ �����	�� ���	 �� ,�#��
� ---���#�� �	� "�	�� 	�� ��	 ����
# �	
�� .�� ���� ��� /�������� 0

12 
� .3��		���� &�4�2 ���	 �� #���� ��	 ��������	� 5��� �
�)������� ��� ��������� ��( �(��#����	 ���	 .6�
��� �� ���� 0
&4�2�

�����
��� �� �5	�������� ��  ���	 �(��#����	�� ���� ����	�
���
 � ��
� γ < 1
2
� ��

�����

(
ˆ̂eEαn↑(Y |X = x)

)
n∈N

����
 �

ˆ̂eEαn↑(Y |X = x) = μY |x +
√
ΣY |X

[(
kn

n(1− ũn)

)γ̂kn

e1−kn/n

] 1
η̂kn

, �-7�08�

�� �
� ����
�
�� ũn� e 

 W ���
 ��		
��
� ���� �� �����
��� ���

�
��� �����
��� ���	 .6�
��� �� ���� 0
&4�2� �� ��� �	�������� � �� �*�� �
� �	���'
�
����� ��� ���	�������� �� �������� �(��*�� ��9�� ���	 �� # ������ ���#������ :� ������
��
�	 	��	 ��;#���� �� ��	����� 	�������

�������� �� �$�
������	 �� ˆ̂eEαn↑(Y |X = x)�� ���� ����	�
���
 � ��
� γ < 1
2
� �
�

�����
���� (C), (Chigh) ����� ��

k
γ+1/2
n

nγ → λ ����� n → +∞� �� � �

√
kn

ln
(

kn
n(1−αn)

) ( ˆ̂eEαn↑(Y |X = x)

eEαn↑(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

(
γ

γd+ 1
− θ

dγ2

(γd+ 1)2

)2
)
.

��� �������
�
 �
ˆ̂eEαn↑(Y |X = x)

eαn(Y |X = x)

P→ 1 ������
 n → +∞.

 ���� 
� �
�	��!��
 ����	�
���
 � 	�� ����	�
���
 "� 

 
� �#��
��
 �� �����
���
(
CHG

high

)
�

�� �$
�
�
 �

√
kn

ln
(

kn
n(1−αn)

) ( ˆ̂eEαn↑(Y |X = x)

eαn(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

(
γ

γd+ 1
− θ

dγ2

(γd+ 1)2

)2
)
. �-7�01�
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�	�	�� ��	 �� ��
 �
�
�	 �	 ���� 	�� �	��	 �	

√
kn

ln
(

kn
n(1−αn)

)
⎛
⎜⎜⎜⎝
[(

kn
n(1−un)

)γ̂kn
e1−kn/n

] 1
η̂kn

Ψ−1
Y

(
un

2un−1

) 1
η̂kn

− 1

⎞
⎟⎟⎟⎠Ψ−1

Y

(
un

2un − 1

) 1
η̂kn

− 1
η

+

√
kn

ln
(

kn
n(1−αn)

)
(
Ψ−1

Y

(
un

2un − 1

) 1
η̂kn

− 1
η − 1

)

����	 �	��
���� ���� ����� �� �	�� ��
���

	
 �� ����
��	 � �	 � ���
� 	� ��!� �"#$�%�
	� 
	�����	
 ��	��
���	�
 ��	&�	��
�	 ��
 �	��
 �� �����
�	! '	� �	�& �	
�	� �	 �	��	 ����	
��� ���� 	&���	�	�� ����	 �
��

(��
�� ��)�����
��	 �� ��
 (
*�

�	 �� ����
��	 ���
���+ �	 
�������! '� ��
���
�� ��)�����
��	 �,"� ���(�
	�� �	 �� �-�	 ���
�
	 ��	 ����
�� �
	�*	 �� ����
��	 �.! �

������� ���	
 ���
 ��
 ���	����
 �������


'����
���	 ��	 ���� �*��� �
�����	 /�����0 ��
��	���� ���
 	��
�	
 �	� 	&�	��
�	�
����
�
���	�� ����
�
�	 ��� *
�
�	�� �	� 
	���
��� ��)�����
��	� ��
 	&
��	�� 	��
	 �	� ����1
�
�	� 	� 	&�	��
�	�! 2� 	3	�� �4	��
�
 	� ��!� �"#,% ��� ���(�
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*��	��	 	��
	 �	� ����1
�
�	� 	� 	&�	��
�	�� ��
���	 �	 �
*	�� α �	���
� *	
� #!  	 �	�� 
�������� ���� �	
�	��
�
	��
�	 ��5�

 �	 ���*	��& 	��
���	�
� (���� ��
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�	� 	&�
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�
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 	��	 � ��� ���� �� �
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 �	��� 
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���
�	 ���� �4	��
�
 	� ��!� �"#,%� 	��	 ���*�
	 -�
	
���� ��
����	 ���� ��8)������	 �! 2��	 	�� ������	�� ��
�
��	 ���� � ���
� 	� ��!� �"#$�%!

�����	
�
�� 
� �2��
*��	��	 �����
�	1	&�	��
�	�� ���� �� �����	�
 Y ∼ EC1 (μY ,ΣY , ξ)�

�
 ������
 ��
 ����������
 � 
�� ���������
 ��
� γ < 1� 
� �
 
��
 Y ′ = (Y − μY )Σ
−1/2
Y �

�� ΦY 
�� ������
�

� �������
�
� �����

eα(Y
′)

qα(Y ′)
=
(
γ−1 − 1

)−γ
(1 + r(α)) �69!�$�

��
� r(α) =

(
(γ−1−1)

−ρ

1−ρ−γ
+

(γ−1−1)
−ρ−1

ρ
+ o(1)

)
A ((1− α)−1) ������
 α → 1�

:����� ��	 ��	&�
	��
�� �� 
	��	 r(α) �
1�	���� ��
�
�	 �	 ;�
� ��	 E[Y ′] = 0! < ��
1
�

 �	� �����
�	�� 
� 	�� ���� ���	= �
���	 ��	� ����
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� �	 ��5�

 �	� 	��
���	�
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� 
������
���



�� �������� �	
 ���������
 �� �����
 ��
���
 ��������������


(
ẽEαn↑(Y |X = x)

)
n∈N�

(
˜̃eEαn↑(Y |X = x)

)
n∈N ��

(
˜̃̃eEαn↑(Y |X = x)

)
n∈N

����� �

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

ẽEαn↑(Y |X = x) = μY |x +
√
ΣY |X

(
W[nṽn+1]

) 1
η̂kn

(
γ̂−1
kn

+ d− 1
)−(γ̂−1

kn
+d)

−1

˜̃eEαn↑(Y |X = x) = μY |x +
√
ΣY |X

((
kn

n(1−ũn)

)γ̂kn
W[kn+1]

(
γ̂−1
kn

− 1
)−γ̂kn

) 1
η̂kn

˜̃̃eEαn↑(Y |X = x) = μY |x +
√
ΣY |X

[
W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn (

γ̂−1
kn

+ d− 1
)−(γ̂−1

kn
+d)

−1

.

�������
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��
�� ẽ 
�� ������ ��� 
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� ���
�
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�� �� ���� ����� 
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������� �� �������
 �
 ���
�� ���
�
������
� ���� ������
 �� �
������ �� 
�������
 �!"��
#�
 �
��
 ������$
 
�� ��
 ���
������
 �����
�����
 % �� &�'������ ��� ��� 
��
 �
�

�
�
 �
 �����
� �
 �� ��������� γ < 1/2� 	
 �
���� ˜̃e 
�� ���������
 ���� �
 ��� �
� $����

��
����
�� 
� 
�� 
����


�� �
 
(

 ��
 ��)� % �� ������ ��*� + ��
��
����
 e1−kn/n 
���
�
��� �
� 
�����
� ������ �� 
������
� 
�� �

����� ��� ��
 ����������
 ������
 
���
��� �

�������
 �
 ���
�� 1−kn/n� ��
 ���� 
�������
 ��� �
 ��
,��
�� �
 ��-������� ��)�� -�'��
�
 �
���
� 
���
��
��� ��������� ���� �
� $���� 
��
����
�� 
���

 ���� �� ��

�
� �

��
�
 $��� �������
 % �� 
���*�
 �
 �� &�'������ ".� ����� �
 
�������
� ��� �
 ��
,��
��
�� 
�������
� &��� �� ��

�
� �

��� ������� �� ������������ �� 
�������
 �
 ˜̃e�

�������� 	
 �/��������� �
 ˜̃eEαn↑(Y |X = x)�� ��	
 ��
������
� � ���� γ < 1
2
� ��


���������
 (C)� (Chigh) ���
� �	� k
γ+1/2
n

nγ → λ < +∞ �	��� n → +∞� �� � �

√
kn

ln
(

kn
n(1−αn)

) ( ˜̃eEαn↑(Y |X = x)

eEαn↑(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

(
γ

γd+ 1
− θ

dγ2

(γd+ 1)2

)2
)
.

��� ���
��	��� �
˜̃eEαn↑(Y |X = x)

eαn(Y |X = x)

P→ 1 ���
�	� n → +∞.

����� �� ���������� ��
������
� � ��� ��
������
� �� �� �� � �	���� �� ���������
(
CHG

high

)
�

�� �!����� �

√
kn

ln
(

kn
n(1−αn)

) ( ˜̃eEαn↑(Y |X = x)

eαn(Y |X = x)
− 1

)
→

n→+∞
N
(
0,

(
γ

γd+ 1
− θ

dγ2

(γd+ 1)2

)2
)
.
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��
 �� 0$���*

 !1� 
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�� 0$���*

 ) �
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������ �����	�
�� ��	�
��� ��

���� �� ��	
��� �
����
�� �� ������� ��� ��
���
�
�� ��
� 
�� ������� �� ���
���
�� ����
�� ��������
 ��� �
��
���� �
 ����	
����� ��� ���
�
�
� �����
�
��
�� ������
�

���
 ����� ������� � ���
�� ����
��� �� ��
��� ���
��� 	�
� ��� ��
���
�
�� ẽ �
 ˜̃̃e �� ��
�����
��� ���  �������
� 	�� ���
�
�
� ��	����
��
 ��� 	����
���� ��
� ���
��� !� 	�� ��
�"����	
��� ����
� ���	 
� ��
��#
 ���
�	
���� ����	� 	�$�����
��

�������� 	
 %&������
�� �� ẽEαn↑(Y |X = x) �
 ˜̃̃eEαn↑(Y |X = x)'� ��������� ��� 	
��


������� � �� 	� ��������� (C) ������ ������������ ���� 	�� ���������� ����	���������� (Cint)
�� (Chigh) ��������������� �� � �⎧⎨⎩

ẽEαn↑(Y |X=x)

eαn (Y |X=x)

P→ 1
˜̃̃eEαn↑(Y |X=x)

eαn (Y |X=x)

P→ 1
	������ n → +∞.

�� �	��� �� ����	����� 	
��������� � ��� 	
���������  � �� �� �!������ 	�� ����������(
CHG

int

)
��
(
CHG

high

)
��������������� �� �"����� �⎧⎪⎨⎪⎩

√
kn

ln(1−αn)

(
ẽEαn↑(Y |X=x)

eαn (Y |X=x)
− 1
)

→
n→+∞

N
(
0, d2γ4

(γd+1)4

)
√
kn

ln( kn
n(1−αn))

(
˜̃̃eEαn↑(Y |X=x)

eαn (Y |X=x)
− 1

)
→

n→+∞
N
(
0,
(

γ
γd+1

− θ dγ2

(γd+1)2

)2) .

���
�� � (
 �
 ��� )*���+��� �, �
 �-� ��� 	�����
��	�� ���
 �������
��� ���� 	�

�
���
��� �� ��
� Y0|x =

(
Y |(X = x)− μY |x

)
Σ

−1/2
Y |X �� �������� 	��
��� ���
�
� ����
��� �

Y |(X = x)� (��	 	�

� ��
�
���� �� � eα(Y |X = x) = μY |x+
√
ΣY |Xeα(Y0|x)� �� ��
�� ��

qαn
(Y |X = x) ��
 
� ��
���
�
� �� �
��
��� 	����
������ % q̂ �
 ˆ̂q'� �� � �� ��	������
���

�
����
� .

qαn
(Y0|X = x)

(
γ̂−1
kn

+ d− 1
)−(γ̂−1

kn
+d)−1

eαn (Y0|x) − 1 =
qαn (Y0|x) (γ−1 + d− 1)

−(γ−1+d)−1

eαn (Y0|x) − 1

+

⎛⎝qαn
(Y0|X = x)

(
γ̂−1
kn

+ d− 1
)−(γ̂−1

kn
+d)−1

qαn (Y0|x) (γ−1 + d− 1)−(γ−1+d)−1 − 1

⎞⎠ qαn (Y0|x) (γ−1 + d− 1)
−(γ−1+d)−1

eαn (Y0|x) .

/� 

������
 �� ����
��� %�,'� �� ����
� λ ∈ R 
�� �
�

qαn (Y0|x) (γ−1 + d− 1)
−(γ−1+d)−1

eαn (Y0|x) − 1 = (λ+ o(1))A∗
(

1

1− αn

)
�
��� n → +∞.

0� � �
 ���� �� ���
�� �� �� &������
��� �� �
� ��
� �"1���
*+�� -� ����� �
� ��� 	����
����(
CHG

int

)
�

(
CHG

high

)
� �� ����
⎧⎨⎩

√
kn

ln(1−αn)
A∗
(

1
1−αn

)
→ 0

√
kn

ln( kn
n(1−αn))

A∗
(

1
1−αn

)
→ 0

�
��� n → +∞.
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√
kn� 	� ��
 ��	���
 ��� �� 
�
�� ��

� ��
��
����� �� �����

�
�

�����
�
	������
 ����� ����
	��
��
 �� ����
	�� q� ��� ��� ��
���	
�� �����
�
	����
	���
	���� ! ������ ��� "���
	��� #$$% �
 #$&%� �

����� ����	
 �	
��	
 �	 �

��	 	�����	
 ��
�	
 
�� �	

�����
�	

'���� ����	��� ���� ��	�

����
	�� �� �� ����	

�� ��� �	�	
�� �� ����
	��� ������ ��
(
)�	� *���� �
 +	�, #��	
 -�	����	�
 ��� .��
���� $///0%� ��
 ������ �� ����
��� ��
��
� !
�
�����
 ����

�� ����
�� �� 
	���� ����� ��
�
��
	�� �� ����
	��� 1	 ���� ����� �����
�
2�����! ��	�
����
 �� ��� �� �������
	��� �� �
����
� ���� ��

� ���
	�� ���� )��	���� ��
����
�� �� 
	����� �� ����� ��� ���� ������� ���
 �����
�
	������
 �	��� �� ����
	��� ��
��	 ���� ��
��


� �� ����

�	
� ��� ��
	��
��
� ����� ��
 ���� �� �� 1��
	�� ����3����

������� Lp−����	
��


4� �	��
 �� ��	
 �� ��
�	� ��� ��
	��� �� ����
	�� �
 �������
	��� 5	�������
� ��� ����
����
�� ����

	�����
 ! ��� �6�� )��	��� ������� Lp−����
	���� 7�� ��� �
��	�
�� ��(
��
	
	��� �� ��

� ��
	�� ���
 6

� 

����� ���� -'���� 899:0�

��������� �	 #Lp−����
	���%
 ���� Y ��� �	
�	��� 	�
	���
� 

���� 	�����	�� �� ������

���
�
� p− 1� �� Lp−��	����� �� ����	� α ∈]0, 1[ �� Y ��� ����
 �	
 �

qp,α(Y ) = argmin
y∈R

E [Sp,α (Y − y)] ,

�� �	 �������� Sp,α ��� �
���� �� �	 �	���
� ����	��� �

Sp,α(t) = (1− α)|t−|p + α|t+|p.

;��� ��

� ��<�	
	��� 	� ��
 ��	���
 ��� �� ��� p = 1 ���� �� ����
	�� #��	
 "���(

	�� #�*�8���%%� 
���	� ��� p = 2 �����	
 ! �������
	�� #"���
	�� #8�%%� �� 5	��
� �*�3
��
��
 �� �	����	��
 ������
� �� ��

� )��	��� �� )���
	�� �� ���
	���



S1,α S2,α S3,α S4,α S5,α

α 0.05 0.5 0.95

Lp−
p = 2

Y ∼ EC1 (μY ,ΣY , ξ) qp,α(Y ) = μY +
√
ΣY qp,α(Y

′)
Y ′ ∼ EC1 (0, 1, ξ) Y

Lp− 1

Lp− Y γ < 1
p−1

qp,α (Y )

qα(Y )
∼

α→1

[
γ

B (p, γ−1 − p+ 1)

]−γ

= fL(γ, p).

Lp−
L1− p = 2

Lp−(
C

Lp

int

)
(Cint)

√
kn(1− αn) = o (ln(1− αn)) n → +∞

lim
n→+∞

√
kn

ln (1− αn)
(1− αn)

min{−ρ,γ}
γd+1 = 0.(

C
Lp

high

)
(Chigh)

lim
n→+∞

√
kn

ln
(

kn
n(1−αn)

) (1− αn)
min{−ρ,γ}

γd+1 = 0.
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������ ���� �� ���
��� �������� ����
���� �� ���
 �����
� ���
�
� ������
 �⎧⎨⎩

(
C

Lp

int

)
⇒ (

CHG
int

)⇒ (Cint)(
C

Lp

high

)
⇒ (

CHG
high

)⇒ (Chigh)
.

�
��� � ��  
�����
��� !!� ������� 	���
����
 ��� ��
�	�
��
� �� Lp−����
���� �"

#	��
�� Y |(X = x)�

��������� �	 $ 
����
��
� �� Lp−����
���� �"

#	��%
 ���� (αn)n∈N ��� ����� ��		� 
��
αn → 1 
���� n → +∞
 �� p ≤ d+ 1 �� γ < 1

p−d−1
� �� ������ �⎧⎪⎨⎪⎩

q̂p,αn (Y |X = x) = μY |x +
√
ΣY |X

(
W[nṽn+1]

) 1
η̂kn fL

((
γ̂−1
kn

+ d
)−1

, p
)

ˆ̂qp,αn (Y |X = x) = μY |x +
√
ΣY |X

[
W[kn+1]

(
kn
nṽn

)γ̂kn] 1
η̂kn

fL

((
γ̂−1
kn

+ d
)−1

, p
) ,

�� 	�� 
�������� μY |x� ΣY |X ���� ������� ���� 	��
������ $&%� 	� ����� ṽn ���� 	� ������

���� �� �� 	�� ����������� γ̂kn� �̂kn,hn(x) ���� 	�� �
������� $��������% �� $'&%
 ����� W ���
	� �������� ��� ������������� ��������� 	�
��		��  ��������� �� !� ���� Λ−1

X (X−μX)


�� �� �
��� p = 1� �� ��
���
 ���� �(
 ��� ��
�	�
��
� �� ����
��� $')% �
 $'*%� �����

p = 2 	+�� ��" ��
�	�
��
� ���"���
��� ẽ �
 ˜̃̃e �� ��,���
��� $-!%� .� � ��/� �
����
�� ������
���� �� ��� ��
�	�
��
� �� ����
���� �"

#	�� ���� �� ���
��� ��������� 0� ��
	#	� 	���+
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 �� �����
� 1�����	��
 ����� �� ��� ��
�	�
��
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(
C

Lp
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(
C

Lp
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)
�

���
������� �� $4�����
����� �� q̂p,αn (Y |X = x) �
 ˆ̂qp,αn (Y |X = x)%
 ��������� 
��
	�"#���$��� % �!� p ≤ d + 1 �� γ < 1

p−d−1
�� 	�  �������� (C) ������ �����&�����


���� 	��  ��������� ����	���������� (Cint) �� (Chigh) ����� ��!������ q̂p,αn (Y |X = x) ��
ˆ̂qp,αn (Y |X = x) ����  ����������� �
�
 �{

q̂p,αn (Y |X=x)

qp,αn (Y |X=x)

P→ 1
ˆ̂qp,αn (Y |X=x)

qp,αn (Y |X=x)

P→ 1
.
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�� ������ �
�
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 �� q̂p,αn (Y |X = x) �� ˆ̂qp,αn (Y |X = x)��
��������� ��� 	
����
���� � ���� p ≤ d + 1 �� γ < 1

p−d−1
�
 	� �����
��� (C) �����
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�����
(
C

Lp
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)
�

(
C

Lp

high

)
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������
� �
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p > 1� �	��� �⎧⎪⎨⎪⎩
√
kn

ln(1−αn)

(
q̂p,αn (Y |X=x)

qp,αn (Y |X=x)
− 1
)

→
n→+∞

N
(
0, d2γ4

(γd+1)4

)
√
kn

ln( kn
n(1−αn))

(
ˆ̂qp,αn (Y |X=x)

qp,αn (Y |X=x)
− 1
)

→
n→+∞

N
(
0,
(

γ
γd+1

− θ dγ2

(γd+1)2

)2) .

���
�� � ���
 ����� ������� �� ���� Y0|x =
(
Y |(X = x)− μY |x

)
Σ

−1/2
Y |X 	� ���
��	�

������� ����
�� ��	��
�� � Y |(X = x)� ���� ����� �����
��� �� � qp,α(Y |X = x) =

μY |x +
√
ΣY |Xqp,α(Y0|x)� �� �����		� ��
�
�� ���

(
C

Lp

int

)
�����
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(
CHG
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)
� �� �	�
� ��

� 	� �������

�
�� 
�
����� �

√
kn

ln (1− αn)

(
q̂p,αn (Y |X = x)

qp,αn (Y |X = x)
− 1

)
∼

n→+∞

√
kn

ln (1− αn)

⎛
⎜⎜⎝
(
W[nṽn+1]

) 1
η̂kn fL

((
γ̂−1
kn

+ d
)−1

, p

)
qp,αn (Y0|x)

− 1

⎞
⎟⎟⎠

=

√
kn

ln (1− αn)

⎛
⎜⎜⎝

fL

((
γ̂−1
kn

+ d
)−1

, p

)

fL

(
(γ−1 + d)−1 , p

) − 1

⎞
⎟⎟⎠
(
W[nṽn+1]

) 1
η̂kn

Φ−1
Y |x(αn)

fL

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

qp,αn (Y0|x)

+

√
kn

ln (1− αn)

⎛
⎜⎝
(
W[nṽn+1]

) 1
η̂kn

Φ−1
Y |x(αn)

− 1

⎞
⎟⎠ fL

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

qp,αn (Y0|x)
+

√
kn

ln (1− αn)

⎛
⎝fL

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

qp,αn (Y0|x)
− 1

⎞
⎠

�� 
�
� ��� fL

((
γ̂−1
kn

+ d
)−1

, p
)

� ����� ���  ����
�� �� γ̂kn � �
� �
������
������� ���!

��	� ���� �� ���" �� ������#����
√
kn ���
� 	$%����
�� �&&&�'������ (� ����
�� ����� ����

�	��
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������ ���
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�� ++� 	� 
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 )� *��� ��	�� �� � ������
 � 	$�"���

�� �� 
����� ����� ������
���
 /����
� �� �	�� +)�0�1 �

qp,αn (Y0|x)
fL
(
(γ−1 + d)−1 , p

)
Φ−1

Y |x(αn)
= 1− (γ−1 + d)−1r(αn, p) + (λ+ o(1))A∗

(
1

1− αn

)
,

�2 r(αn, p) = λ1
1

Φ−1
Y |x(αn)

(E [Y0|x] + o(1)) + λ2A
∗
(

1
1−αn

)
(1 + o(1))� λ, λ1, λ2 ∈ R �����


����������
 �� n �� A∗(t) �
� 	�  ����
�� ��"
	
�
�� �� ΦY |x
(
1− 1

t

)
� �� �����		� ���

Y |(X = x) �
� � ���
��
�� ��#�	
.�� �$
��
�� γ−1 + d > 1� �$�2 E [Y0|x] �"

�� ��� Y0|x
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n→+∞

√
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ln(1−αn)Φ
−1
Y |x(αn)

= 0

lim
n→+∞

√
kn

ln(1−αn)
A∗
(

1
1−αn

)
= 0

.
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�� �� �� !
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− γ

γd+1 � ������ �
� A∗
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1
1−αn

)
��� �
� ���	������
�	���

�
���
������� $ (1− αn)
− ρ

γd+1 �� ρ > −2γ �� $ (1− αn)
2γ

γd+1 ������ %�����	���� �� �����
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 �� ������� �� 
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 ˆ̂qp,αn (Y |X = x)� ln (1− αn)

��
 ln
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)
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����� �� φ ��� �������� ������� �������� ����� φ(0) = 0� φ(1) = 1 �� φ(+∞) = +∞�

�	 ����
� ���	��������������	�
�� �� Y �� ����	� α ∈]0, 1[ 	�����
� � φ ��� ����
 �	
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��	���� ����	���  

Hα(Y ) = inf
y∈R

{y +Hα(Y, y)} ,

�! Hα(Y, y) ��� �������� �������� h �� ��
��	����  

E

[
φ

(
(Y − y)+

h

)]
= 1− α.

φ ��� 	����
� �������� �� "���#�

(� ��� ��
���
���
 φ(t) = t 	��� $ �� 5��� <��
� �� =��/ �� �����
 α 5<�=α(Y )� �
����#
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�
��� 9���
 ��
 �&�	��� .?�
6�� �� ���� ����3;�
+������

�� .(����	�� ��� <����-� ��� 3 ����� ����
���� $ �� 5<�= ��

 ��� ����
�,
�����
��������
��� !�
� 6���
���	���� .?������ ��� =���--� 0������ ���23 ��� 	���
� �
� ��� 	�#
�

�� �����-������/#0�����
�� ������� ��� 	��

�� �� 
���
� ����
������ >��� �	����
�
��

 ��
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� �� Y ∼ EC1 (μY ,ΣY , ξ)� ���
� Hα(Y ) = μY +

√
ΣYHα(Y

′)� ���� Y ′ ∼
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������� ��� 	������ ���
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p
�
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� � �� ������
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Hp,α(Y )

qα(Y )
∼

α→1

γ−1 (γ−1 − p)
pγ−1

pγ(p−1)
B
(
γ−1 − p, p

)γ
= fH(γ, p). ,/0��#.

1�����*�� 
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�
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�
������� �� ��������	
�� �	 �	�
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�� 	�����	��� ���� (αn)n∈N ��� ����� ��		� 
��
αn → 1 
���� n → +∞
 �� ���� p ≤ d� ���� γ < 1

p−d
� �� ������ �⎧⎪⎨⎪⎩

Ĥp,αn (Y |X = x) = μY |x +
√
ΣY |X

(
W[nṽn+1]

) 1
η̂kn fH

((
γ̂−1
kn

+ d
)−1

, p
)

ˆ̂
Hp,αn (Y |X = x) = μY |x +
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ΣY |X

[
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(
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nṽn

)γ̂kn] 1
η̂kn

fH

((
γ̂−1
kn

+ d
)−1

, p
) ,
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�������� μY |x� ΣY |X ���� ������� ���� 	��
������ ���� 	� ����� ṽn ���� 	� ������

���� �� �� 	�� ����������� γ̂kn� �̂kn,hn(x) ���� 	�� �
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 ����� W ���
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Hp,αn (Y |X = x)�� ��������� 
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	�"#���$��� % �� 	�  �������� (C) ������ �����&����� �!� p ≤ d �� γ < 1
p−d
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 ��������� (Cint) �� (Chigh) ����� ��!������ Ĥp,αn (Y |X = x) ��
ˆ̂
Hp,αn (Y |X = x) ����

 ����������� �
�
 � ⎧⎨⎩
Ĥp,αn (Y |X=x)

Hp,αn (Y |X=x)

P→ 1
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Hp,αn (Y |X=x)

Hp,αn (Y |X=x)

P→ 1
.
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n→+∞

√
kn

ln (1− αn)

(
Ĥp,αn (Y ′|X = x)

Hp,αn (Y ′|X = x)
− 1

)

=

√
kn

ln (1− αn)

⎛
⎜⎜⎝

fH

((
γ̂−1
kn

+ d
)−1

, p

)

fH

(
(γ−1 + d)−1 , p

) − 1

⎞
⎟⎟⎠
(
W[nṽn+1]

) 1
η̂kn

Φ−1
Y |x(αn)

fH

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

Hp,αn (Y ′|X = x)

+

√
kn

ln (1− αn)

⎛
⎜⎝
(
W[nṽn+1]

) 1
η̂kn

Φ−1
Y |x(αn)

− 1

⎞
⎟⎠ fH

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

Hp,αn (Y ′|X = x)
+

√
kn

ln (1− αn)

⎛
⎝fH

((
γ−1 + d

)−1
, p
)
Φ−1

Y |x(αn)

Hp,αn (Y ′|X = x)
− 1

⎞
⎠ .

8� �
�� ��� fH

((
γ̂−1
kn

+ d
)−1

, p
)
� ��
�� ��� ���!���� #� γ̂kn � ��� 
��������������� ����
�


/�! �� �
�$ #� !��/�����!�
√
kn �/��� �
���
���� �111�3�"���� 9� ������� ����� ���# 
����

/��� + ��
�# n → +∞� �� �� ���/
�� #� �
  ���������� ��� �� ��!��# ����� ���# /��� �
 ���
����
�� #����� #
�� ����� :��
������� �� �� ����� ���� ��
4 /���;�� ��� �� ��������� �����
���# /��� +�  ��� !��
� �� ������� �� ������
� #� '������� ��( #� )*
� 
�# ��� �+,�-� ���
������ ��
�� �$���� λ ∈ R ��� ��� 7

Hp,αn (Y
′|X = x)

fH
(
(γ−1 + d)−1 , p

)
Φ−1

Y |x(αn)
= 1 + λA∗

(
1

1− αn

)
(1 + o(1)),



������ ����� 	�
���
�� ��

�� A∗ ��� �	 
����
�� 	��
�
	
�� �� Φ−1
Y |x
(
1− 1

t

)
� �	�� �	 ������ �� �	 ������
�
�� ��� ��

	 �� ��� A∗(t) ��	
� �������
����� ��
� � t−
2γ

γd+1 �
 ρ ≤ −2γ ��
� � t
ρ

γd+1 	��������� ���
����
�
��� ��

(
CHG

int

)
	�������

lim
n→+∞

√
kn

ln (1− αn)
ln

(
Hp,αn (Y

′|X = x)

fH
(
(γ−1 + d)−1 , p

)
Φ−1

Y |x(αn)

)
= 0.

���� �� ���
�
��� ����� ���� ����  � �� �� ����
�� ������	� �� !"�# ��� ������� �	 ������

��� ��	������� �	 �$�� ���� �� ������� 	��� �� �	��
√
kn

ln( kn
n(1−αn))

	� �
�� ��
√
kn

ln(1−αn)
� %����

��� ����
�
��� ��
(
CHG

high

)
������ 	� ������	� 	������� �

&� ������� �	�� �	 '���
�� ()��� �� ������� �����
��� 	��� p = 1� ����� � �
�� �	��
�� �	� �� �	 *	
� )	��� 	� +
�,�
�	�� ����� ����
��� ���� 	���� ���� 
������
� ����
���� ����
������ ��������
��� 	�� ��-
����	�� 	�.�����
���� ����
/������ �0	��� 1�����	��� 
� ��
��� �������� �
2������� 	�
�
��	� ��� ����
�
���� �	� �������� ˆ̂e ������
�� �	 ����
�
�� γ < 1/2�
3��� 	���� �0	������ 
������
� ��� ���
�	����� ��	����� ������� �� �
���� ��� ���� ���
Lp−��	��
��� �� ��� ������� ��4	�5������,-6���	����� &� ������� �	�� �	 '���
�� ()���
��� ����� �����
��� ���� ������ ���� ��� ���
�	������

����� ����	 
���
���	

�������� ����� ���� ������� �����
��� ���	�
�� 	�� ��	��
��� ����$���� �� 7�� ��
������� �
������ �� �	 ��
 �� '������ ������� ����
�� � ν = 2.5 ��0��� �� �
/���� ��
�
����
�� d+ 1 = 4� &� ���� 
	�
������ �	������ ��� ������
��� ����
�
������ �	�� �� �	�
� ��	
�� �� ��8��	�
�� !()�9�����#� 3����� ��� ���� ������	 �0	������ M(x) = 1�

������� ���	
��
	� ���	��������	�

���� ���
��� ��� ������
��� 
�������
	
���� ���� �
������� �� ���� ���
�	����� êEαn↑ ��
ẽEαn↑� ������ �������
������ �	�� ��� 8��	�
��� !��# �� !�"#� ��� ������	�� 	�.�����
����
�� ��� ���� ���
�	����� ����
����� ��� ����
�
��� ���� ����:��� &� ����� 	���� �� �$��
7�� �� ��
��� αn� kn �� hn ���� ��� �����
êEαn↑ ����� ẽEαn↑ ��� /���
� ��� ����
�
��� (C)� (Cint) ��

(
CHG

int

)
���� ��� ������	�� ��

����	�
�� 	�.�����
����� '
 �� �� ��
��� � �	 '���
�� (((�"� �� 1:	�
��� (((� �� ���� 	����
�:�
�
� ��� ��
��� αn = 1 − n−0.6� kn = n0.4 �� hn = n−0.15� �� ��.	� K ���	 ��� 
�
� ��
���� �	 ����
�� 0	���
�����



⎧⎨⎩ v̂e = V̂ar
[ √

kn
ln(1−αn)

(
êEαn↑(Y |X=x)

eαn (Y |X=x)
− 1
)]

,

ṽe = V̂ar
[ √

kn
ln(1−αn)

(
ẽEαn↑(Y |X=x)

eαn (Y |X=x)
− 1
)]

.

n αn v̂e ṽe
1 000
10 000
100 000
1 000 000
10 000 000

+∞

n = +∞

êEαn↑ (Y |X = x)
ẽEαn↑ (Y |X = x) n = 10 000 000

ẽEαn↑ (Y |X = x)

γ < 1
2

êEαn↑ (Y |X = x) ẽEαn↑ (Y |X = x)
n = eαn (Y |X = x)

eEαn↑ (Y |X = x)
eαn (Y |X = x) αn



������ ����� 	�
���
�� ��

������� ���	
 ��
��	���


�� �� ��	 �
������ ��
 ����
 ������	��
� �
�
 ��
�
 ������������ 	���
��	� � �
�	���

����
 �	������
 � ˆ̂eEαn↑ ���
 �� ����	�	
� ��� ��	
 ˜̃eEαn↑ �� ˜̃̃eEαn↑ ���
 �� ����	�	
� �� !� �
�"������� 
#
���� �� ������
 �� ����
 ��
�����
 �� �
�
	
����� �� �� �
����	�� �
$���
�
�	��� ��� �

 ��
	
 �
�	������
 �� ����

	��	��� ��
 �%�$�
��&
�
 
����������	��
 ' �����

��
 ����
 �����	��
 (
�
 ��
	
	�
�
 ��
�
 �

 
�	��
 kn = n0.5 �� �
�
������� (
�
 �����
��
�
 ��
 
�	�� αn = 1− n−1.1 �� hn = n−0.15 )� �
$�� K 
��� �� ���
	�� "��

	���� 
!� 	���
��	� ��
 �
���	
�
 
�	�����
 �

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

ˆ̂ve = V̂ar

[ √
kn

ln( kn
n(1−αn))

(
ˆ̂eEαn↑(Y |X=x)

eαn (Y |X=x)
− 1

)]
,

˜̃ve = V̂ar

[ √
kn

ln( kn
n(1−αn))

( ˜̃eEαn↑(Y |X=x)

eαn (Y |X=x)
− 1
)]

,

˜̃̃ve = V̂ar

[ √
kn

ln( kn
n(1−αn))

(
˜̃̃eEαn↑(Y |X=x)

eαn (Y |X=x)
− 1

)]
.

�� ��������� ��
 �
���	
�
� �� *�#�� +, � �
��� �� ����-� ��
 ���	����
 ��
����
 � ���
�%
� ���� �
������ ��� ���
�	���
 ���
 �� �	"�� +∞ � �� �

 � �
�	������
 

n αn
ˆ̂ve ˜̃ve

˜̃̃ve
. /// / �����00 / //1��0�0 / //���1�1 / //�2�.�.�
./ /// / ����1/� / //�1�.��� / //.2�21�� / //.1/��2.
.// /// / �����10 / //.2/���1 / ///��.2�20 / //./���0�

. /// /// / ������� / //.�/��/� / ///1��02.0 / ///10/0���
./ /// /// / �������0//� / ///���2�/� / ///��.�2�� / ///�2�22�

+∞ . / / /

����� +, � 3 ,��	����
 �
$���
�	���
 ��
����
 �� ���
�	��� 4�
�� n = +∞5 �� �


�
�	������


)' ���
��� �

 ��
	
 �
�	������
 
�� ��
 ���6
������
 
��#��#��
� �
�6
������� '
���� �	
��	#��	
� �
$���
�	��� )�
 #
���
�
 �� �� 7	"��� +, 2 ������� #	�� �� ��	�����
�� ����
�&�� 89
��
�
 ��� ˆ̂eEαn↑ (Y |X = x) � �%	��
����	��� �� ����

	��� γ < 1

2
 



ˆ̂eEαn↑ (Y |X = x) ˜̃eEαn↑ (Y |X = x)
˜̃̃eEαn↑ (Y |X = x) n = eαn (Y |X = x)

ˆ̂e

p = 1
Y |X = x

α (Y |X = x) = H1,α (Y |X = x) =
1

1− α

Γ
(
d+1+ν

2

)
Γ
(
d+ν
2

) √
ν +M(x)√

π (ν + d− 1)

(
1 +

Φ−1
ν+d(α)

2

ν + d

) 1−d−ν
2

.

Ĥ1,αn

hn = n−0.15 kn = n0.45 αn = 1 − n−0.55

v̂H = V̂ar

[ √
kn

ln (1− αn)

(
Ĥ1,αn (Y |X = x)

H1,αn (Y |X = x)
− 1

)]
.



������ ����� 	�
���
�� ��

n αn v̂�(x),η v̂H

� ��� ���������

(
130.0403 −13.28885
−13.28885 1.592599

)
����			���	

�� ��� ����
����

(
121.1456 −12.74622
−12.74622 1.436565

)
����
������

��� ��� ���������

(
120.8767 −13.04611
−13.04611 1.448935

)
����
������

� ��� ��� ���������

(
119.9793 −13.53169
−13.53169 1.537808

)
������
���


�� ��� ��� ������	��

(
121.7649 −13.68233
−13.68233 1.54204

)
�����������

+∞ �

(
114.0569 −12.81569
−12.81569 1.44

)
������
	
��

����� �
�� � 
�������� ������������� �������� �� ��������� ����� n = +∞ !� ���
������������

"�������� #�� ���$�������� !� ��� ����������� !��� #� ��� n =�� ��� ���� %� &�'
(��� �
�	��� ���������� #�� )�*�#��� !� ��� ����������� !��� �� ����

���	
� �
�� � +�*�#��� !� � ��� ����������� !� η̂kn , �̂kn,hn(x) �� Ĥ1,αn (Y |X = x) ���'
�����-������ %�� -�#���� !� η, �(x) �� H1,αn (Y |X = x) ������������ �� ���(��

�# ��� �-�!��� ��� #.���������� !� #� /
�0 ���!�������##� H1,αn (Y |X = x) ���1��
�(�#����� !� #� #������ !� #� ���-��(���� !� αn -��� �� 2� �#��, #.���������� ��� �������'
#�3������ -����)#�� "�� ���)#3��� ���� ������ �.�������� ���� #�� /
�0 �������
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������� ���� 	�
��


���� �� 	�� 
�� ���
�� ���� ����� �
 ����� ��� 	��
�
���� �
��
 ��� ����� ��� 	�����

�� ����
���� ��
������ �� �� ���� ��� �� ��	
��� ������  ��� 
�!��� ��� ���
�� hn = n−0.15�
kn = n0.5 �
 αn = 1 − n−1.1� "� 
�� #�� 
�  ����$
��� ������ �� �������
� ��%� 
�
����

� �&'���
��� (�)*� �� �� ��
��
��
 �� ��
�
��� +

ˆ̂vH = V̂ar

⎡⎣ √
kn

ln
(

kn
n(1−αn)

) ( ˆ̂
H1,αn (Y |X = x)

H1,αn (Y |X = x)
− 1

)⎤⎦ ,

�� ����� ���, 
���� ��� -�����	�� ��������� .� �����-� ����� ���� �� 
�	�������	� 
�
ˆ̂vH �-�	 n�

n αn v̂�(x),η ˆ̂vH

� ��� ��)))�)//

(
115.9570 −13.17105
−13.17105 1.762918

)
����0)0�1,

�� ��� ��))))1�0

(
116.4151 −13.13737
−13.13737 1.558384

)
������,0232

��� ��� ��)))))1/

(
108.5100 −12.32441
−12.32441 1.42867

)
�����/�20))�

� ��� ��� ��))))))3

(
115.1339 −12.95916
−12.95916 1.470622

)
�����,02�,,2

�� ��� ��� ��)))))))/���

(
110.6031 −12.51083
−12.51083 1.419509

)
�����2��0)2

+∞ �

(
114.0569 −12.81569
−12.81569 1.44

)
�

����� ���, 4 ������	�� ��%� 
�
����� �������� �
 
�������� ( ��� n = +∞* 
� ���
��
���
����

'�!�� �� �&��
  �� �
�����
 
&�����-��� 	����  ��� ��� ����
���� �
 �� �	
����� ��� ���
��
���
���� ���
 
�$� �5	�	�� ������� n(1 − αn) → 0� 6� 7�8��� ���,�
�� ��� �� �����
�
��� ��� ��
� 
�� ��
���
���� 
��� �� 	�� n =�� ��� ���� �� ��
 ��� ����� �����
��
����



������ ����� 	�
���
�� ���

������ ���� � �	
��	
� �� � ��� ����
�
�	�� �� η̂kn � �̂kn,hn(x) �
 Ĥ1,αn (Y |X = x) ����
���
������
� ��� ������� �� η� �(x) �
 H1,αn (Y |X = x) �����������
 �� �	����

���� ��

� ���
�	�� �	�� ��	�� �	�� �� ��

�� �� �������� ��� ����
� �� �	� ��
����


����� !� ������"�� ��� �#��� ��
���
���� �	�
 $����	�� �	��� $	�� ���� �� ��� �� ��

������ �������	�� !� �%�
� �� 	� ������� ��� �	���
�	��
(
CHG

int

)
�

(
CHG

high

)
� ����� �� �	�
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��&��
�� �� d ��
 
�	� ������ ��� �����
�
� ��'��
	
�(��� �� �	� ��
���
���� �� �	�

��	�� ���� ����$���� �� &��
 �	�� �	�������� ��� ��
�� ����	�"� ���� �� ���� )���
 �� ��	�	�

�� ��	�"��� �"���
���
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���� ���	������� ���� ����� �� �������� ��� ��� �����	
�� ������
���� ���� �����
���
�� �� ������� �� �
���� �������� 	���
�
�������� ���
��� �
�	
������
����
	����� ������� �� ������ �� 	����
����� d ���
� ������ �� ����� ��� �����
��� ������
���
���� �  ! �� �""!� �� 	���� �� ��� �����	
��� ������� �������� ��#� ������� �� ���	

���
�
������ ���� 	� 	�� �� $%���� &��� 	� 	
��
���� ���� ��������� ����� ��� ��������
��
' 	�� �����	
�� ���� �� 	�� �( d ���� ���� +∞� )� ��� 	���� �#�� ' ����
���� �����#���
��#� �������� ���� �� �
���������� �� ����
�� ������� ��� ����� �����
���
�� �� �� ����
	�
�� 	����
��	� Σ�
�� ����	���� �� 	� 	
��
��� ��� �� ��
����� * ���� �� ����
�� ������ ���� �������� ���
�
 �� ������ �� 	����
����� ���� ���� ��
�$�
� ����� �� �
���
���
�� 	���
�
������� ���� ����
��� ��
 %����
����� �����
���
�� �� �����
�� ���
��� ����� �
���� ��	��� +����
� ���� 	������
�����
��� ��� �����#���� μ �� Σ �� ����� �
���
���
��� ,���� �������
 ���� ����
����� ���
�� ��
�� ��� �
�������� ���
���� �����
���
�� ��� �����#���� �� %����� �
����
��� )��
������
�� ����� ����
	��
#�� ��� ������ ' �����
���
�� �� �� ����
	� �� 	����
��	� 
������
Σ−1� )�� ����
� �� 	�� ���
���� ��� �
��	������ ��������� ' �� �
��������� ��
������� ��
���� �� ��������� �������� ���� �������� ' ����� �����#��� ��$�� �� ������� �����
���
��� �������� ���-���� ���� �� 	�� 	������ �� �� �
���
���
�� �� .������ ���� ������ ���
������� �
���
���� ���� ����
	
����

���� ������	
��	�
 �����	�

�

/��� ��������� ���� 	� 	
��
��� ��������
��� �� ��
 	���
�
������� ��� ��� ��
 %����
�
���� ���� �� 	�� �� �� %����� �
����
��� )�� �����	
� �
�
��
�� ���� ��������� ����
������� ���� ��� ���
��� ���� ��� 01��
���� ��� 2�3���4
� 56 57 �� 01��
����� 5668�7�
��
� ��� �� %����� �
����
���
,���� ���� ��� 	
��
���� ���	������� �� 	���
�#�� �� ��	���� Z = (X, Y ) ∼ ECd+1 (μ,Σ, ξ)
���	 X ∈ R

d� Y ∈ R ���� ���

Σ =

(
ΣX ΣXY

ΣYX ΣY

)
,μ =

(
μX

μY

)
,

�� �� ��
���������� ' �� ��
 	���
�
������� Y |X = x,x ∈ R
d� �� �
�����	� 
	
 ��� ���

d ���� ���� ��
�$�
 ������� �� ��
��� n �� ���	
���
���� ���������
���%� Zn, . . . ,Zn ����
���� +∞� 9� ������ ����� ����:� dn� 9� ��������� �� ��
�
���� �������
�� �;!� ��� �� ��

	���
�
������� Y |X = x ����� ���
��
���� �� � �� �����������
�� ���	
���
��� ��
����� *

Y | (X = x)
L
= μY |x +

√
ΣY |XR∗U (1),

 6"



��� �������� 	
 �� ��� 
� �� ����
� 
��������

����

R∗ L
= R

√
1− β|

{
R
√

βU (dn) = C−1
X (x− μX)

}
.

�	 �� 
�	� �
�	�������� �� ����������	� 
� �� ��� ���������� R∗U (1) ������� dn → +∞�
�	 	����� ����� ϕR∗ �� 
�	����� ���	� 
� �������� �� ������ 
� ����� 
�	���� ������� n
��	
 ���� +∞� �� ������ �������	� 

������� �������� ��������	�� �� �����
� ���	��	�	� ��
���	���� M(x) = (x−μX)�Σ−1

X (x−μX) ����� ��	��
���� 
������	���� �d �����  !�"� �	
���� ���	��	�	� ����� 
����	�� ����� �	� ���	���� ��������� ��� ������ ���� n� �� dn� �	

�		� �� �������� �	�����
����� �����	� ��� ��� ���������� ������������� 
� �� 
����	�� 
�
#�$���	�%�� M(x)�

����� �� �&��������� 
� M(x)"� �� � ��� ���	�
�
� �	����
� �
���	� n → +∞ �

��� M(x) → +∞ �����	� �������
�

���� M(x)
dn

→ ξ2 �����	� �������
�

���	
� �

��" '� 	
��� ��� ��������� 
� ��������� ��� M(x)
L
= ξ2χ2

dn
� (� ����� �	 ����
� ������


�		�

E
[
χ2
1 ∧ 1

]
=

25/2Γ
(
5
2

)
√
2π

P
(
χ2
5 ≤ 1

)
+ P

(
χ2
1 ≥ 1

)
> 0.

)��	� 
�		� ��� χ2
dn

���� *��� �� ����� �	� ����� 
� dn ��� 
� χ2 �	
���	
�	���

� � 
�+�� 
� ��%����� �� ���
+∞∑
n

E [χ2
1 ∧ 1] = +∞� �� ,$���-�� .��/ ��	�� ��� ��

0��������� 1��� 
� 23����	%��+� 1��45 �	
����	� ��� χ2
dn
� �� ��� ��	�����	� M(x)�


����+�	� ������� �6����	��

���" 7� ��� 8���� 
�� +��	
� 	��%��� �������� �	� ��	���+�	�� ������� �6�� 
� χ2
dn
/dn

���� �� �� ��� 
�		� 
��������	� �� �������� ����	
��

�
� �
��
� 
� ����� �����
�	�� �	�������	� 	��� � �� ��� ������ 
� ϕR∗ � �	 �������� ���

ϕR∗ 
���	
�	� 
� M(x)� �
��� �+�����	� �	� �����%�� ���������� �� �� ��� ��		� ��� �� ���

� ���
�	� � ν 
�+��� 
� ��%���� ��	
 ���� �	� ��� +������		� ������� ν ��	
 ���� +∞� ��
��� ����$ ��		��� �� �*�� �$�	��-	� ���� ��	 �����-��� a� (-� ����� �� ������ �	�������	�

� �� 
���	
�� �� ����� ������ +������		� ��� �����	� � ���� ��� #���	+�� 

)�$����
9������	� � ����� ����
�� 7� ����������	 �����	�� ������� �	� �����-�� ����	���

���
������� �� �7�� ������"� �
	� �����

���� �� 
� � ∀t ∈ R �

ϕR∗(t) → 1√
2πξ

e
− t2

2ξ2 �����	� �������
 �	��� n → +∞. �:��"



����� ������	
��	�� 
����	���� ���

������ � �� ���	
� �
��
�		����� �� 
� ��	�
��������� ������������ ��� ���� �

fR∗(t) =
2fR2 (M(x) + t2)

fR2β (M(x))B
(
dn
2
, 1
2

) t

M(x)

(
1 +

t2

M(x)

)−1−dn/2(
1− M(x)

M(x) + t2

)−1/2

.

� 
����� �� ����� ��� �� �
(
1− M(x)

M(x)+t2

)−1/2

∼ √M(x)/t ����� n → +∞ 	������

�������� !� 	
��� �� ���	��"��� ��� ����� n → +∞�(
1 +

dn
2

)
ln

(
1 +

t2

M(x)

)
∼ dn

M(x)

t2

2
→ t2

2ξ2
	������ �������� ,

���#
(
1 + t2

M(x)

)−1−dn/2 → exp
(
− t2

2ξ2

)
	������ �������� ����� n → +∞ $�%�� ��

������� ��� 
�����
���� ����� 
� ������
 �� R2 �� ��

� �� �� ����������� R2β &��� ��
�� ��
���
��� 
� �
��
��� �' (�� �� )*������� ��� &�+��� (���,� �� �� �-����� ���� 
�*.	������ ( /

fR2β(t) ∼
t→+∞

Γ
(
dn+1

2

)
Γ
(

dn
2
+ 1

2γ

)
Γ
(
dn
2

)
Γ
(

dn+1
2

+ 1
2γ

)fR2(t).

0� ������ �
��� �

fR∗(t) ∼ 2

Γ
(
1
2

) fR2 (M(x) + t2)

fR2 (M(x))

Γ
(

dn+1
2

+ 1
2γ

)
Γ
(

dn
2
+ 1

2γ

) M(x)−1/2e
− t2

2ξ2 , ∀t ∈ R 	 � ����� n → +∞.

��� ����
������ ���
����� �� 
�*.	������ ( ��� ��� fR2 �������� 
�� 
�����
������ ���# 
�
����� ��� ���1 ������
� ���� �
�������� ���� � !� 	
��� �
 ��� 2���
� �� ���� ��� 
� ����� ���
���1 2�������� 3���� ��� ��.�	����������� 
�����
��� �

√
dn/2 $� ���
����� 
� �
��
���

(ii) �� ����� ��� ����� ��� 
� ��
����� ϕR∗ = fR∗/2� �� ������ ��.�	����������� 
�
�
��
��� ���� �

4� �
��
��� ��� ����5 ���
�������� �� �� 	��� 	
������� ������� $� �6��� �� ���	��"���
��� �����������

����� � 
� �����-
� ��
���

� ξ� 
� 
�� �� Y |X = x ��� ��� 
�� �����
� ��
	��������� μY |x �� ξ2ΣY |X  4���� 
�� �����������

� 
����� �
	��� %��
����� ����������
�� 
� �����-
� ��
���

� �� 
� 
�� �

�	����� �������������

� 7� �� � �
��� ��8�������
���-���������� 	��� ������� 
� ��
��� �� 
� �����-
� ��
���

� ξx ����� �� ����� �������
x ��� ��� ��� 
� ��� ���� x �� 3����� ����������� �� ���� ��	�-
� �� 2������ ��� -����
�		��1������� �� 
� 
�� �����������

�� �� 	�� ����
����� �� ������
� �����������
 

!�� 
���� �� ���������� ��� (x−μX)�Σ−1
X (x−μX)|(ξ = ξx)

L∼ χ2
dn
ξ2x� ����� ��� χ2

dn
/dn

p.s→
1� �� 	��� 	��	���� 
�� ����������� �������� 	��� ξx ����� ��� qα (Y |X = x) 

��	
���

 �� ��		��1������� �� ������
� �����������
�� �� ��������� 	
����
����� ����

���� �

ξ̂x,dn =

√
(x− μ̂X)� Σ̂

−1

X (x− μ̂X)

dn



��� �������� 	
 �� ��� 
� �� ����
� 
��������

�� μ̂X �� Σ̂X ���� ��� ����	
����� 


��
���� �� μX �� ΣX � �� �� ������ ������	
����

�� ��
����� ������������ �

qα (Y |X = x) = μ̂Y |x +

√
Σ̂Y |X ξ̂x,dnΦ

−1 (α) �����

�� Φ ��� �
 �������� �� ��

������� �� �
 ��� ���	
�� ������� ��������

	
�� 
� ����������
� 
� ���������� ���� 
����������� ��������� �
�� ��
�� � ������  
��
����
! ��!��
� �� 
��� �������� ���
� �� ������� 
� �
����"���� 
� �
��� ����� αn ���� ��
#
�� ���
�� �$������ ��� 
��������
� ��������� ���� �� ������� 
� �
����"���� 
� dn ����
+∞� %
�� ����� ���!����
�� �
�� 
��&
�
 �� ��� 
' �� �
�&�� 
� �
�����&��� ���
 ����
����(�� ������������ ���������� ����� � 
��� ��� ��� dn/n → 0 ����
 n → +∞� )� ��� �� ���
�� ���� ������� *� �$��� ���������
� dn < n ������ �
������� 
�  
������ ��� �� �!��

�

�� �
����� 
� ��� +,������������ ��� ������� 
� �
�������� ��������� Σ̂ �������&���
-� ����� ���� �� !��������
� 
������������"� 
� ������ n� �� ������� 
� �
����"���� 
� ���
�!��

�� ��� ������������ ����
� ���

√
n�� )
�������� ξ̂x,dn � �� ��� ���! 
� �
����� ���

√
dn

(
ξ̂x,dn − ξx

)
→

n→+∞
N
(
0,

ξ2x
2

)
.

)���� ����
��� ��.�� ��� 

�� ����!�  
����� ��� ��������
� �
������ 
� �������� �
�
�,
��
����� )����
���� �
�� ����
�� 
��� �� /����
� ��0� ������� ��� ����������� �
������� -�
����� ��� �!��

�� �� �
�� ���� �������&��� �� �� �
�&�� 
� �
�����&��� dn ��� ���!����� �
�� ������ 
� ��!��������
� n� �� ������� Σ̂ ��!���� ���� �������&��� 1� ��
�
�� 

�� 
��� ��
�����
� �������� 
������� ����
������
��� 1� ����� 
��������� 
��� ��!��
� ���!����� ���
���� �� dn < n� ��� 
����2��� ���&���� &��� ���������� ��� ������
��� ��!�!
�����

���� �����	��
� �
� �	�	����
� 
� ������ ��	��
 ���

�
���
�

-��� ����� �����
�� 
� �
���
2�� �� ��� 
' dn/n → c ∈]0,+∞] ����
 n → +∞� 	� &��
��� �
�3
��� 
�  
����� 
�� ����������� 
� μ �� Σ� �� ����� 
��� 
!
���� �� ���������� 
�
qα (Y |X = x)� -�� ����������� �
&����� 
� μ ������� ���� 
&����� 
��� �� ����!�������
1� ���� �
������� ����� 4/�������� ��
 5���
�� ���67� ��� �� ��
�
�� ���������� 1�
���� !"������� 

���� �
��� ������� 4)������ �� ���� �8987 ��� �� �
������� ��� ��� 
��,
���&���
�� ������������ �� �������� ��� �!��

� �����!� �����:�"�� #
�� ������
�
�� ����
�� 
!���� ��� ����� �!��

� ���� ���
� *� �����
���� ��� �!��

�� ����������  
�� ���
����������
� 
� ������� 
� �
;���� μ ����� ��� �� ���������� 
�<����! 
� ����� �����
��
1� �
���
!���� ��
��� �
�� ����������
� 
�� �������� Σ� ���� Ω = Σ−1� ��� �� 
�����&���
�
��� �����!�� ��
�!����
� 
� ��������"� 
�� 

��!�� �;��� !�! �$����!� �� ��
���



����� �����	��
� ��� 
	�	������ �� ������ ��	��� �������
� ���

�����	
��	�
 �� �� 
���	�� Σ ��� �����
�
� ���
	�� � �������� �� ���������� ����
����
����
��
�� 	� ��� �
 ��
���� ���� ��
��	��� �����	
�� �� 
���	�� Ω� ��
� �
 ����� �����
�	���� 	��� �
 �	
�
�	�
 ��	��

����� �
� ����	�	�	�� ��� �����	
�� �� 
���	�� �� �����	�
��
�
�	�	���

Sn =
1

n

n∑
i=1

ZiZ
�
i ,  !�"#

��	� �� ���
��� �	
���
�
� Ω̂n = S−1
n ��

� ���	
����� �� Ω  ������� 
���	�� �� ����	�

�	�
#� $����
�
�� �
� ����� �������� �� ������ � ���% �����&
�� 
�'����� (��
	&��
�
��
�	 dn + 1 > n� �� ��	 ��� �� ��� 	�	 �	 c > 1� �� 
���	�� S ��� �	
���	&�� ���� ������	�	�� �
 ��	� )����&
� "���* �� +,�	������ -��./#� (�� �	������� E

[
ZZ�] ���� 
� ��� �%	����� �	

�� ����� �� �	���	���	�
 �� ξ ��� ���� �������
(��� ��
����
�� �� ����
� �����&
�� +,���

�� �.�0/ � ������� ��� ,����	
������� ��	
���	1�
� �� �2�� �� �����	�
 ��	��
�� 3

V n =
1

n

n∑
i=1

u
(
Z�

i V
−1
n Zi

)
ZiZ

�
i ,  !�*#

�4 u ��	� ���	1�� �����	
�� ��
�	�	�
�� 5
 �����	��
� �� �2�� ��	
��1%� ���
�� ����� �����
��
	� ���	��
�
� V n� �� ���	�� �� +,���

�� �.�0/ ��

� 
���

�
� ��

� �%�
���
�� 6�
��	�
 u(t) = (ν + dn + 1)/(ν + t), ν > 0� ����� 6�
��	�
 ��� �	�� 7�� $����
�7 ���
�
� ���	
��	�
 ����
���	��� �� Σ �	� �
 �����	��
� 8, ��
� �� ��� ���
� �	���	���	�

$����
� � ν ������ �� �	����� 
&
� �%����
�
� � �� 
9
� �����	�
 �� ��	
� 1%�� (��� �����
+)2���� �.:�/ � ��

� ��� ��������� ���%	���
�� ��
� �� ��� �� �� 6�
��	�
 u(t) = (dn+1)/t�
;	�
 ��� 
� ���	1�
� ��� ��� ��
�	�	�
� �� +,���

�� �.�0/� ����� 6�
��	�
 ��� ������	���
��� ���� �	
��	1� �� ������ �� �����	
� 
�
�
��� ��	��� ���� ����
	� ��� ����
&���� �� ���	
�
<��� ���	
��% ��� 
��� �����
� ��� �� ��	���
5
� ����� �������� ���
��� �
 ��� �	�� �����	
�� �
� 
���	�� Σ 
9
� ���� ��� �	���	���
�	�
� � ����� ������� ����
��
�� ��

� ���� �����	
����� �������
�� �� 
���	�� Σ̂ ���
�	
���	&�� �	 dn + 1 > n� =
 �����
�� ����� ��� �� ��	�� �������� 
������� �������� ��
�
�� �	��������� ���� ����	�� �� �����&
��

������ ��� �	
��
�� 
� ������
	

5
� ���
	&�� �������� ���� ���	
�� Ω = Σ−1 ��� �� ��
�	����� ��� ����� ���
	&�� ���
����	
�
	����  �� ������#� ����� � �	�� ����
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Ω̂ = argmin
Ω

− ln (|Ω|) + �� (SnΩ) + λn

∑
i,j

|Ωij| $%�&'

�( λn > 0 ��� �� �����)��� �� ��*������������ �
�� ��� ���� ���+� ��������� ��� ���������
�� ,��-��*��,� ���� ,���� ���.���� /� ��  ����� ��� ��� ���� ���������� �0�� �� ���� �����
��� ������� ��� ���.��� �"���������� �� Ω ,������ ��� ,������� /� �1��� ,�� ����������
Ω̃ ������ 0
23/ ��� ��4�� �� �� ����)�� ���-���� #{

Ω̃,j = argmin
Ω

||Ωj||1
��, ||SnΩ,j − Idn,j||∞ ≤ λn, ∀j = 1, . . . , dn + 1

, $%�5'

�(Ω,j ���������� �� j
e ,������ ��Ω� �� Idn,j �� j

e ,������ �� Idn � 
� ������ �� �0�� �� ���� �����
����� �*������� ��� ���! �� ,��-��*��,� ���������� 6 ,��! �� �� ���.��� 	
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�
/� ��  ����� ��� ,�� ���! ���.����� �� ���� ����� ,��������� ���! ����������� �� 7��������
,������������ ���������� 6 ,���� �� �� 8�4������ �+�
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 ���� Z = (X, Y ) ∼ ECdn+1 (0Rdn+1 ,Σ, ξ)� �� ���
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��� �
� 
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�	� 

 qα (Y |X = x) �������� �⎧⎨⎩ q̂GLASSO
α (Y |X = x) = μ̂Y |x +

√
Σ̂Y |X

√
x�Ω̂Xx

dn
Φ−1 (α) ,

q̂CLIME
α (Y |X = x) = μ̃Y |x +

√
Σ̃Y |X

√
x�Ω̃Xx

dn
Φ−1 (α) ,
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� Ω̃ ���� 	
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����
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���� 
��� �
� ��������� $%�����' 
� $%�����'� Φ 
�� ��
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 	�
���
� 
�⎧⎪⎪⎨⎪⎪⎩
μ̂Y |x = Σ̂YXΩ̂Xx,

Σ̂Y |X = Σ̂Y − Σ̂YXΩ̂XΣ̂XY ,

μ̃Y |x = Σ̃YXΩ̃Xx,

Σ̃Y |X = Σ̃Y − Σ̃YXΩ̃XΣ̃XY ,

��
� Σ̂ = Ω̂
−1


� Σ̃ = Ω̃
−1

�
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 �������� ���� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ)�
���	 ξ 
 ����� 
� 
����������� ������� ���� ��� ���������� �

��� �� ������ τ1, τ2 ���� ���

0 < τ1 < λmin (Σ) ≤ λmax (Σ) < τ2 < +∞,

���� λn = O

((
1 + dn+1

sn+1

)√
ln(dn+1)

n

)
�� min

i,j

|Ωij |
λn

→ +∞ ����
 n → +∞�

����� ln
(
dn+1
n

)
= O (λ2

n) ����
 n → +∞�

����� Ω̂ �������� 
� �������� ������

||Ω̂−Ω||2F = OP

(
(dn + 1 + sn)

ln(dn + 1)

n

)
.
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�
������� 	� ���� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ)� �� 	����
��� �� �� ������ k, c > 0 ���� ���
dn + 1 ≤ cnk� �� �����!��� δ > 0 ��� ���

E
[
ξ4k+4+δ

]
< +∞.

�� ������� 
� ���� ��� Ω = Σ−1 ���������� 
 � ����!��� 
�� !����	��

U (q, so(dn + 1)) =

{
Ω > 0 : ||Ω||1 ≤ M, max

1≤i≤dn+1

dn+1∑
j=1

|Ωij|q ≤ so(dn + 1)

}
���� q ∈ [0, 1[�
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θ = max
i,j

E
[
(ZiZj −Σij)

2] .
�
 '����(��
 θ! #
���	�#� 	�
 /��# 
� ���! ����0! '
�� 2��
 �����#� ����
  �#�  # Z 
 �
�
 -.���
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 θ�� ���� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ)� �� � ����� �

θ = max
i,j

(
2E
[
ξ4
]− 2E

[
ξ2
]
+ 1
)
Σ2

ij + E
[
ξ4
]
ΣiiΣjj. ���8�
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(Zi,Zj) ∼ EC2

(
(0, 0),

(
Σii Σij

Σij Σjj

)
, ξ

)
.

�� ����� �� ������ �� ���
���� � �� �������  ��!"� �� #������ ����� 
� �����	������
�
	�
���	��$�� 	��#���� %(

Zi

Zj

)
∼
( √

Σiiξ
√
χ2
2U

(1)
1

√
β

Σij√
Σii

ξ
√
χ2
2U

(1)
1

√
β +

√
Σjj − Σ2

ij

Σii
ξ
√

χ2
2

√
1− βU

(1)
2

)


& β �	� ��� 

� '��� �� ���������	 1/2� U
(1)
1 �� U

(1)
2 #�
��� (� 
� � �#�� ��
)�)�
��� �* �

+�,�� ξ� χ2
2� β� U
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1 �� U
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λn =
√
(5 + τ)(θ + 1)M

√
ln(dn+1)

n
, τ > 0� ����� Ω̃ ����
��� �
 /8� ���2 �����
 �

||Ω̃−Ω||2 ≤ 48
√

(5 + τ)(θ + 1)M2−2qso(dn)

(
ln(dn + 1)

n

) 1−q
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��� dn/n → c ����� n → +∞� ��
� 0 < c < +∞�

���� �	
(
Σi
)
/dn → λi ����� n → +∞� ��
� 0 < λi < +∞� ∀i = 1, . . . , 4�

�� �� ���	� ��
�� ���� �� 	���� 
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� �� �� 	
�������� dn �� �� ������ ��
���	�������
� n �
�� ������
��������� ��
�
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����� �	 ��� �	 Sn

�� ��� 	����� �� ������ �� ��������
� ��� �!� ��� Sn ��� 	����� �� E [ξ2]Σ ���� �� 	����
��� "������� ���	����� #�������� $
���������� %�� �
�	� ��������&�������� ��� ���
��'��
��	������� ���� �� ����������� ��� �� ����
��� ��� E [ξ2] = 1� �� �� ��
�� �� ���	�� ����
	� 	���� �( ��� ������ �
������� ����
�� �� ������
� E

[
ZZ�] = Σ� )�� �*������ ��

$������� �� ������� +��� ���	���� �� �
��������� ��� ��������� ���	����� ξ ���
√
E [ξ2]�

,�&����
�� ������������ �� �����-��� Sn,ω ���� ��� �� �����	� Sn� 	
��� 	
�������
�
	
���*� �� Sn �� �� �� �����	� ���������

��������� �� �"����	� �� �����-���!� �� ������ �� ���	��
 Sn,ω ����
 ����� 


Sn,ω = ωSn + (1− ω)Idn+1,

�� Sn 
�� �����
 ���� ���������� ��� �! 
� Idn+1 
�� �� ���	��
 ��
������

,� ����'�� ���������� 
� ���� �� �
��� �� ������
� �� 	�
�* 
������ �� ω� %
�� 	����
�� �*���� ��������� 	���'���� ��� 	
�������� �
�� �� ������� ( ��������� ���	��� ����� Sn,ω ��
Σ �� ���� ����� .
�	��
� �� ����� P �

ω∗ = argmin
ω∈[0,1]

P (Sn,ω,Σ)

/��� +��� �
�������� �*������.� �
�	� �� ���. ����0� ��� .
�	��
�� P ��������� ���� ��
����������� 1

2 )� .
�	��
� �� ����� �� /����� ����
����� �
������� ���� 3,�� ��� /���������� �4567�
���� �������� �� ���	� ����� ��� �� �
�������� �� ����������� �� �� �����	� Sn,ωΣ

−1�
���� � �� .
��� �������� 1

PS (Sn,ω,Σ) = E
[
��
(
Sn,ωΣ

−1
)− ln

(∣∣Sn,ωΣ
−1
∣∣)]− dn.

2 )� �
��� �� 8�
������� $���� ����
	��� ��'� ������ ( ������������ ����� �� ��9�:
���	� ����������� ����� ( ����� ��� ���* �����	��� ��

 �� .
�	��
� 1

PF (Sn,ω,Σ) = E
[||Sn,ω −Σ||2F

]
= E

[
��
{
(Sn,ω −Σ) (Sn,ω −Σ)�

}]
���4!

)� �����'��� ω∗ ���������� 	���� .
�	��
� ��� ������ �����'��� �;<$)� ���� ��
������������ �� ���� �
������� �� ��
���� ���� �� ������ ������� �� 3)��
�� ��� =
�.�  >>?7
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PQ (Sn,ω,Σ) = E
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−1 − I
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 ���� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ) ����

E [ξ2] = 1	 
� ����
���� ����
� ωO �� Z ��� ����� ��� �

ωO =
��
(
Σ2
)− 2�� (Σ) + dn + 1(

2E[ξ4]−1
n

+ 1
)
��
(
Σ2
)
+ E[ξ4]

n
�� (Σ)2 − 2�� (Σ) + dn + 1

. ������
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ω2
E
[

�
(
S2

n

)]
+2ω(1−ω)E [
� (Sn)]+ (1−ω)2(dn+1)−2ωE [
� (SnΣ)]−2(1−ω)
� (Σ) .
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[
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(
S2

n
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2E[ξ4]−1

n
+ 1

)
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(
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)
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E[ξ4]
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 ��
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�� �
 E[ξ4]�
 ������ X1, . . . ,Xn ��� ����������� �������������

�� ���������
��� ����������� �� 
�
� ��� ��� X =
(
X(1), . . . , X(dn)

) ∼ ECdn (0Rdn ,ΣX , ξ)



����� �����	��
� ��� 
	�	������ �� ������ ��	��� �������
� ���

��� ξ E [ξ4]
����	
� � 1

����	
� ��
�	��
�� 
���	
����

m∑
k=1

pkδθk√
m∑

k=1

pkθ
2
k

m∑
k=1

pkθ
4
k(

m∑
k=1

pkθ
2
k

)2

�����
� 
���	
����� ν > 4
√

ν−2
χ2
ν

ν−2
ν−4

�	�
	�� 
���	
����� λ > 0
√

1
λ
E ( 1

λ

)
2

�
	�� 
���	
����� a > 4
√

a−2
a
P (1, a) (a−2)2

a(a−4)

����� ��� � �����
�� �� �
������� ��
	
��� ������

� �	�����
�  �
����	
��

���� E [ξ2] = 1� �� �	
��� 
����������� �� �������� �

κ̂ =

n−1
n∑

i=1

X
(1)4

i

3

(
n−1

n∑
i=1

X
(1)2

i

)2 . !���"#

��� ���������� ��������� �
��� 
� �����
��	 ������������ �������� �

√
n
(
κ̂− E

[
ξ4
]) →

n→+∞
N
(
0, 12E

[
ξ4
]3 − E

[
ξ4
]2 − 20E

[
ξ4
]
E
[
ξ6
]
+

35

3
E
[
ξ8
])

. !����#

������ � $
 �	���

� %�� X(1) ��	
� �
 
�� σ
√

χ2
1ξU

(1)� 	&�� σ > 0� ���'����(�� E [ξ2] =
1� 	�
�� %�� �� ����
�� �	
��
� �� ����
�� �� 
	 
�� χ2

1 �(
�
� ) *

√
n

⎛⎜⎜⎝
1
n

n∑
i=1

X
(1)2

i − σ2

1
n

n∑
i=1

X
(1)4

i − 3E
[
ξ4
]
σ4

⎞⎟⎟⎠ →
n→+∞ N

((
0
0

)
,

( (
3E
[
ξ4
]− 1

)
σ4

(
15E

[
ξ6
]− 3E

[
ξ4
])

σ6(
15E

[
ξ6
]− 3E

[
ξ4
])

σ6
(
105E

[
ξ8
]− 9E

[
ξ4
]2)

σ8

))
.
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�	 ����
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	 ����&�� �
+
 �	�	,� �
������	
� �� ���	���� 
� ����������
� �� ����� 
�� 
����� ��� 
������
� 
�

�
�� ����	
�� ) �	&��� 
	 ������-����
 �	�����

��

���	
�� � .	
� 
� �	� �	�����
� �
 ���
	
� ξ = 1 ����%�� �/����
�� �
 �-���
� 
	 
��

����� ���&	
�� * √

n (κ̂− 1) →
n→+∞

N
(
0,

8

3

)
.
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� ���� ���������� ��� ������� ������� �� �� 	
� �����
������ �� �� ��������� ��� �������
����� � 	
�
� 
�
���� �� 
����������� �� E [ξ4] ����
�� �

� ���

��� �� ������	
� ������������� ��

�� ��� ������ ���!����� �

� ��
������� ���
 ����"�
�


����� ��������� 
�� �������
����� �� ������	
��� #�

�
�� $%�&' � ������� ��� ��������
��
����������� ��
� ��� 	
������� �� �� ������ ��������� �
� #()��� ��� *����
� $%�+'� ,

��
� ��
� ��
� �� �
���� ���� 
� ����� �� 
�- ���)��� +� ���� �.�
��� 	
�
	
�� ����������
�
� 
�� ��
������ �� ������	
�� ����� dn �� n� �
�� �
� 
� ������� �� Σ�

����������� 	
 /0�������
� ���������� �� ωO1� ������ Z1, . . . ,Zn ��� 	
�
������� ���
�

����
���� �� ������������� ����	���
�� �� ���� ��� ��� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ) 
���

E [ξ2] = 1� �� ���	����� �
 �
�	��� �� ����� ����	���� �

S��� =
1

n

n∑
i=1

ZiZ
�
i

||Zi||2 .

���	� ���� �����������  !

T̂ = (dn + 1)�	
(
S2

���

)− dn + 1

n
/2���1

��� �� �����
���	 �������
�� �� T = (dn + 1)�	
(
Σ2
)
/�	 (Σ)2� "������
���	 ω̂O ����������

��� �
	 ����
����� �� �����
���	 �������
�� �� ωO �

ω̂O =
T̂ �	(Sn)

2 − 2�	(Sn)(dn + 1) + (dn + 1)2(
2κ̂−1
n

+ 1
)
T̂ �	(Sn)2 +

κ̂(dn+1)
n

�	(Sn)2 − 2�	(Sn)(dn + 1) + (dn + 1)2
.

3!�� �� ��������� ������
� �� ��4��� 
���������
� �
�!��� ��
� 
� 	
����
� ���������5
��
� ���� �
� 
������6������� ��
������� �� 
����������� �� 
� ������� �� ����������

�
������� �� /0�������
� �73890 �� 	
����
� �����������
1� ���� ��� ���������� #

��  ! �� �
$��� �������
���	 ����
�� �� qα (Y |X = x) �

q̂ORACLE
α = μ̂O

Y |x +
√
Σ̂O

Y |X

√
x�S−1

X,n,ω̂O
x

dn
Φ−1(α), /2��:1


��� {
μ̂O
Y |x = SYX,n,ω̂O

S−1
X,n,ω̂O

x

Σ̂O
Y |X = SY,n,ω̂O

− SYX,n,ω̂O
S−1

X,n,ω̂O
SXY,n,ω̂O

.
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�� �� ������5
;��� 	
� 
� �������� �� ����� /2�$�����1 ���� �� ����� 	
� 
����������� �� Σ ���� ������
�� 8�5
�������� �
 ��
����� ���� ����������� �� �� ����� �
� 
� ������� �� ��������� Ω = Σ−1� <�
�
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��� ���
� ��	����
�
 �� ��	����	 �� ���� ����
������ PQ �� ���������	 �����������
����� ��	����	 ���� �	 ���� �	��
��	�
 ��  ��
��� Σ−1� �� 

� �� ��	� �	�  ��
��� � 
�!

���� S−1

n,ω 
��� "�#�� $ Ω� %� 

�
������	 �����	�� ��		� �� 
�
� #�
� ωQ �
�� �� ��	�
�� ��� �� "&�
��

����������� 	
 �'�
� #�
� �
�� �� �� ��	� ����
�������� ���� Z ∼ ECdn+1 (0Rdn+1 ,Σ, ξ)
���� E [ξ2] = 1	 
� ����
���� ωQ �� Z ������� � PQ ��� �� ������� �

ωQ =
n
(
��
(
Σ−1

)− dn − 1
)2

(dn + 1)(n(dn + 1) + 1)− 2n(dn + 1)��
(
Σ−1

)
+ n��

(
Σ−1

)2 . ����(�

���
�� � %� ������

� �	� �� �� ��	����	 PQ �� ���������� ��		� )

ωQ = argmin
ω

ω2
E

[
�

(
SnΣ

−1
)2]

+2ω(1−ω)E
[
�

(
SnΣ

−1
)]
�

(
Σ−1

)
+(1−ω)2�


(
Σ−1

)2
− 2ω(dn + 1)E

[
�

(
SnΣ

−1
)]− 2(dn + 1)(1− ω)�


(
Σ−1

)
+ (dn + 1)2.

�	 �������	� ��� 
�������� �� *+�&�
 �	� ,�
��� �-��.� �	 �����	� E

[
�

(
SnΣ

−1
)2]

=
(dn+1)(n(dn+1)+1)

n
� ��	�� ��� E

[
�

(
SnΣ

−1
)]

= dn + 1� ωQ �		���	� �� &
����	� �� �� 

���!
��	�� �/

�����	� �	 �����	� ������ �	� �� 
������� ��0�� �
1	 ���
�
2��� ������� �� 
�
� #�
� �� �3
�	4�&� ��
�	� �	���� �	� �� �� �
��� �� Ω�

5� 	��� ���� ���
� �	 ���� ����
 
��
 ����� ���	����� ��� 	���  #	�
� ��
���� �	� $ �	
���� ����
 �� ωQ� 6	� ���� ��
��� �� 

�	�
� �� �
��� �� ��  ��
��� Ω̂ �� Ω̃ ����	���

��
������ �	� 
�
 ���  ��3���� ,%7881 �� �%59�� ��
�	��	�� �	� ����� �


��3�
��		� ��� 
�������� �
#� ������	��� 1	 	� ������

�
� ��	� 
�� 
��� ����� �
���	�

�������� �� ��� �� V n

%��


��3� ���� ��  ��
��� �� ����
��	�� � 
�
���� Sn� ��  � �	 � 
� �� ��	�����
�
��� �:���� ��	� �� ��� ��� ����
������	� $ ����� ��&#
� ��  ���
� �	� ���
��� '��
 �����

����� 
���
�����	� �	 �
���� ���
� �� ��� ���  ��
���� � 
�
����� V n �� *9�
�		�� �;<(. ��
*=>��
� �;0<.� ��  �  �	���		� ��	� ��� 
�
��
�� ���  ��
���� ����	��� ��� �� 
������	
�� 
��	� "/� ������ ��	� �	����� $ �	 ���:���	� 

#�� '�
 ����� �����	��"�������� �� ����
���
� ���
� �	� 3>
��3#�� ��

�� �	���
� ��
 Σ� 1	 

�
��� ���
� �� 

�	�
� ��  �	�#
�

���

�	�� �
 (Σ) = dn + 1� ��  � �
����  �	� ��	� �� �����
���
��
��
�	��	�� ��� 9!���� ����
� V n ����
�	� ��  ? � 

���# � ��� Sn� $ �����
 �	�
��	&���
��� 

����� ��
� �� dn + 1 > n� ��
���	� �����
� ��  � *�3�	 �� ���� �-��. �	�
���
� 

�
��� �	� �


��3� �� �>
� �3
�	4�&� �	  ���"�	� ���������	 ������ ��  � ���� )

V n,τ = τ
1

n

n∑
i=1

u
(
Z�

i V
−1
n,τZi

)
ZiZ

�
i + (1− τ)Idn+1.
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 �� ��� 
� �� ����
� 
��������

���� ��	
��
��	�� �	 ����	�� ������ ��	� ��	� u(t) = (dn + 1)/t� ��	��
�	��	� ��������� �
��

�� ��������� �� (V n,τ ) = dn + 1� ���
�  �	 �� 
	
�!��"��	 #�
������� 
��� 
�����	
 ���

�$%	� 	� ���� &'���� #��� ���� τ ∈]0, 1[� (�  �	
����  �	 ���� 
	 #�
	 �����	��	
	�� ����	��	
����
 �	 #���
)��	 �#��
�� τ ∗� *� ��������� #��� �	�� �� �������� 
������	 +

Σ̃(τ) = τ
dn + 1

n

n∑
i=1

ZiZ
�
i

Z�
i Σ

−1Zi

+ (1− τ)Idn+1.

$�

	 #��� �� 
�����	 Sn,ω� �	 #���
)��	 �	 
%���,�-	 �#��
�� τ ∗ 	
� ��"�� #�� �	 ����)�	

������ +

τ ∗ = argmin
τ∈[0,1]

P
(
Σ̃(τ),Σ

)
.

(	
 .�������
 �	 #	��	 P �����
�	
 
��� ����
 �	
 
/
	
  �	 #�����	

	��� (	 ��
�����

������� �

� �	 �$%	� 	� ���� &'���� ����	 �	 #���
)��	 �#��
�� ���
 �	 ��
 �0 P 	
� ��
��
����	 �	 1��2	���
�

����������� 	
 �����
)��	 ���	� �#��
���� ���� Z ∼ ECdn (0Rdn+1 ,Σ, ξ) ���� �	 (Σ) =
dn + 1
 �� ��	�
��	� ������ τO �� Z ��� ����� ��	 �

τO =
n
(
1 + 2

dn+1

)
�	
(
Σ2
)− n(dn + 3)(

n+ 1 + 2(n−1)
dn+1

)
�	
(
Σ2
)
+ dn + 1− n(dn + 3)

.

*� ���
���	  �	 �	 #���
)��	 ��#	�� ��� �	
	�� �	 ��
(
Σ2
)
� 3� �	#�	���� ����	

	
��
��	�� T̂ �	 ��3 ������ �4��� �� #	�� ����
 ���
�����	 �� 	
��
��	�� ���
�
���� �	 τO�

����������� �
 �3
��
��	�� ���
�
���� �	 τO�� ������ Z1, . . . ,Zn ��� 	���������� ���

����������� �� ���������
��� ����	������ �� 
�
� ��� ��� Z ∼ ECdn+1 (0Rdn ,Σ, ξ) ����
E [ξ2] = 1
 ���� �� !���"��� #$ ������
����	 τ̂O ���������� ��� ���	� �� ����
����	 �������
���� �� τO �

τ̂O =
n(dn + 3)

(
T̂ − 1

)
((n+ 1)(dn + 1) + 2(n− 1)) T̂ + (dn + 1)2 − n(dn + 3)

.

$	��	 �##���%	 � ��������-	 �	 �	 #�
 .���	 ���	��	��� ��	
��
��	�� �	 ,����
�
 κ̂�  ��
���	

����� �	
 
�
	��
 ������	 �� *� 	� ������ ���	��	
	�� ��	
��
��	�� 
������ ��
 ������	 ����������	��

��������� �� �3
��
��	�� ���	� �	  ������	 ����������	��� ���� ���  !���"���� % �� #$
�� ��&��� ������
����	 ������� �� qα (Y |X = x) �

q̂TY LER
α = μ̂τ

Y |x +
√

Σ̂τ
Y |X

√
x�V −1

n,τ̂O
x

dn
Φ−1(α). �5����



����� ����� ��	
��
�� ���

���� {
μ̂τ
Y |x = V YX,n,τ̂OV

−1
X,n,τ̂O

x

Σ̂τ
Y |X = V Y,n,τ̂O − V YX,n,τ̂OV

−1
X,n,τ̂O

V XY,n,τ̂O

.
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&�� ������	
 ��
� �
� ����	
�
� ������
�
�� �� ������
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 �
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��	 �
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��� �� �� �	�	�
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�
 �
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��	� ���
	
�� !� ��
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��	

��
�
 ��� n < dn� �� �
����
 ��
���� �
� ���
��� �
������
� �
 n 

 dn� ����� �
 �
��	
�
��
���� �� �����
 �
 �����	���
� dn �	
� ���� ����� ��
 n�

������ �� ��	
	� �
���

��

'���
 �
 �
 �������
� ��( ��� dn > n� 	� ����)
 	�
��
����
 �
 

�

� �� ����	
� �

�������(	��
	�� �����	
��
 ���� �
� ��� �* �� �	�
��	�� �
 �� �����	���
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����� ��� R ����� 
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������� �������� 
� �� 
������ �������� �

Γ(t) =

+∞∫
0

ut−1e−udu.

��������� �� ��������� �
�	�
 �� �������� ���� B ��� 
����� ��� R∗
+×R

∗
+ 
� �� 
������

�������� �

B(s, t) =
Γ (s) Γ (t)

Γ (s+ t)
.

��������� �� ��������� ���	

	�
 �� �������� ����

� ��� 
����� ��� R ����� 
��

������� �������� ��

� �� 
������ ��������
���� 
� �� �������� ��

� �

Ψ(t) =
Γ′(t)
Γ(t)

.
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 ��������� �� ������ �� ������ ���� 
�������
 �� �������� 
� ������ 
�

�����
 ���� 
���
�� m ∈ R 
�
���� ��� 
����� ��� R
∗
+ ��

� �

Km(t) =
π

2

I−m(t)− Im(t)

sin(mπ)
,

���� Im(t) =
+∞∑
k=0

1
k!Γ(k+m+1)

(
t
2

)2k+m
�

������ ��� � ��������� �	

	� ���	

	 �� ������ 
������ �m = 1� ��� ]0, 5]
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��
 �� ��� ���� 	
 ����
���
� a, b > 0� ����
 β(a, b)� �	

� ����

	
����� 	
 �����������
ta−1(1− t)b−1

B(a, b)
, t ∈ [0, 1],

�� B 
�� �� �������� ���� 	����
 	��� �� ��������� ���

��������� �� ���� 
� ����
��
 �� ��� 	
 ���
�� 	
 ����
���
 a > 0� ����
 P(a)� �	

�

���� 	
����� 	
 �����������

at−1−a, t ≥ 1.

������ ��
 �� ��� 	
 ���
�� 	
 ����
���
 a �
�� ���
  �
 ��
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 	!��
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 ����
���
� a 
� b = 1�

��������� �
 ���� 
� �����
 �� ��� 	
 ���� 	
 ����
���
� a, b > 0 �	

� ���� 	
�����

	
 �����������

ab
ta−1

(1 + ta)b+1
, t > 0.

��������� �� ���� 
� �������
 �� ��� 	
 "��#
� 	
 ����
���
� ν1, ν2 > 0 �	

� ����

	
����� 	
 ����������� (
ν1t

ν1t+ν2

)ν1/2 (
1− ν1t

ν1t+ν2

)ν2/2
tB
(
ν1
2
, ν2

2

) , t ≥ 0,

�� B 
�� �� �������� ���� 	����
 	��� �� ��������� ���

��������� �� ���� ������
 �� ��� $�

� 	
 ����
���
� k, θ > 0 �	

� ���� 	
�����

	
 �����������

tk−1 θ
ke−θt

Γ(k)
, t > 0,

�� Γ 
�� �� �������� $�

� 	����
 	��� �� ��������� �%�

��������� �� ���� �������
������
 �� ��� 
&���
���
��
 	
 ����
���
 λ > 0� ����
 E(λ)�
�	

� ���� 	
����� 	
 �����������

λe−λt, t ≥ 0.

'� �(���
 ��!��
 ��� 
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���
��
 	
 ����
���
 λ > 0 
�� ��
 ��� $�

� 	
 ����
���
�

k = 1 
� θ = λ�

��������� �� ���� 
� χ2�
 �� ��� 	� χ2 ) m ∈ N
∗ 	
*��� 	
 ���
���� ����
 χ2

m� �	

�

���� 	
����� 	
 �����������

1

2m/2Γ
(
m
2

)tm/2−1e−t/2, t ≥ 0.
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���� x1, . . . , xn �����
����
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��
� ����
 ��� �
 �
���
�
f : R → R+� 

 �� ����
�	
��
 � ��
�
���

�	 � ����� �
 f ���	 �� �
	
��� t ∈ R �

f̂n(t) =
1

nhn

n∑
i=1

K

(
t− xi

hn

)
,

�� (hn)n∈N 
�
 ��
 ���

 ��	����
 hn → 0 

 nhn → +∞ ����� n → +∞� �
 	����
�

������
 ����
 �� 	����
�
 �
 ����
	�
��
 �
 ��
�
���

�	 f̂n ���� �
	
���
� �����
����
����
	���
 K�

�������� 	
 �����
	�
��
 �
 ��
�
���

�	 � ����� � �� �

���
∫
R
K(u)du = 1� K(u) = K(−u), ∀u ∈ R ��

∫
R
u2K(u)du �= 0�

���� K �	� 
 	���
�� �
����� 	�� ]− 1, 1[ �� �
�����

����� �� �
�	����� �� t� f �	� ���� �
�	 ���������� �� f (m) �	� �
������ �� �
����� ∀m =
0, 1, 2�

��
�	 ⎧⎨⎩ E

[
f̂n(t)

]
− f(t) = O(h2

n)

Var
[
f̂n(t)

]
= O

(
1

nhn

) .

�� 
� 	���
	� �� ���	 ��� �

���� nh5
n → 0 ����� n → +∞�

��
�	 √
nhn

(
f̂n(t)− f(t)

)
→

n→+∞
N
(
0, f(t)

∫
K2(u)du

)
.
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��� 	
 ����
 K

����� K(t)
∫
K2(u)du

1
2
1{|t|≤1} 1

2

(1− |t|)1{|t|≤1} 2
3(

4
3
− 8t2 + 8|t|3)1{|t|< 1

2
} +

8
3
(1− |t|)3 1{ 1

2
≤|t|≤1} 0.96

1
2π
e−t2/2 1

2
√
π

1
2
e−|t| 1

2

1
π(1+t2)

1
π

1
2π

(
2 sin(t/2)

t

)2
1
3π

����� 	
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������ �� �����
 ������������ �� ���� ����� �� �������� �������




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


